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Lhpiumiu gynuinuubinbumpjui wnel julgqGud hhdGulwG
lulinghpGphg dtyp dbpdbpwjhG Ywd dhedptipdtpwjhG wGunbuni-
pnufibph dtphGwwnpulyunpuw)hG wwpybphh Shywn b wpymbGw-
Jtw oquugopdndd L:

Y nuuulntvwluwl duuGwgbnbGbipp whunp t jwy wppw-
whwbi dhpbGwlbtph wppynbGwdtn  oquugnpdiwl  hwpgbphG,
npwlg wpunugpnpuibjumpywi pwpdpugiwG ophGwpuhnipymG-
GunhG, wtvwwmwGplibnh Jugiwlitpuydwl wpnh wbjuinpoghwb-
nhG, sbpliw- oquuugnpodw(, wqptquunGhph YndwLywmwydnpiwb
l&h qﬁl&uﬁg 2whwgnpdwlhuwl gmgwbhyGuph hwyquplpiuwb Jtpnog-

pha: :

Uju julinppGbph hpwljwGugiwli hwiwp d6o Grwiwlynipjmb
oGkl pmhbpmd U pojoGhpnud guwuwywlnynn « - jnupuunbub-
uuhuwi whufbipuh Jwhwgnpdmi» wnwpyw)h gomy gnpotwlwG
wuwpwwimGpGhpp: :

NunuiGuywl dtnGwpyh hhiGwlwl Guwwnwyli £ wipw-
wint) nuwngluph vnwgwd ntuwwl gmnbjhplhpp, vngnphgfity
GpwGg bwywpyGhp Juwunwpbne mpuwyunplph U qnupuunbnb-
uwlywl JdtpkGultph pwpruypG hwwnlwGhyGiph, wqptquunibph
wpununpniujulmpjul, Jwpdiwl fhGhdwwhjuljwl yupudkn-
Ehpll, Junbihph owjwwh npndwG U wgpbquubph  Yuqdh

w2qupyiwl nugnop juidp:
_ ‘bwupw( fulinhpltph nodwb guGwyibphG owlnpwGuyp
wbtwp b, pun dtinGwpyh yepen  Ghplhuwjwguo dwubwghnmuywi
qnuijulnpyul, nunuiGuuhpby «Gnununintuuyul ubfuGhywh
2whwgnpomi» (Q¢-ST) wnwpliuwjh whuwlwb dwup, nphg htwn Gbp-
pnhhpjw) hwpgbpny hGpGmpnyG uwnmgbk; dbpp phpdwd ghwub-
mpfibnn:

Q- hwbipplitph htpGoipoyy s wvmmgint hwpghp

1. D©°G bt dhphGwwpwlhmnpujhl wgpiquump (USU), wnw) npu

~ YJuqip L wpwGdhG mwpptph Guwlwynpymbp: - T

2. USU nuuwjuwpgqiwi uwbpnnpitpp: ST

3. Apn“Gp G USU jwhwgnpdwlwi. pGnpwgnbipn, wuip nnulg
GwGwynipynilip: e LT o

4. Apn°Gp G USU hhiGwlywl nbfunnghwlwl pGnipwgnbpp, wwy
npubg GruGuympymbp:



5. Npn°Gp b6 wpwynnpwihG zwpdhGiph 2whwgnpowwb gnigu-
GhpGtpp L npuGg npnpiwG pwlwdbbpp: bGawb®s &G npnynud
wpwwnph ynpunhnn U GwpdwlnuihG mdtpp:

6. hGsyub®u &l nuuuwjupgyni gouuulbntuwywl JhpkGwitpp
puw pwpwjhl nhiwnpmpuul U hGywb™ 6 npnpymd  Gpwlg
pupwhl nhdwnpnipymGGhpp:

7. Apn°Gp LG nwyuh pmpwqgphs mwnpkpp:

8. h°Gs t wqpbquwunh wpddwl YhlbvwwhlpuG b npn®Gp kG pow-
nupdbinh hhuGwiwl dubpp:

9. b°G; L wqphiquwh YkGnpnGp, 2n9wnupdh YuGwnpnlp, YhGedw-
whyjwywl tpyuwpnipymip U yGmpymGp, npnGp 6 npwig

“npnuwl pwGudalbnp:

10. b°Gs t wapbguwh Jwpdiwl tnwlwyp, npn®Gp k6 USW wnpd-
Yl bpuGwhGhpp:

11. hGywh®u GG npnpnud wgpbquuwh Jpowrnundwjhl qmam jw)lni-
pymbp, nuwyuh uwluwwnwipwihG tpYwpnipymbp, oupnpiuyg
(wGnipymiln wpdiwG wwppbp knwGwyGiph hwdwp: ‘

12. hGywh®u b6 Guluwupuunpuuumid quup dhisk USW wpluw-
wwlpl uljubp: .

13. hﬁzulhau LG npnpynud USUW dudwjhG b hhppmqlnl'uwjhﬁ wnuwg-
pnpujwinpnGGhpo:

14. b°G; t htppunhnjuh dwiwbwyh pwjwlup, ww) gouw wwpptph
GpuiGwynipymap:

15. b°Gs t htippwthnjuh dwiwlwbh oquuugnpodwl gnpdwlhgp b
hGsuik®u L wyl npnynad:

16. b°Gs t wwpwlwyw bwwnGuwhl hblpumupp b hGyuibu b owyl
npnpymud  puw wpwlunph  Gopdw-hbppunhnfuh - gnpowlgh
wpduph:

17. bI;izulhmu t npnpynus USW Juntipph htyumupuihG dwiuup:

18. baywh®u &6 npnznnd USUW wyfuwmudwuumdGhpp:

19. Opn°Gp GG wpwluwynpuowhl wepiquuh Jwpddwl Lppmnh-
Gkph hhiGulywG dukpp: -

20. Apn°Gp &6 wpwluynpnwihi wopbquunlph whuunnwiph
ghwhwwniwi  hhdGwywa gmgwiihpGinp U npwGg npnpdwG
pwGwdlbnn:

GGy « Qi fwnbuwywé  nblubhlpujh  whwgnpdnui»
wowpywh dnwaphg pninp gnpétwiwl wylnunwGpltpd witn-
Yt L6 nunuibwlwl dEnGuwpyh htimbjwy pwdhGGhpned’

1. Spwywnnplbph pwppwjhG hwnlwGhyGipp U whwgnpowlwi
gnigwpyGhpp:
2. UbpbhGuupulunnpught wgpbquuwh wpmuwngpnmuijuGnpjmfp,

Juwebhph owluup b uwpdiwd YhGbiwmhjuwiwl upupwitn-

phipp:

Swnplp woptiquuGtph pwpywjhG nhdwnpmpjmGp:

UliplGuwpwluinpuhG wgpbqunGhnh Yuwqdh npnznwip:

lvwnp juGnhpGhp:

6. Ubpblwwpwlyunpujhfi wgpbquwGbph Yndwybhunuynpiw6
huipqunyGlp (YmpuwjhG Gulswqdtph funwpiwG hundwp):
Snipwpwlyymp  pwdGh  uhygpnd  pipmd GG wyn  pwdGh

yupwptin {lllxi[ L‘Elhl,‘liu[.illlwﬁ o\ilwugl hhGwywl pwGwdutpp, huly Ytpenud

wnwewnym mojwd hGnhpGip b dh jw (inhpGh
hGpGmpny G médwl hwdwn: 2unR TubnbeGlp
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SpwiwnpGbph pwppuyhG hwnwbhyGepp Yyuhjwe GG np
dhuG pwndhsh, mdwjhl Yhinfuwlgiwd, pGpugpwjhG dwuh Wwpw-
dbuwiptiphg m GpuwGg wuwwmwbpwhG nhdhiGhphg, wyl JwpddwG
wwdwGhphg, honh wbuwlhg m dhqhjwdbluwGhuywa Yuqdhg,
wtnuiph pipnipyniGhg nt pwpénnipymGhg:

Spwywnpliph  pwhwgnpowlwl gmgwlhyGpp pyhG &G
wuwwywlnw® wpdhsh Juwnbihph dwiwjhG b mbuwwpwp dwfu-
utpp, wpwyuinph pwpwjhG oquuulun gnpdnnnipjul qnpowlihgp
(0qq), 2wpdhsh wpyniGuydtin b pwpuwyhG  (GupdwGnwhe)
hgnpnipymGGtpp, pwpdiwl wpwqnipnilp b w)iG:

U pwdimd wpwownminn hubnhpltph  odwl  hwdwp
whpwdbn & oquuyk) dh pwpp pwlwdubnhg:
1. Spwlwnph ynpunhnn mdp wwlnn wihfltph (wunnuihyh) ypu

npmynis b hwnbjwy pwlwdbng.
P = 9550N;n,l1,, v, )

I,ng
nmntin’ Ny -G wnpdhyh Gmihiwy hgnpnipymGa6 b, Ydan, n,y-6" nidwjhG
thnfjumGgiwb oqq-G, i, -6 mdwypl thnfuwligiwb thojuwGgdwb phdp,
ng —G" pwpdhsh 0Gwdh thubnh wunmniwG hwdwhimpjmip, wum/poy,
r— 0 wulnng wihyh (wuwnubhyh) ginpdwG pwnundhnp, O:
w) UGJuwynp (wlldwwhy npnntipny) mpwiumnpibph hwdwnp
r, =1, +h,(1-2,). )

npubn’ r, -6" dhnunuiuwl wijugnnnm QwewyhnG t 4, hy, -G* onwihg

nanh wnndhih pupépmpynitp, A, A,-6° nonh pwnunughG dluhn-
fjunipjul hwpyunminG qnpdwyhgp, npp uvnwGnupun b wjl wpndh-
(wyhf nontph hwdwp hwjwuwn t 0,1 - 0,16, huy Ywdwpw;hG pon-
ntnh hwdiwp' 0,2 - 0,3:
p) Oppmpwynp wpwiunplbph  hwdwp -6 wumnuGhyh
2unuyhn k, d:
2. Spwywnph wlhGtph (pppmipllinh) b hnnh dhot Yguwl mdp
npnpynid £ hunbjuy pwGwabnyg
_ P,=10uG,, V, 3)
npunbn' p - G YguwG gnpowlhgl £, Gy, - p° wwlnn wGhyGtph
(wunnuGhybiph) Ypu phy6nn pieGuwdmpynilp, Yq:
w) Eppnipuynp b popnp wwlng wlh]Ghpnd  wpwlnnpGiph
hwdwp’ '
Gy, =Geosa: 4)

M ULy unulnn udppwyng wijuwynp wipuwlmnpltph hwdwp'

G(L-ajcosa+M 2
G, = ( )L A ngcosa, %)

npuby’ G -6 mpwlwnnph quiquuoG t, yq, L -p’ mpwywnnph tpluy-

(imupuul pwqub, v, a -6° hnphgnGuwywl nunnipjudp wpwywmnph

owlpnipjwl YGunpnGhg dhGst nwbng judppwlh wnwbgpp tnuo

himuynpmpynilp, 4, o -G' mbnuiph pipmpjwG wGyimbp, wunmh-

6@, M, -6 nmwulnn wihyGeph ynundwl dndkGup, Yg-4:

4. Spwlwunph gqnpiwG ghdwnpmpyniGp npoynd o hbnbyuy
wpumuhw junipjunip,

P. =10Gf v, (6)
npubn’ {-p mpwynnph qnpiwi nhiwnpnipjut gnpowyhgt t:
S. Spwipnnph ppnipjunip pwpdiwl nhiwnpmpjwl hwnpwhwp-
dw@ mdp’

P. =10Gsina v, )
npukn’ o -0 mbnubph phpmppul wilyjnGa t,
h
g = —» (8)

4
npubn’ h -p Jepbiph (fwjnteph) pwpdpmpymia L, 8, £-p’ Ytpbph
(qwypteph ) bpjwpmpjniGp, u:
6. Spuwljnnnh pup2p (Gupdwinujh6) mdp
P=P_ (P +P)V, ©)

p = " popd
npubkn’ P, -p mpuwliunnh mwbnn dkfluwbhqdh ypw 2wupdh; mda t:
Lph P,< Py, wyw P4~ P, tpk P> Py, s P, = Py
7. Spwipnnpp 2wpdiwl mbvwlwld wpuwqmipynap’

g S WP PP IR (10)
1000 i, ,
K. Spwiwnnph pwpdiwb wuwnwbipwjhli wpwgmpynbp’
v, 03777 1;_5_) /s, ()
- 100

npnkn’ 6-G° mwbnn dEfuwGhqih mtnuuwwumjmh stonpymGa L, %:
9. Spwywnnph pwp)wihG hqnpoipymbn’

' PV,

N, = ;—,6— dan, (12)
nputin’ P, -0 sunymd € 4L -ny, V,, -6 Yi/d -ny:



10. Lgnpnipyul Ynpnuunp mdwjhG thnfuwGgnuimy”

N; =Nm(1_7hs)’ (13)
npubn’ N, -G pupdhsh wpnyniGunjtn hgnpmipymGa t, npp puywpup
ygdwl dwidwlwl bhwjwuwp t N, puy ny pujwpup Ygowb
dwidwlwly npnzymd t htwbjuy Yupuy'

N, =N,u= 3“’6 > (14)
y "h
11.Spwlwnph ginpiw6 niwnpmpjuG Yypw swijuuynn hgnpnepyniGp'
N, = 2V yaun: (15)
12. Spwywnnph hgnpmpjnilip pipnipjwG hwnpwhwmiwG hwdwp’
PV
N. =% ydu: 16
Iy Yy (16)
13. Spwywnph hqnpmpjwb Ynpmunp mbnuupnngn dwdw Gy
P(V.-V,)
N, =—2r 2w pdn; : 17
5 3% Yy a7
14.Spuyuinph puppwhG oqq-G'
N
m, = (18)

15.dweb hph wpymGuwytn nbuwjwpup dwifuup 1 dan pwppwjhl
hgnpmpymG vnwGuint hwdwn’

g = ‘O;OGa o/ d, (19)

t
npunbn’ Gy ~6 dwinbihph dwiwihG dwjuub b, 4o/d,
QU g, (20)
T T

d
npbn’ ¥ -6 Juwnbihpp junmpymGl t (Qud® Yud Yo/mqo’), T-G°
2wpdhsh wlvwwnwdwiwluyp, poywt Jud dwd, U-G° dwluiugud
Junbihph dwywpn, vd® Yud nd’, Q, -6' swpdhyh Ynnuhg dwiuuynn
Junbihph pwlwlyp, g Yuwd Yg:

16. Cwpdpsh wnuybjugnyG wpymlGwyn hqnpnipymGé wpgqbipu-
YuyhG wnbinh ypw hopéwplbh’
Now - Py, @1)
13,6
npnbin N, -p wpghlwiuwihG unbGnh jhubeh yomuwpytpG GG,
ww/pnyy, P -6 Yowihl dbjuwGhqih gmgimbpp, Yu:

17. Spwypunnph wigwd dwlwupuphp'

(]
s=v,T = eQlT g 22)
gtNun

18. Spwywnph 2p9wqdwihG hgnppymGp'

N, =N, xn,: (23)
19. BGwab jhutinh unmwumwpybpp'

‘ ng= 0, X iy, 24)
nputn’ n, -6 mpuynnph muinn wihh yonmumoepybnG 66, uww/pouy,
o= il{lm X iqu iqu’ (25)

bt iy, -G thnfuwGgnuitph wnukh hnfuuwGgiwG ph6 L, i, -6
quuwynp hofuwlgiwG hnfuwbgiwb php, iy, -6 YipgGwhl ¢in-
luwGgnuiGtiph thnhuwGgiwb php:
20. Cwpdhsh wpnymbwytw hgqopmpymbp Juwhwd wbknqubph
pwpdnmupiniGhg’ omth dwlytipbnyphg

N :Nm(l_%)w, (26)
nputn’ H-p menulph pupédpmpimG6 t domjh dwytplnyphg, 8, o'-p’
onh GGvwl U etpdwuwmhtwlh thnthnfudwl bwyywntwl Ywd

hqnpmpjul Ynpunh gnpdwyhgp' o' =0,7-09 :

v PRLPOVER

1. UU™ - 14 pwpdhsp 6 dwd 36 pnybmd dwlunky b 70,5 nd?® nhqb-
uyphl Junbihp: dwal} Jwnbjhph dwhiup, tpt Gpuw junmpimbp
0,86 g/uu® L:

Q, yxU
G ==4=1"—- g4,
¢ =T T ¢/

_ 0,86x70,5%1000
- 6,6

G =9,18 yq/d
2. Mumuuyunpny npnpyby £, np 21 wpdhsh dGhwdb (hutiep
4pnwt 36 Ywyplywinid Yuwwmwpty © 7360 wwmypn: Opnpt; (hubeh
wunurdwld hwdwunip nbp: '

n, 7360 :
=2 =——=1600 :
n, T - 46 upu/pouy

b

=9180 q./da

G,



3. Mdwgwhp gmjg & wyly, np US2-80 mpwijuinpnh qgnpiwb nhdwn-

pnipjwl nidp lunquibh Ypw pwpdytthu huguuwn t 2,64 'U: Qpnptyg

%g(l)lz)dl‘;lﬁt nhiwnpmpyuG qnpowlhgp, tpt mpuyjunph quiiquon
qf:

P, =0,01G xf,
_ |7 2,64
001G 0,01x3200
4. NpmL) 4-700 mpwlpmnph qnpiwé phdwnpmp)ul mdp htpyud
nupunh guwpwliwi dwiwlGwy, tph qunpiwi nhdwnpnipjuG qnpow-
Yhgp hwywuwn t 0,16-h, hul mpuwynnph quigywdn 12000 Yq t:

P, =0,01x12000x 0,16=188 Yur:

=0,084:

5. Qapwo nquywmmd 5,5 §i/d wpwgnippudp zwndynn S-40 wpwy-
wmnph gnpdwl pghiwngpmpjui ndp hujwuwn t 3,76 YL Npngkg
wnnwlywnnh wpdiwb hwiwp wGhpuwdhyn hqnpnipymGp:
N, = P. xV, _ 3,76x5,5 ~ 5,63 ydan:
3,6 36
6.dtpbph huppwhwpiwl hwdwp vpulmnpp swuunu E 3,01 5ydwn

hgnppymiG: Apngkp yhphph ghdwgpmpjw6 mdp, Gph wpwymnpp
2wpdynd t 4,32 /d wpugnipjudp:

N A
3,6
p o 3OxN_36x3015_, o0,
v 432

7.11880 4q quiqiuony S-100U wmpwlmnpp pwpdymd t gbnpbypny,
nnh pupdpnipymiGn 424 &, huy bplhwpnipymGp’ 4000: Npnpty Yytiptiph
hunpuwhwpiwl hwdwp wihpwdhyn hqnpnipyniGp, tph mpulnnpp
1400 § nwpwonipyniGp wighy t 21 pnybmy:

N, = BxV =0,01Gxi=0,01%
V=,
T
_001xGorhxS _001x11800x42xL4 _ 1y,
36xfxT 3,6x400x 0,35

8. 9-S-75 U wipnuwyumph pwppuwihG ndp henyh dudwGul hujwwwnp
L 264L: Opngtp mpwlwnph pwppuwjhl (GupdwGnuihG) hgnpm-
pymip, bpt Gpw 2wpdiwl wpwuqnipyniGp 6,58 Yu/d t:

10

N =P Vu _26x658 _ 466 yatum:
i 36 36
9. 2-pn thnpuwbgnuiny phy pinGjwopny 2wpdynn 9.S8-75 wmpwy-
wnph ywpdhsh oGYwdl (hubnp UbY poybnogd Juuwiwpnmd k1700
gnniwn: Spwhmnph wunnuGhgh 2wmudbgp hwjwuwp k0,358 :
Syt mbuwlwl wpwgmpyniGp, bpt 2-pn thnjuwGgnuimd vipwbu-
dhuhwigh tinfuwGgiwé phyp hunjwuwn t 41,5:

00x 0,358

V\n ~0377x na.xf.. =0,377><.1;7_4_x’—

ig ,
10. Upjuwwnwbph dwdwlwly 48 L 2updhin qupqugGmi t
33,0884dn hgnpmpymG: Nidw)hG thnfuwGgiwb ogq-G hwjwuwwn &
0,88: <wpyk| wpwhwnnph wunqubhyGunh thnjuwbgynn hgnpmp-
jiGp U hgnpoipjw Ynpnwwn nidut JhG hnjuwlgnuinud:

N, =N, xn; =33,08x0,88= 2911 Ydan,

N, =N, (t-n,) =33,08x (1-0,88)=3,97 Yyl

11. 9-54 U ywpdhsG wpjuwnwGph dwiwbwly qupquglnui t
35,5ydwn hgnpmip)niG: SwpdwhwnnpniwG 0qq-G hujuuuwn t 0,89,
huy wpwyunph wunnwGhyh wnuwyhnp 0,326 d: Opngby hgnpnt-
pjuwl Ynpmuwp whnuuywmninp dudwGwy, tpt bwjymGh k, np
ptinGywd YhGwynus 200 ¥ wlglhim ntupnid wnwyunph wuanw-
Ghyp Yuwunwpnu £ 100,6 wwunyyn:

NE =N®X61
6=nm—n‘q’
n,
s
R 5

n
Nﬁ =N‘u>(1’]ﬁ = “l)
n“!
2nr, xn, —S
N. =N e oW
5 = Nu X T 2mr, xn,,
' 14%x0.326%100,6-200
N5=35,5x0,89xZX3’ X2 eDx

=0,91 YLlw,
2x3,14x0,326x100,6 .

Nz = 0,91 ydn:
12. Npnpk) S-544. mpwiwnph pwppw 1hG mdp 30 <l hqnpip)ymG
qupqugbihu, bpt w)G pwnpdynd t 6 |W/d wpwqnipjudp:

11



13. Spuywnpp Qwpdybjhu Swhiumd t 5,1 Ydw hqnpmpjmb: Npngtg
upwiwnph qnpiwi ghdwnpmpjul mdp, tpth wjl 2wpdymi L
4,044/d wpwqnipjuip:

14. $-25U0 wipwyunpp pwpddwG dwiwGwly dwhuumd t 3,41 Yln
hqnpmpymG: Spwywninph quiquop 14604q t: Npngky Gpus Qwnd-
dwl wpwgnipjmdp, ipk ginpiw 6 ghiwnpmpjwl gnpdwyhgp 0,15 t:
15. AS-15U wipwyuinph 2wpdhsp 1 dunimd dwhwumd t 7,35 Yq Y-
nhihp: flpnzky Junbihph mbuwjwpwp Yhop, kpk 2wpdhnp quinqiug-
Gmd t 29,4 ydwnn hqnpnipjmG:

16. $-25U wpwlywnph gnpdwG phiwnpmpjui mdp hwwuwn L
2,19 Ju: Opnpk) wpwlyumnph mbnuywpdiwG hwdwp wlhpwdlw
hqnpnipymGn, Lpk wjG 750 ¥ GwlwwwphG whghk) t 7,5 pnwbmd:

17. $-544 wipwyuinph 2wpdhs6 wpuwwnwlbph dwiwGwy qupgug-
imd t 25,735 Ydw hgnpmpymi: Cwpdwhwunnpn - ShjuwlhqiGlph
0qq-6 hwyjwuwp t 0,88-h: Apnt) mnuujunnymh hbwdwp dwjuuynn
hqnpmpjwG SEdmpjmbp, tpt hwjynbh t, np phnGwd wnpuwyuwinph
2wpdiwi dwidwlwly Gpw wwlnn wunnubhyp Ywwwnpby L 100
wuin ju, hul wwpwy ppwgh dwiwGuy’ 96,5:

18.0dwywihp gnyyg b uyby, np S-54U wmpwljwmnph ghpbyp) l})hliluq-
pmpjniGp hwjwuwp t 1,027 Y§U: Spwywnph quGqwop 3950 4 L
Nnnzt) pipmpjwG dhompymGn:

19. $-100U wipwywnpp 6,5 Yui/d wpugmpyudp wiglliny ROO0J
nwpwonipml, dwhubky t 3,52 ni’ Junbihp: dwayby ahqlpught
Jwnbihph owfuup, tphk Gpw junnipniGp hwuwuwn § 0,86 g/’ :

Qq ‘Y><U
Gy =t =YX 4o/,
T T
T= S
w
_yxV,xU 086x6,5%x3520
s 08
G, =24,5966 Yq/d:
20. $-75U° mpwlunnph 2wpdhy6 wpuwwnwGph dwdwibul  qup-
qugphy t 55,2 Ydwn hqnpnipymG: {wyby wnbihph dwdiuht dtuju-
up, kipb Gpu whuwlwpup dwhuup hwjwuwp t 272 g4 Lud:
_ G, x1000
&= N,
G & xN, _ 272x55,2
‘1000 1000

s

Gd‘ = 24596q/do

=15,014q/d:

12

21, DGjuthuh® wwpwompmb YwGgGh S-4U wpwlhwnpp 7,5 Yu/d
wpugmpjudp pwpdybjhu, tpl pwpdhsp, qupquglitim] 80,95 Ydn
hqnppyml, dwjuumd t 105 Yq yunkjhp: dwnbjhph whunwwpwp
Owjuup hujwuwn t 251,6 /jdwnd:

S=V,xT,

—_ gt X Nm
“7 1000
_ V,xQ, x1000
- gt x N\u ’
g 7,5x105x%1000
251,6x 80,95
22. {pnpunjihjwywl wpgbjwywjhG vabtlnh Jpw -108 wpdhsp
5 nnwb wlnnmpjwip thnpdwpytne dwdwGwy YrnwjhG dhuw-
Ghqup gmyg t wyby 0,83 4L md, wpgbjuyh (hutinh 1050 ww/pny
unmnunwpylinh nhiypnud: ®npdh dwdwlwl dwhuuygb) t 1500q Junk-
pulmp: pmby wpdhsh wpwybjwgmyé wppymGuytn hgnpni-
pnilip b yunebjhph wbuwljupunp owhuup:

W= PX Oy y<hw,
13,6

G, %1000

S

=38,67

q/4dwnd,

8

_Q
T
Q, x1000
.= N, xT
_ 0,83x1050

T 136
_ 1500x1000x 60

B =TT 64075

G, 4q/d,
q¢/4dand,
= 64,07 llqm’

=280,9 q/ydun d:

23 §-130 wpwyunpp wpdymd t Jbpbipmd, nph bpywpnpymGp

1200 0 t, huly pwpépmpymln” 96 d: Apn2t; mpwywnnph mdp Yytpbiph

hiumpwhwnpdiwG hwdwp, bpbk Gpw quiqyuon 11500 Yq t:

13



P, =0,01Gxsina.,

Sina=—:i9

¢
P, =0,01Gxi,

% _ 92 Yu:

P, =0,01x11500x 1200
24. Spwlpnnpp, nph qugudp 5400 Yq t, 5,2 yi/d wpwgnipjudp
2uipdymy t vwpwjubeny, nph pwpépmpymbp 70 U £, huy Ljjwpnip-
jnuip' 1400 : Opngby tptph hwnpuhwpdwd hwiwp wihpuwdbzn
hqnpmpjmGp:

N =PaxVu
¢ 36
P, =0,01G%,
_ 001GxhxV, _ 0,01% 5400x 70x 5,2 =382 lw
a 3,64 - 3,6x1400

25. S-4U wpwywnpp phy pnGwonipjunip wyfuunnbihu qupgug-
Gnus £ 91w pwppuighG hgnpmpymG, huy plipptinGywomppal ww)-
dwGitpmy 80 ydw: Apnphy 1 Y hqnpmipymG qupquigli ;jm hw-
dwwp wihpwdtpn qunkihph whuwywupup dwjuup, bipt wpulpnnph
qlipptinGwonipjunip wyluwunbm dwiwbwuy Junbihph dwdwiht
dwfuup Yuqiby t 22,8 Ya/d, huy plippbnGludnmpjuip wyfu-unbihu
20,24 Yq/d:
_ G, x1000

&t N

_ 228x1000 11000 ~2505 o/ydmd,

8 qp

g = 22281900 55 gt

26. PhinGqudnipjul wmwl npn2wyh nwpwdmpnl wigllihu $-40
wipuljunnph wwnn whyp Juwwpnu t 80 wunijun, hul w iy ﬁnqq
nwpwdnipjul ypu wupuuy nGpugny pwpdybijhu 73,6 _L'|umt_|m.
Apnpby mtquupnnijmh hwquwniwb oqq-G, npp hwpdp L tPnGntﬁ
wipulwnph hqnpmpjuwé Ynpniunp wmbruuwnynh dudwlw {:

=1"‘—_" 1
MNs 10

14

n,—n

8 == 4 X 100 ’

_80-736
n, 80 .

27. %21 wpdhyn wpfuwwnwGph dwiwbul qupquglnud t 14,7 Y

hqnpnip:miG: Spwlwnph ndwjhG hnjuwlgiwb oqq-6 hwywuwn t

0,8:/;: fsu,aqul wipwlwmnph hqnpmipjub Ynpnwnp mdwjhG hinfuwG-
gnuinuy:

=1-0,08=0,92:

N, =N_(-n,)=14,7(1-087)=191 y<n:
28. UU'M-14 wpdpsp, wpluwwmwbph dwiwluly qupquglnul b
55,2ydwn  hqnpmpymG: 2S-75 wpwlunph mdwihG hnjuwbgiwmb
ubfuwGhqilGbph 0qq-G hwwuwup £ 0,89: {wjh wnGhiny Ynpmuwnp
ubnuwunijuh dwiwlul, npngty mpuwuinph wubnn SkfuwGhqih
n9wqdwjhG hqnpmpymGp b wbnuuwunywh Yypw  hgnpnipjuG
Ynpnuwnp, ipt wbnuwwnijunh ogq-G hwyjwuwn t 0,92:
Nzne = Nw XMy
Ny =Ny, x8= sz(l—nﬁ)’

N,,, =552x0,89=48578 ydw,

N, =48578(1-0,92) = 3,93 ydw:
29. S-544d. wpwlwnpp, npp qubqywop 3700 Yq L, wfuwwmwbph
dunfwfuy qupquglmi t 15 YU pupyh (Gupiwbnuhi) md: bw
4,5 i/d wpuwgmpnuuip pupdmd b 1,2% pipmpjunip wtinuGpny:
Lqnpnipjuu  Ynpmuunnp nidwyhG hnluwlgiwl WhjuwGhqiGhpnod
Yuwqimd b 3,53 Yydw, huy wmbnpuyunmpunp hwunpwhumpiwd Jpw
owhuuynn hqnpmipymGp 0,7206 Ydw: Apnyby ywpdhsh wpnynmiGw-
ybw U hGpGuwmbtnunhnfudwl Ypw dwhuwynn hqnpmpymGGhpp, tphk
giepiwl nhiwnpmpjub gnpdwyhgp 0,075 t:

Ny=N_,x8, N, =N,xn,,

P, =0,01Gxf = 0,01x3700x 0,075 =2,775 YL,
P, = 0,01Gx — = 0,01x 3700x == = 0,444},
100 100

15x4,5
T T agm

=18,392Yw,

>

277545

=393,
f 367 . 4

15



N = 0444x45 0,541y,

o
L

N, =18,392+339-0,541+3,53+0,72 = 25,49 j<Lun:

30. 4150 Yq qubquony S-54U wpwlwnpp qupquglnui £ 12,15 §'u
puzuighG nud: Uyl 5 Yd/d wpwgmpyudp pwpdymd t Jepbipny, nph
pwpdpmpmbp bwdwuwp b 64 4, fiuy bphupmpymbép’ 1920 u: Npn-
2ty mpwlwnnph hpGwwnbtnuiinfjudwl hwiwp wlhpwdbyn hgnpm-
pynilGp, tpt npw ginniwl nhiwnpnipjwl gnpowlyhgn 0,08 t: Npngky
‘(:iluh punwjhG hqnpmp)niGp, bpt nidwyhG infuwbgiwb oqq-G 0,88

N, = P, xV,
36

N\i = Nm(l_‘rlﬁ)’
P, =0,01Gxf,

P =0,01Gx—,
"100

P,=P -(P P, ),
N, =N, +N +N_+N;+N,,
A
P36

N, =——12’3156"5 —16,55 jlan,

b

3

_0,01x4150x 0,08x 5
- 36
_0,01x4150x64x5
T 3,6x1920
N, =0, N, =N,{-q,)=012N,,
N, =16,55+4,52-1,86+0,12N,,,
N, =21,8 jdm:
31. S-54d. wpwlwinph pwpdhsp qupquglmad t 36,7 Ydwn hgnpni-
pynl: Spuyunph pwpuwjpl (Guwpiwinuyhl) hgnpmpmbp hawjw-
uwn t 27,2 dwn: Opnpti mpuwlyunph puwnwihG oqq-G:

32. 2-pn infuwGgnuing  SwlpwpbnGiuompjudp  wpluwnbihu
wpwlpnnph Jwpdhsh dG{wdbkt (hubinp Juwnwpmd t 1600 ww/pnuy:

N, =4,52dun,

N =1,86 Y,

16

Dplmtwynpjud nwGnn wilh qnpiwb pwnulhinp 0,789 U t, huly
pabsdnpdwd wGhyhGp Yuqimd t Gpu 91%-p: Opnpby pwpddwb
wbiulpuG wpugnipymGp, tpt wpwywunph 2-pn hnfunGgnuimd
gﬁ walludshupwzh (phy hnfuwbgdwb phyp hwduuwun b 156:

J 400 Yq qubqiuom] wpwlumnpp htipyh dwiwbwy qupquglinul
{ 22.2 U pwppuhG md, 0,022 ppmpjunip wbnwlpnus ywpdymd t
4,4 10/ wpwgmpjunip: Stnwwnmjnh hwyyueiwl ogqq-G 0,98 L,
Mowht thnfuwlgiwi oqgq-G* 0,857, huy qunpiwl ghuwnpnipjul
giphulhgp’ 0,07: Lunpyli qunkjhph whuwywpwn dwhuup, bpb Gpu
gmlhujhﬁ owhuup 11,8 yq/d L:

1000xG,

&= N,
N,=N_+N;xN +N;+N;,
=Pn><Vm ,
' 3,6
V,
Nf___Pix w
3,6
P, xV,
N = o Ill’
* 36
3 =Nm(1”'n a)xnu’
Nﬁsz(I“ni)’

_22.2x45 27,22 Y,

N

N

|
>

_0,01x3400%x 0,07x 45

- 3.6

0,01x 5400x 0,022x 4,5
3,6

N, =27,22+4,634-1,456+ 0,143N,, +0,143x0,98N ,

0,717N,, = 30,398,

=4,634 §du,

N,

Na. = =1,456 llqlﬂ,

w
>

_1000x118
Bu =" 4396
g, =27832 ¢/ydmnd:

=278,32 q/ydwnd,

17



34. Spwiwnnpp, nph quGgqwan 6800yq t, 4,59 Yi/d wpwgmpuip
wpdymy I th}imnq: Spwipmnph bqnpmpyniGp 35,735 Ydan &, hul
pwpwjhG mdp’ 20 YU: Opnzbky Yupbyph hwnpwhwpiws mdp L
ybpkiph plpnipymlp, bpb qnpiwG nhvwnpnipjwG gnpdwljhgp
0,081 t, huly mbpuwwnynh Ynpuinh hwyYundwa 0qq-G' 0, 95:
P, xV,
NO. = N
3,6
N = P, xV, ’
R X
N, - P xV, ’
3,6
N; = No(l "Ws)’
P,=P,—(P,+P ),
N
P - s X3,6 ,
Vm _vm
Vo =V, x0,,
P, =0,01xGx f =6800x0,01x0,081=5,508 YU,

v, = Yu 4594 g3 ywe,

m, 095
N, =35,735x(1-0,95)=1,786 Ydw,
_ 1,786x3,6
2 483-459
P, =P,-P, -P; =27,3-20,0-5,508=1,792 4L,
. | S
0,01G 0,01x6800
N, - 0,01x 6800;2,026x 459 <2211 Y

35. Spwluinpp hnnh gupwiwé dwdwbwy ywpdyma 1 5,25 i/d
wpwgnipjwip: Swlnng dhjuwlhqihi dinjuwigynny hqnpnipjniip

Juquinui t 32,15 yduw, huly pupzh mdp' 16,5 Yu:
(pnzt mpuwyunph hGpGuwunbnuupdiwG mdp b qnpdw6 ghtwg-
pmpjul qnpowlhgn, tph mtnuuwummpnh Yypuw Swhwdon hgnpm-

pjwlG Ynpunh hwyjuedwl oqge-G 0,96 t, wmpwywmnph quigwop
5400 Yyq:

=273 4u,

=0,026,

18

P, =P, (P, 2P,),
3,6N,
2Ty, -V,
V, = Vu,
s
N, =N°(1—Tl & )’

v, =22 _ 5469 G/d,
0,96

N, =32,15x (1-0,96)=1,286 y,
_ 3,6x1,286
27 5469-5,25
p. =0,

P, =2155-16,5=5,05 4,

_ P 505
T 001G 0,01x 5400
36. 11400 Ygq qubqyuom] S-100 wpwhwnpp wpdynud t 5 Yi/d
wpugmpjuip: Spwhwunph wpdhyp qupquglmd b 68,383 ydwn
hgnpmpymG: Opnpt) wpwiwnpp Gwpiwbnujhl hqnpmpyminp, tph
qinpiwl nhiwnpmpjwi gnpdwlphgp hwjwuwn t 0,08, mdw)hG thn-
fumGguiwt oqq-G° 0,88, whnwujwmmynh ypw hgqnpnipjwl Ynpunh

huumiwG gnpdwlhgp' 0,96:
N, =N, +N =N +N;+N,,
N, =N, ({-1,)

N, =N, (-1, ),

= 2155 4V,

=0,093:

_0,01GxfxV,
£ 3,6 ’
N, =68,383x (1-0,88)=8,206 Ytlu,
N, - 0,01><11430(6)xo,08x5 _12.42 Y,
N, =68,383-12,42-8,206-2,407 = 4535 Yy,
N, =4535 ljidwn:

19



37. 704 pupépmpjudp b 2800 ¥ tphwpmpjudp Yhpbipny 2wpdybihu
wpuwlipnnpp qupquglnd £t 39,71 ydw hgnpnipjmiG: Spwlunph
qulqyuop 6400 Yq L, huy wpuqmpymibp 4,4 Yi/d: Qpnpbky vipuy-
winph pwppuijhG ogg-G, bpt ginpiw6 nhdwnnmpyub gnpdwyhgp
0,06 t, niduhG hnjuwGgiwl oqq-G° 0,86, huly whnuupunniynh Ypw
hqnppjwl Ynpunh hwpguesw G gnpdwyhgp' 0,975:

A
r 3,6 >
Pp =Pz_(Pf—"‘:Pu )a

P, = 0,01Gxf,
P, =0,01Gxi =0,01G><%,

P = N, x3,6 =men 5(1—11 s )X3,6’
d - v

Vln Vm J_Vm
N

N, = Mg X 7N = 0,86x 0,975 =0,838:

38. 2-pn hinjuwGgminy wpnuwmbihu S-100U9-U wmpwljnnpp twuwm-
nuijp yuwunwpmd t 245 yw/pny: Spwludfrupwih thnfuwGgdwG
phip hujwuwwp t 42,5: Npnpt) oG wat hubnh wunmumwpybpp:
39. S-100U wpwlywnph 9--108 rwpdhsp wolvwmwmbpp plpwgpmid
qupqugGnud k 82 Ydwn hqnpmpiniG: NidwghG thnfuwGgiwG dbjuw-
GhquGtph b anpwjh onwyltph 2wl hwnpwhwpdwb Ypw dwluu-
dmd bt wpynmibundn hgnpmpjuG 12%-p: Npnybp mbnwwunm pnh
yopmuwmp, bpt hwymGh t, np phnGQuonipjwlé wmwuy npn) Gulw-
wuwph wigbbihu mpwlimnph wunnuGhyp jumwpmy t 85 wwmjpw,
huy Gnyyl SwGwuwphp wupwy pipugny wiglhhu 84 wuintyn:
40. S-4U wmpwyunpp 4-pn dmhawGgming wwpwy plipwgpm]
wbuwwmbm  ghypmy wunnwGplp juunwpmd bt 34 wwn/pny:
Spwludhuhwjhi phd thnfuwGgiwd phdp G2qwd hinfuwmbGgniimd
hwydwuwn t 42,3: Qpnpty 2wpdhsh thutinh wwnunwpybnp:
' n,=n, X1y,
n, =34x422 =14348 ww/pnw;

41. Npnly S-100UG-U wpwywuinph wpwbGudhupwjh thnfuwGgdwi
phun 3-pn yinjuwGgiwG hwdwp, tpt quwgnp infuwlgiwmi

20

' Guyh6 thnhuwGgiwd
GguwG phyp hwuuwp E 2,73, 4bp9 i
31§§%§$a§amﬁ Sfl‘q@ 9,96, huly thnjuwlgiwl wmnuph thnjuwGgiw

phun’ 1,19: . o
i, =l X1y X1y

i, =L19x 2,73x996 =325 o
42, 1nnd bmﬁpmphnﬁq\uompjmiip w fuwubihu ‘1-8/-75 m{lllt:ll:u; \-}}1 b
yupdhsh oGhwal (hubnp Guwwpnd t 1700 ww pl?ul\’npml;mnph
phipGwonipjuip yundybihu’ 1750 ww/pnwy: Ilpnzul O
wuwmnuGhyh wunnwpytpp Gpuw ptinGwonipjundp wg ‘1;11; on
pnupjwip 2wpdytifhy, tiph wpubushubuwjh nhy thinfuwbg

3-pn thnjumGgnuinid 36,6 t: _
nz =0y X1y,
n = B_z_'-ﬂ_ s
wu.p im
n = P_Z_‘n_ ]
wu.q im
= 1700 46,45 ww/pnuy,
36,6
n = 1_7_59. =4781 uu/nnyy;
wo.u 36,6 ﬁ Zlummhmu
- wignuim]  1phd pinGijwonipjuup W !
1?100%}'1(111-{1 t‘xllll?llx.lul;mgph updhsh oGYwal (hutnp \ihllilppnu{hmﬁ Yuw
wwpmy t 1000 wwn: Spwljwnph wumnnubihyh Zmnwb o
1 0,42 O, danfuwgiwb phyp’ 42,5: Npngtiy wmpwijpnng D ann-
ﬁw’l;wﬁ gk hpwywb wpugnip)mGatpp, Lpk wbnuuunmy

owlhhgp 4% L

Dys

n

Vv, = 0,377—=——,

I

e}
=V {1-——1|,
Ve m( 100}

}9@:‘_2’4,2 =372 Yu/d,

IIZXI'

v, =0377x

e

4
- t1—-—1=3,57 yu/d,
V. ~3‘,72><(1 100]

v, =373x097=3,62 W/d:
21



44. Spwywnnph hpGwwmbnuywpdiwb ndp 4 YU £ O3 phyd phntjw-
ompjuip wpddtym nbwpnud 2wpdhsh dGYwdél (hubeh wnniunw-
pytpn hwywuwp &G 1410 ww/pnw: NApnpti mpwlnnph wnbnwwpd-
dwl Ypw Swhiwynn hgnpmipynilp, tpt wwGnn wGhyh gnpowi
2wnuyhnp hwjwuwp t 0,684 d,nmpwluihuhwjh ippy thnpuwlgdwi
phyn’ 58,7, hul mbnuupnmyunh hwyjwniwb oqq-G' 0,92;
P.xV n,_xr
N =2f w = w7 Tq
. 3% v, =0,377 i XN,

1410 0,684x 0,92
587

N, = 4"3559 =62 (dan:

V, =0377x

=5,69 4i/d,

45. 5400 Yq qubqyuony npwlwmnpp (phy pinGwonmp pudp 1,5% ph-
pnipjudp wbtnupnmyi wuwwntiihv vwing vkhluwlhqih Jpus qup-
quglmy t 35,3 §dwn hgnpnipymG: Spwywmnph wumnuGhdp yumn-
Jhnp 0,326 U t, mpwlwihuhwjh thnfuwGgowd phyp' 28,75: Cuupdhsh
olijwdél thutinh wypummjnGtph phyp 1300 ww/pny t: Opnyly npuy-
unph pwpwjh6 hgnpmpymbGp, tpt qunpuwl phwnpmpjub gnpow-
Yhgp 0,09 t, huy whpuupmninh Yypw hgopmipjwb Ynpunh mupjun-
vwl( qnpowyhgp' 0,97:

P xV,
.= 936 , P =P, —(P £P,),

P, = 0,01Gf,

_ 0,01Gf

¢ 100 °’

P - 3,6N; ,

: VU! _Vm
N; :Nm(l‘ns),

n,%
i

V, =V,n, =0377

‘15,

P. =0,01x 5400x 0,09 = 4,86 [,
P, =0,01x5400x0,015 =0,814U,
1300% 0,326

Vv, =0377x
2875

x 0,97 = 5,335 4i/d,

22

v =223 _s5 yud,
0,97

m
£

N, =35,3x(1-0,97)=1,059 Yuun,

_3,6-1,059

27 55-5335

P, =235-4286+081=1945 UL,

19,45x53
3,6

N, =280 Ydwn:

46. Spwhwnpp updiwG dwiwGwly dwiuunid L 4,03 yudw hgnpnt-
pyniG: Qpnoty gnpiwl ghiwnpmpul gnpdwlhgp, tipt hwjnth I:,\
np wpwinnph quigjwuop 3950 yq t, huly swpdiwl wpugmpnilp
4,67 u/dund:

47. 2-pn thnfuwGgnuny wpluwwnbihu S-540 wpwyunph 2wpdhsh
oGlYwdl fhubnp wbly powbnui Juunwpnd b 1350 wunyum: Stnu-
wunynh hwyjumiwé ogq-6 hwywuwp k 0,97, mwbnn wihyh ginp-
dwl ywnwyhnp 0,326 8, wpwGuthuhwjh thnjuwGgiwb phyn’ 33,6:
dwyyt] mpulpnnph pwpdiwi nbuwljwb b ppuwywl wpwgnipni-
fitpp:

48. 4.S-75 wpwlpnnph wuwnwph dwiwlwy Gpw UUM-14 wp-
dhsn qupquglnud £ 55,2 4l hgnpnip jm@: Spwywnnph pwpaw JhG
0qq-G hwywuwn t 0,8, npnptiy Gpw Swpdwlnw jhG hqnpnipymGp:

49, S-40 mpwlwnph 4-37U updhsn qupguginud £ 28 yd.in hqnpm-
pymG: Spwywnnph pwpph mdp hwjuuwp t 82 Yu: Npnzty Gpw
pwpzh ndh 0qq-G, tipt wyl zwpdynid L 5 i/d wpwgnipjuip:

50. PtinGqwonipjwl wwi npnywyh Gwlwwwph wiglbnu ghupmy
1.$-75U0" wpwwinph wumnuGhp Juumupnid b 150 upnnywm, huly
wjn GnyG Swlwwywphp wwpuwy pipwgny wlglhkjhu’ 146,5
wnnjn: Opnphp pwGh wnynu b jugqind wpwyunph wnbnu-
ujunijnp:

=235 yduwn,

NI! = = 28|.|q.U1,

23



IL UGLELUS rUGSNLUBhYyY UG PEQUShH
LSt rNMUuUUuvNre3NMLe, JUOGLD.Lh
oU UL 64 UhLBUUShLULTY
MuruUGsSereLe

UtpkGwwpwhunpwjhl wqpbquuh wpuunpoquiwGnpyniGp
Ywhuwo E wenbquunh YunnigduwdpwihG wwmudtnptphg, hisubu
Gwl plwlwl wwjdwGGhphg, wpunuwnnuijutG qnpoplpugh Yuqiw-
Ytpwynuihg m wjuwnwph ntdhdhg:

Wyu ljud w)l gnponGh wqntigmpynGp wpumwnpnnuiywGnip jub
U quetihph dwjuuh Yypw qGwhwwmymd b pun widjuw) dhpbGuwmpul-
uinpwjhi wophquwmh umqdh:

U pwdimd wnwownpynn falnhpGhph middwG hwdwp wG-
hpwdbywn b oqunyl htanbjw) pwGwdukphg:

1. Ugntiquuh wptuwuuGpwjhG pGpwgplph (gnpotnh) phyp’

n=—, 27

B, 27

npunbn’ C-G hnquidwuh puympmbG b, d, B,-G° wqphquunp
w2 fvwnwbGpw)hG pingpipiwG pwjGmpymGp, ¥:
2. UztuunnupwhG plGpwgph gnpdwlhgp'

S v, T,

w -

S, +S,  V,T,+V, T~
npwbn’ S, -G wqptquunh wyfuwnwGpuihG ppwgpbtinh gmiwpw-
JhG ipwpmpmGa ¥, 4§, S,-6" wgphquanh Wwpwuy pGpwgpltph gni-
dwpuwjhG bpywpmpymbp, 4, T,,T,, -6" wohnsumufipahG b upupuy
pipugplbph Jypw dwjuunn dwiwlwlylbpp, dwd, V,, V-6 wgpb-
quuh wpdiwl wpfownwipwihG b wpwpww plpwgplhph wpwgnt-
p)mfGhtpp, Yu/d:

¢= 2%)

S, = Lmnm =L, EC—", 29)

npntin’ L,-G wgphquuh dty wphmunnwGpuwhl ppugph tpywpne-
pymaa t, o:

Ugptquuwh wwpwuy plpwgplitinh tpwpnipynilp ny hwiqmguw-
JhG vapngny wnddwi dwiwlwly npozymd L hbnbjwy pwhwdabing’

S, =(C+4R) Zg , (30)

w

nputin’ R-p wgpbquwnh ppwnuipdh JwnunjhnG t gnpoh Jhpgm, u:
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Ugpbquunh wjwpuwy pGpwgph bplpupmpymbp hwiqnigwjhG
IinuGwyny wpdiwl dwdwlwly
C

S, =(6R+ 2e)-1-3—, 31)

mutn’ e-6 wgpbquunh Liph Yuwd dnunph GpljupnipmiGa t, o:
1. Ugpliquunh dhkl wpjouwnuwipwjhi plpwgph GpywpnipiniGp
Uihtp’
~ L,=L-2E (32)
npuiln’ L-p mbnudwuh bpupmpymG6 t, 8, E-G* pgwnupdwjha
gnunt pwyinipynibn, d:
4. Uqptquunh YhGhdwwmhywlyw6 tplwpmpymbp'
La=t+ls+1,,, (33)

nntin’ £,,-6 wpwhwnph YhEbSwnhhwywd tphwpmpymGa L, o,
¢ -0 qnnuuninbuwyuwi dbpiiwgh Yhibdwnhjwlwb bplpwpm-

pyneGp, 8, £, -p' Ygnpnhsh YhGdwmhlpulw bpljupmpmdp, ¥:
5. Ugpkquwh wpnunponuiwimpmGp hbkppunhnjununy’

W, =0,1B,xV,xT,, ' (34)
nputin’ B, -0 wqpbquuh wptummmGpughG pingpdw puwytnipjniGG
I, \,

B, =B, x B,

nputn’ B -G wgphquuh YunnighwopwhG pGngpyvwé pwyimpput
oquuuqnpouwl gnpowlihgl b, npp yapgymd & [9] 1.1 wnymuwihg,
B, -6 wgpbquwuh YuengqwopwihG pingpldwG puyGnipymGp, 4,
V,-6" wgptiquunj Jwpdiwl wyfowmnmwbpwihlG wpwaqnipymbn, Yu/d,
T, -G° happuhinjuh plpuwgpmd wgpbquwh Swpnip wuwmudw-
dwhwlp, d:

T, =T, x1,

npuitn’ T -6 hbppwihnfuh duniwGwlyh oquuuqnpddwG gnpowlhg6 t,

Ty -6° htppunhnjuh wmbnnmpymGp, d: T, -G uwphh © npnyty Gub

huppunpinjuh dwiwblwyh pwuGuhg

T, = To + Ty + T + Ty + T

npunbn Ty, -6 wophquwnh Yulqueh (ubluGhjuywl vyuuwpyna-

(bp Yuwuwpbp, wewewnpulp vnwiwm hwdwp b wyl) dwiw-

thuyl &, ¢, Tay -2 whuGnnghwiwl vyyuuwpymiGhph dwdwGw-

yn, ¢, T, -p" unljwy gnpoh nbypmd wopkquwh wbjuGhjwhwqiw-
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Ybpupswliwl vwywuwpydwG dmﬁluﬁlulm, d, T, -G" wwpwy pipwgph
duniwGwyp, 4:
6. Lwnkjhpp htyumwpwjhl owjuup’

_ G, T, +G, T, +GT,

Bhu W, Yg/bw, (35
Y ;

= g‘- lg/hw 36 |

ghm Wh 3 ( )

nputn’ G, G, Gy -G Junbtihph dwiwgh swhiub b hwlwwywmuou-
luwlwpwp wonbquuh wzlvwunubpw)hl, wwpwu plpugpph
duwiwiwy U Juwlqurlbpnd' wpdhsh wwpwy pGpwgpny wphuw-
wbithu, Yq/d, T, T,, T, -0 dwdwbwyh mbnnmpjmbip hwdwwywunwu-
luwlwpwp w2luwnwiph, wwpww pGpwgplitph b uGqunltph
dwiwluy:

51. $-40 mpwywinpp hwiwwnwpwo gupwlimd bt 800 4 bplpupm-
prudp b 56,7 ¥ qujlmpjudp nuym: Swpwbh wpluwwmwlpuyhb plin-
gppiwl qwjGnipymlp 6,3 ¥ t: Ugphquup 2wpdymd & vimldwdl
(Mwpnpwél) hwlgmgwjhG pownwpdtpny: Opnpki wohnumulipm-
JhG b wwpwy plpwgpltph tphwpnp)mbp b w2 uwmwbpyht
plpwgph gnpowlhgp, bpb wqphiquunh zpéwnuipéh zununjhnp 44 L,
puy tiph dhompymbp’ 5 :

C

B b

uy

s, =L

S, =(6R+ 2e)—B£,

S

uw

S.+S,’
5., =7200 4, S, =306, ¢ = 0959:

52. S-40 wpwlpnopp ML-2-300 qnipwGh hiwm wpluwwnmy t 2,8hw
dwybtptuny nupun’® ny hwignguihi wpdnuing: GnipwGh
juwrenguwdpwhl pngpiiwG  puynpmGp  oquuugnpoymd b
wipnnonipywisp: Ugntiqunh zpgwnwpéh wnundhnp 3,6 O £ Swzyby
;uozorulﬁmwﬁpwmﬁ pipwgph qnpowlhgp, bpk qnpoh tpjwpmp)min

(p:
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S

w

TS+,

S=CxL,

C
SU! :LE'_s

o

o

C
S, = (C+4R)—B;:,

280000

700

_ 700x 40
w06

= 404,

= 46666,64,

40 181360,
2x06

__ 466666 _g962:
46666,6 + 1813,6

S, = (40 +4 x 3,6)x

®

ut
53, USQ-82 wpwyuinpp ML-3-358 qmpwGh htwn wzluunm
4,2hw Ywybphiuny nupuinui: Ugntiquuun yuwwwpn t 0y hwlgn-
gujhl 2wpdnid’ inhy Yunnigguopujhl nGngnynuiny: Ugpiquuih
spownwpah zunuybnp 4 8 L: Zwyt] wyuunnuwGpuhl b uwpuy
pipgpGph hnumnmmmﬁﬁhpu&l Lél(z’gx‘tsuglwﬁpwmﬁ pGpwgph gnp-
, iph qnpoh tpyupmpyniug :

2:]“2%0 u%mﬁq&nlimpmn-z-mn. qnipwlnyg 10 duwiju pﬁpuxgpmg
htipyti & 6 hw hnnuunupuonip)mG: Npnyby uzuh hpllw({in;p cjlmtﬁin
puyGopymGp gnipw(h \phy nGngnyuwb hmzqwnﬁw\ip., tip widw
uﬁinugpnui wgphquup Jwwwpnud £ 65 zpwuynniju:
| LxC

W= s
10000

Sm ::LmXIl,

.
. Bm’
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B, =B, xB,

C =604, L=1000d:

55. Q.npoh tplwpnipymGp, npubn Gunwpgb My-3-352 niGh-
Ytipuw| qnipwGmy htpl,hwjuwuwp t 600 u: Opnphy, pt 1 dwiyu
pipwgpnud wgptquuip pwGh”® ppgwupmniyn Ywwwnh 6 hwu hippw-
thnfuwjh6 wpununpnquwywinpjwi Gnpiwjh U qmpwlh Ywnmg-
JuopwjhG plngpyiwh wyGmpjul phy oquuugnpddwl nbuypnud:
Ztppwihnjuh wbnnipyniGp 10 dw t:

56. 0.8-75 mpwlnnpp NL-4-35 gmpwlny 10 duijuw plipwgpnid
hlpylg & 1500 o tphwpnipywdp b 42§ quylnpyuip quzwp: 1 duwinu
wwpwuw pipwgpGhpm] pngwnundbph Yypw wpwyunnpp owluubi] L
6ljq Juntihp, wyluwwmwlph 1 dwidu pipwgpnui’ 10 Yq, huy 1 dwd
YwlqGhm nwypmy’ 1,2 Ygq: {wzgbi jwnbihph dwluup 1 hw Juph
hwiwp, tipt 2pwnupdtiph Ypw dwfuugt) k15 nnub, huy Ywlqun-
Gtph Ypw’ 30 pnwb:

W= LxC ’
T

Q =G, T, + G,T, +G,T,,

2|0

Eo = ’

h
g, = 10x925+6><60;25+1,2x0,5 15,01 yg/hw:
57. Ugphiquunp punyuguwd t 4-700 wipwinnphg b ML-8-35 gipw-
Ghg U wpluwwn & 3-py pnjuwGgniny’ 3,78 L/d wpwgnipuip:
<yl mgpiquunh wmnunpnnuwGnep o 12 dund wtuwnwdw-
swbwyh phy ogugnpotwdp, tipt wqntiquuh pingnidwi qw yGnt-
pjui oquugnpoiwl qnpdwlhgp 1,05 t, huy wpwaqmpintlGi oguu-
oynud L 95 %-ny:

58. $-100U° wpwywnpp tpyne M-5-35 qnipwGh htn wfuwwnmd k
2-py hinfuwGgnuinyg 1,05 WApY wpwgnpyudp: dwaybi wqpliquuh
\upmmqpnmuumﬁmpjmﬁ@ 12 dwiyju pGpugpnud, Gpw phy nGnanly-
dw( puyGmpjud, w fuwunudwiwGuih 90%-h L wpwgnipjwd 98%-h
oquiugnpovwip: ‘

59. N1.$-75U mpwiwnnpp bpynt M[_-5-25 tptiujwnhsny nupuip duilylg
L 8 dwijw pipingpnud:{wytiy wgpbquunh wpnunpnnuijunipn-
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p, bph wyl woluwnnd t 5,6 Yi/d wpw
3 Qi \.U\S b n
}:ghwlwpbzh nlngpydwG pwyGnipjwG jphy oqlz\uqsm&u;gg pufann
0. 4S-75U winwlyuinphg b MGu-4-35 gnipwGhg punljugud wqnph-
quup wpnwnpnwlwlnipjnbp hwquuwp t 6,804 hw/hbpp: Opnoty
;ugphgmmh w2 fuwwnwdwdwwypbpt Gpu 2wpdiw wpwgnipniGp
5 Qu/d t, wplpwwmwdwdwblwlh Ynpmunp’ 10%, huy pGngphdwG
(uyfnipynilG oguwgnpoyma L wnipangnipudp: i
2)1 - 20 dwnijw pGpwgpnud ML-2-300 bpyhpwi gnipwGnyg htplky GG
)Iﬂpl(litl'iln?lliuzl:ms <|;111i%1h[ w2uwumuduniwbuyh 0qg-f, tpt wgptquwnp
! wpugnipjwdp, oquuugqnpot
l(lgngléllglﬁl%ujﬁnlpjmﬁni oquuugnpdtiiny qnipwbh (phy
)2. {Lp dwluy hnnh mbuwwpwp ghdwnpnipymG
n hwuwiuw
1 SOhlﬂé/liz, huy gnipwbh pupawyhG ghvwnpmpylp' 12,6 Yu: <mlr[;
Juiptig &6 0,22 d funpmipyudp: Apnpty htiphh wqpliqunh wpmwnpn-
nuijwbnipymbp 10 dunijw pGpwgpmy, tpt wpuwmwdwimbwy
g;;;l:;;gngb&hl Lt SO?ﬁnq,ﬁwqphqmmg wpdyty £ S Yi/d wpwgni-
» hul qmupu dwf
}%ﬁpnngnlpjwlip: plngpyiwl wyGnipyoGlG oquuwuqnpoyty t
»3. Ugphquuwip punyugwd t M-5-35 gmpuwih
1 g U wpwulwnn :
mx;zb}i liqubq%ﬂh £}luptmalrmm]u.\luu(impjmﬁﬁ 8 duni wIzlfullilmélthllﬂ
wlh pOingpiiwd pw)bnipjwui oqu od ,
&nuﬁ;mp]wﬁp 2wpdtjhu: (Bl oqnugnpotiudp b 6,5 4i/d
. Ugpiquuip punjugwd L wpwyumnphg b L9-20 bphuyw :
gphgquunhp z}upd\iwﬁ wpwgmpjmfip 8,5 Yd/dwd t, hhplflawlllllllrzllfldqﬁ
mhmmmmﬁn 7 dwi: fipnti) wgptquunh wpnwnpnnuwbnipymGp,
Upl - wztuwnwdwiwbwyl ogmwgnpoymi L 96%-n, wqptqunh
p(snx]qlpqlimg q[\u JOmpynGp’ wdpngenipjunip:
15, UnyupduwnnpGhph pGnopydwt pyimpymbi oguw b L
98%-ny, huly wpluwnwdwiwbuwyp' 90%-mj: Ugphquunp ?nnlhlﬁqlm
pup pwppwihG ghdwnpmpmiGp hwdwoewp € 1,89 YLAS-h: Apnplyg
wygphquunp wpnwnpniuuimpinGp 10 dwihjw pbpwgpmd, Lph
ul]xnt:l[mnpn qupquglinud £ 21,176 Yl pwpywghG hqnpmpyniG:
60. {tnyh woptiquunh w2fuwwnwbph dwdwlwy phy cquwgnpdymd
I qmpwGh plngpydwG uyGnipymip b wpuunwdwdwiunyh 90%-p:
Npnpbi wgpiqunh wpmwnpnquijuwlmpynGp 10 dwidw pGpug-
:)llllll l:]i?pl;i mpuél.unnpt? QLhupqulgﬁnui t 51,47 ydwn pwprwyhG hgnpnip-
Jmi, hull mgptquuh nbuwljw
v t 15,03 111,%: HpR punzw bl ahdwannpim G huq-
07. ‘1-S-75U0 wmpwlwinphg b M-5-35U qnipwlihg punlyugwd wgptiqu-
wpwjuwmmd k1500 o Gpuwpnigpjunip b 105 o uﬂjﬁn?pjwﬂpqgngﬁ-
(pnupnul: Upluwmwlph dwdwGwly iphy oquwugnpoynid b wgptiqu-
w jrunmgywopwyhb plngpyswé jwiGmpniin: Ugphiquup pwpd-
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ynmd | gnpowup bnulwyny, gnpoh Uk

) nomi ng hwligmginhG -
nwnﬁéml, tgqnhquunh 2ngwnupéh yumumjpnp 7 § t:%w%llljalf uxzzriﬁltﬂ-
wwlipwjhG U wwpwu phpwgpélpp bplwpnipymGibpp b w)juw-

wwbpwyhG pGpwgph gnpowlyhgp:

s, =(C+ 4R)% i,
M-5-35U gnupwh hwdwp B, =1,75y:

Bm :Bl[xB d’ .
¢= Slll d
Sy+S,

105
Sm = 1500 X—=
175 90000y,

’

2x1,75

_ 90000
90000 + 3999 ~ 77"

68. U-700 wpwywnpp MG-8-35 quipwlng wluwwnnud t 800 § :
pnipjuip b 56 § jwylnipjudp rlluzmmu‘ll qwzx{nuwphlnq ll:uu(:i(zlmgllillil]];
2nwnupdtip, wdpngonipjudp 0quugnpdkiny wqpbquinh Yunnig
YwdpwihG pingnydwl  jwyGngmép: Ugphquunh  ppownupa
2wmwhnp 8 4 L: Npnply w fuwwnw GpughG npwgph qnpdwljhgp:

Sm = (150+4x 7)><-10L = 39904,

— w

S, +§

uw

U,
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S, =16000 ,
S, =1008,6 u,

: ©=0,94:

09, 1.5-75 wmpwlwnpp Mu-4-35 qnipwlng 8 dwiyw plpwgpmyd
htipyit) L 1400 O tpywpnipjundp b 40 ¥ jwjinipjwdp qugwn: 1 duwdnud
uluuuuu{ pGpwgplitph U zp9wnunpdtph Jpw wnpwliumnpp dwhuuby L
g Junbihp, 1 dwd wuvwwnwdwiwGuymyd' 10 Yq, hul fulqun-
Ubipmy 2wpdhsh 1 dwd wwpww wluwwnwlph pGpugpmd’ 1,4 Yq:
Syl untihph dwhuup lhw quph hwdwn, tpbk 2pgwnupdtph b
upupwy pipwgpGlinh Ypw owuudti k18 pnwy, huy wpuwwng pwp-
dhyny JuliqunlGbpmy' 28 pnuy:

70. A4S-75U mpwywnpp ML-5-3580F qmipwlny htpyb & 1500 4
bpyuwpmpjwdp U 105 4 wylmpjudp nuywp: UpluwwnwlipwhG
plipwgplitph tpupnipniGp Yuquity £ 90 Yd, hul wwpwy pGpwgp-
Glphtip’ 3,99 Yu: Ugphquunh pwpddwl wptuwnmwGpujhl wpugmp-
Jmlp 6 Yu/d L 1dwd wjuwwmwiiph ppugpnid U-41U 2wpdhsp
owluuby L 13,6 Yg, 1 dwi wpwpuy pgwrnupdtnh Ypw' 9 Ygq, huy
Yuwlqunrltpnid' 48 4q Junbtihp: dwpyb) Jwnbihph dwjuup 1 hw hp-
4p hwidwp, tphk wgphquwh wwpwuympnh dwdwGwly wpdhsp
w fuwnnby £ 48 pnuyk:

B =2
hw Wh’
C
_LC
10000
tm =S—md"ulli,
S
t =_uldu"j’

]
]

Q, =Gty +G,t, + Gt Ug,

€4 = 13,589 Yo/hwi:

71. USQ-82 wpwlyuwnpp 4 hww 3£2S-1 gwpwln] gwpwlby L
1200x112 ¢ swiptipm] nuipwp: Uty gwpwlh pngpldwb jwjGnipymbp
2,80 4 t: Ugphquuh wpluwwmwbpwjhG plngpldw ujGnipymGp
juqimd t pGgphwnp Yuemgquopw)hl plngnydwb jwjGnipjub
97%-n: Swldwdl ypgwnupéh 2wnunjhnn 8 4 k, hulj wgptiquunp tiph
dkompymGp’ 6 ¥: Ugphiquwuh wluwwmwlpwjhG wpwugnipymGn 8yd/d
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L, 2pownmupdtiph dnw' 6 Yu/d: Ugpbquunft 1 dund wpfuwmuGph dw-
dwlwy zu\xpd‘hgr_x dwfuuli t 9 Yq Juwnhbihp, 1 dwd uluilll:uul ﬂlgﬁ.g}mp-
dbph ypw' 5 Yq, puly 1 dwd JuGqunGhph duniwbwy' 1,2 Yq: Qwyty
lhw dywhgwd wwpwsnipyuG Ynw dwhugnn Juntijhph puiliilyp,
zlgll:nhu{gﬁ.hqwmh Wwpuympn wpfuumnnn pwpdhynyg hwijiuuwp b

_LC
10000
B, =B,f |,

hur/h

h 3

Qu =Gty +Gyt, +Gyt,,

Q
Wh

Zu = 7,969 4g/hwi :

72. S-40 wpuwywmnpp UNL-3 Ynynhjwnnph hba huwdwunupid Yay-
whjughw bl yuwwwplp 1000x90 8 swihbpny puyummd; L unhyw-
mnph‘[_lﬁnhwﬁmp lwjGmpyniGp 3 d t: Ugpkqunnp pupdyly |, Jwpn-
pwdl’ wwidwdl 2ngwnupdbpny: Cpowpupdp 2wmuyghnt L 5.4,
Liph bpywpmpymip 4,5 o: Ugpbquunh pwpduwG w juruuiutipwyhG
wnwampnilp 5 Yd/d t, ypownupdbph Ypw' 4 yo/d: tgpliquunhp
Ldund wyhuunnwGph pGpwgpmd 9-370° 2wpdiyp dwjuuby 1. 5,25 Yg
Junbithp, | dwd wwpuny 2ppwpupdtph Yypw' 4,5 Uq U | dwd upwpw-
wmpnGhph Ypw Yuwlqunlbpnd® 1 Yg: Jwpygly wlwuunufipuyha

32

Eiw =

3

pGpwgph qnpdwyhgp U 1 hw Guijwd wwpwonpyul hwtup
owpuwo yuwnbkiihph putwyp, bpb wophqunp wyhnuwnnn Jwpdhsny
24 pnyb ywpwwmpn b gt :

73. 4-700 wpwlumnpp [9-20 bphwjuwphsh b Qpulymd t 1500 o
bpjupmppudp b 196 0 puyGmpyudp qupwp: Gphwjwphsh wpluw-
uulpwjhl pngpipdwb yGmpymin Yuqind § unngduopwhih
98%-p: Ugqntiquunp pwpddmd b viwGéwdl pgwnwpdbtpny: Ugphiqu-
wh mownunpdh pwnwyhnp 16 U k, bph tiplpupnipymGp’ 15 J, wpfuw-
uulpwihl wpugmpymbp' 7,5 Yd/d, pownupdtpnud pwpddw
wpwaqnipymfp 6 Yi/d: ITdwd wptmwwmwubph plpwgpnui 3UQ-238
2wpdhsp Swhmty t 38 Yq Junbihp, 1 dwd Qulquniipnul wwpu-
wympnh dwdwlwy 2 Yq: Qwpb wptuwwnwbpwhG pipugph gnpow-
Yhgp U 1 hw-h ypw Juebjhph dwjuup, tpt wophquwp w)juwwnn
2wpdhsm] wwpwwnpn b undby 42 pnwgb: .

74. 10 dwhhu plpwgpmyd wgpbguunp thjupbgply b funqubp:
Spwlunph pwppwihG hgnpupymilip Juqily b 46,324 4w, wqpk-
quwh wmbuwlpupup puppughl nhbwnpmpymip’ 2,38 YL/ Npnply
wqntiquuih wponmunpnupunepyniGp, tpt  wyfnownmwdwiwiwyp
oquiuugnpdyly & 90%-ny, hul Yunmgjuwopwjh plngpuwl pwibnp-
Jjmap 98%-nu:

75. 9S8-75 wpwlumnpp ML-3-40 qupwiing 10 dwdijw plpugpmy
ugbinp t htpYh 12 hw hnquiswu: Opnpby hnnudwueh tpwpnipymbp b
(wylnmpymGp, bpk Quemgywopwihl plngpiuwl jwiGnpyndp ogq-
nwgnpdynd £ wipnnempjwdp b 1 dwdjuw ppugpnmi wqphquwnp
Juwunwnpnud k3 powupmntn:

76. S-100UQ-U wipwyunphg b «SpmduGpy-N1F» qmpulhg UM-2-5U°
Ygwlpny Juqijwd wgptquunp wpawwnud t 1800 U bpljuupnipjudp
U 1124 quyGmpjudp hnqudwunud: Y2uwwmwbph duniwiwly wdpnn-
ontpjuip oquuwqnpoymd b Gpw JunmgjuopwihlG pGngpyudwi puwg-
Gmpjynilip: Ugpbquwp pwpdynd t ny hwlgmguyhl 2pownupém]:
Cpownwpdh pwnundhnp 12 o b dwpyby wgpbhqunh wfuwnnwlpuw-
Jh6 U wwpwy pipwgpliph bphwpmpymb6hpp b wwwwGpuiyht
nipuwgph gnpowlhgp:

77. 4-700 wipuuinpp ML-8-35 gmpwlnyg htpyky L 800 U Lplpwpnt-
pyudp U 56 § puynpjwdp nupwp: WluwmubpwihlG ppwgpbhph
hpiupnipynilp 16 Yd b, hul wwpww pGpugplbphlp’ 1,712 Yu:
Ugpbqunp wyuunnty t 7 Yd/d wpugmpyunip, ypownuipdtph ypw
hetiglGhind dhGsl 5 Yu/d: 1 dwid wtuwunubph Ypw 8(1‘95{.38‘(;9
2wndhsp dwjuuby t 38 Yq junbihp, 1 dwd ypewnupdtiph ypur 19 Yo
U 1 dwd YulqueGhpmd® 2 §jq: <wpyb) qunbihph dwuup 1hw hbplh
hwvwp, hpb ypuwpwy) plipugpmy wpdhsp w hnuwnb k48 pnyt:
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78. $-40 wpwhunpp QUU-6U imhwlm] § dwd winthw(ilij b wbnw-
:illlllll:.ll?t {/1[{1132/1;[ l,quhqwmllli lﬁpmwx}pmu&l{wﬁmp}mﬁ@ npl wpluw-
wpwqnip w2 luwwmwlpwihG nG vwG -
%m 291%‘8‘1‘““"“1‘ - 2h pb walu puyhl plngpyinG pulng
- 3-100U° wpwlunph 2wpdhsp guwpwlvwi dudwlwy qupgqug-
Grud £ 68,383 Ydan hqnpmpjniG: Npnyby wopkquwnp \,upltnﬂqugmg—
YwlimpniGp 10 dwidw pGpugpmd, bpt pngpynuip ugdnus £ 98%,
huy wfuwmwduniwbwyh 0qq-6° 90%: Spwipnnph pwpywhG 0qq-G
hwjwuwp t 0,7, pwppwyhG hgnpmippuG ogq-G' 0,9, wqptquuh
ubuwlwnwp pwpwhé ghdwnpmpmbp’ 2,43 Yu/d:
80. S-54d. wpwipuinpp 4 hww ujwyjwnwluwhG £AS-2,2 gwpwlny
d2wlly & honp 8 dundjw pGpugpmy 4,5 Yu/d wpwgnippudp: Apnyty
waqptiguwh wpmunpnnujwlmpymbp, tpt JupupuGsmp gwpw(h
wyfuwnwGpwh@ pngpldwG jwynpymp 2,2 ¥ L
81. Bwpwldwi wopkquunp 10 dwiyw plipwgpmd gupwby t hww-
Yuwgywd mbnuwiwup:Spulunph pwpywihG hgnpmpymin hwyjwwop
L 23,2Q6 YL, huly wgpbquunh wbuwwpwp puppwht nhdwgpni-
piman 1,39 YL/ Nipnzt| wepbquunh wpuwnpnqwljw GupymGp, bpk
wyzuwunwdwdwbwlp oquwgnpoty t 38%-mi, huy gupwbh pln-
apYiwa qwyGmpimip’ 98%-ny: ' ‘
82. 14,45 u plngpydwl (wjGmppudp guwpwiwG wqpbquunp
wpunwnywlywlimpymbn uqimd t 71,672 hw: (pnyby wgptiquunp
wzfuwnwGpuighG wpwgmpynbp, bpk 10 dwd w)hnumudsw iy
oguugnpouty t 80%-my, hul weptquwnh pngplyiwt puympynGp’
wnipnnonipjuip: :
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I SULLEL UaLEQUSHEPDR LULTUSHEL
GphUurLAMF3NRLELR

Swpphbp wgptquutph pwpywihG nhdwnpngpynuGGhnh hwgwn-
Yyn ywwwpnul Llp httnbijwy pulwéabbpnd’
1. @mpwGh pwpwihl phdwnnmpymin
R, =K, xaxbxn yu, (37)
nputin’ K, -6° ygmh gmpwlh wbuwljwpup pwprwihi ghiwnpne-
pymGa £, Yuid’; a -G° yupp funpmpymdn, 4, b -6° G hpwGh Junmg-
JwopwjhlG pingpyuwl pujlnipymbn, 4§, n-p° gmpwlip hpwGGhph
phyp:
2. @tp wmtnuipnu wluwunng gmpwlh puprwihG nhdwnpnt-
pjonuGp’
R, =K, abn+10G csina Yu, (38)

nputny G, -6° gmpwh Yuomgjwmopw)ht quiiqiuob ¥, Yq, c-6
qnipwfih hpwGiph ypw dlGwgnn hnnh qubqywdh hwygwndwl
qnpdwlhgp, ¢ = 1,1-1,5, o -G" Jtpbiph (upteph) pipmpjul way -
in, wunptwd:

3. Ugnpihsh pwpwyh nhiwnpnpmGp

R, =10G ff +—— | yu, 39
g 'Jg\ g 100) 11 ( )
nputip’ G, -0 Ygnpnhsh zwhwgnpowlw G qubgjwuoG t Yq, £, -G Ygnp-
nhsh ginpiw{ nhiwnpmpjwt gnpowyhgp:

4. ¢muulinbuwyul dtpkGwbtnh Ywd qnpohpitph pupyw-
JhG6 ghdwnppnipymbp’

R, =B,K, +10G, ﬁ yu, (40)

nputin’ K, -0 qgrmunuuintuwlwl dtptiw-gnpohpibnh mbuwljw-
nwn pwpywihG nghdwnpnmpmio b, YuAl, B, -6° aby gymnitptiwjh
Yywd gnpohph Yunmgywdpwihl plngnyiwd qwiGmpmdn, v, G, -0°
qnunitiptGwgh Yuwd gnpohph pwhwenpdwlwt qubgiwop, Yg, 1 -6
wmbnuiiph ppmpjmip, %:

5. Qupunyh vbphGwih pwpywihG nhdwngnmpymGp’

R, =B/, +10Gd(lf+1—(')0—J 1, (41)

nputin K, =(0,8+0,85)K, 42)
Y K, =(0,8+0385)K, @3)
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Ywlungh qmndkpblwih Ywd gnpohph wbuwhwpwp pwpywjhG
nhdwnpnipymGa, £, YL/A, A -G° wmpwlipnnph jpugmghy ptinGwopp
hwpyh wnlnn gnpdwyhgn h huphy Ywjungh dtptiGw)h (@npohph) b
w) npdwnpnn mdbph:

6.4Ugnyh wgptquunh pwnpywjhl nhdwnpnipjmbp’

1 i
Rm = m(KJBﬁ + IOGJ m] + IOqu(fllg +mj 1, (44)

npunbin' m —p dhphGwGtph pwiwyd t:
7. Ugpiquuh Ygynn dwuh 1 4 plngpyowl pujlnipyuGl piyGnng
qubquop

0G
g=1 5 VAL 45)

]
8. Lpwgnighy pwppwjhG nhdwnpnipyniGp pipnipjuG hwnpuhipdwG
dwdiwlwly’

| i
R® =10g— u: 46
# = 8100 “0)
9. Ugphquuh wpwybpugnfi pngpyiwl (w)impjnbp’
P.-R
—_r g

= , 47
_ " K+RY @7
npubn’ P, -6 hpwywl GwpdwnujhG mdG t, u:
10. @Lpnipjul Ypuw wpuwmbjhu wgpbquuh pwppwhl nptiwn-
nnipjmGnp
Ri =(K+R% B, +R,, Lt @8)
1. dwph wgpbguwnh pwppwihG nhdwnpmpymlp pLpnipjul
hwjundwip’

RY, = (K,ab+ R0, B, (49)
12. dwnh wqpbquuih wnwybpugnyyl pngpipdwi pwydnipymitip’
P
B = oo (50)
Keab+R

13. Spwywnph dwpdiuﬁmu JhG hgnpnmpymGp’

2V Vv
Rm w =@ Yy, (s1)
3,6 3,6

“NP=
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npubig K, =K+ 100 4 g, (52)

wqphquuh wbkuwywnwp pwp2w)ha npywnpmipymGa t, B, -6° want-
quuj plngpyiwb puympjmap,
P,-Ry,

B, = £
“ K, +K,+K;+...Ka
. i tp
nputn’ X, K,, Ky ,..., Kn -p wgphquunh Juqih dke dnlnn mwpp [
dhphﬁwﬁﬁph wmbuwwpwp puppwjhG nhdwnpmp Jn}ﬁﬁhpﬁ LG, Yu/a:
14. Ugptiquuh ptipwd puppwjhb nhiwnpnipjnip

U, (53)

R!, =R, +Ry" L, (54)
R™" = 9550 Neila o, (55)
’ nfxrmnﬂUl
nputin’ Mg, -0 SUL-h thnfuwGgiwG dhfuwbhquh oge-G E:
UL
15. K, = R v (56)
N
16. NM:MJr—ﬂ Jdun: (57)
Newe  Ma
17. Spwjnnph Swpdwinuyhl niwdh oqq-G°
N
My = Sgmer = Ra, (58)
ND PD

83. 9.§-75U° wpwywnphg, U-11 Ygwlphg U mp hww 3£9U-1,0
gwpwfiitphg pLIllll'[lllllugluO wgptiquup juumwpnd t gwpwlnud tpynt
htnpny: Ggwlph quiqiuon 677 Yq t: Gguliph qlngdwﬁ nhdwnpm-
ppul qnpowlhgn 0,22 t, huy gwpwlh quGqiuon 90 yq, wptuw-
wnwpwjhl pGngpydwb (ujGnipymbn’ 2,89 4: Swpwlh mhuulllulpu&p
pwpwjhl nhiwnpmpyniip hwyjwuwp L 0,6 Y L/3-h: Stnulpl m 1&
3% phpnipymG: Apngk wgphquuih  wnhuwhwpwn pwpwjh
nhdwnnnipymp:
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R, =m(K By +0,01Gi)+0,01G,(f,, +i) yu,
B, =mB, U,

K, =0,6834UAN:

84. US2-80 mpuyunpp UNL-4U Ynyumhjuwmnpny, nph qubqiuon
465 4q b, quunwnpl £ hwdwwnwpwd Ynyunpjughw: Gulungh Yoayuh-
Juwunph mbuwuwpwn puppwihG nhdwnpmpnibp juqimd L Ygngh
Ynyupjwunnph niuwjupunp nhdwnpnepjwG 82 %-p b hwyjwuwp t
1,75 Yu/d-h: Gnpiwl ghdwnpnipjwG gnpdwyhgp hwyjwuwuwp t 0,16,
huy wtinubph ptipnipyul dhonipymGn’ 0,008: Apnyty Ywiundh Yny-
whjwunph puppuwjhl nhdwnnmpjmbp, tpt hwjnGh k, np wmpwljunn-
nh inugnighs pinGuwompimbp Ynpnhuwmnph quGqyuoh hw)wn-
dwdp Juqimy t 120 %:

Ry, =K By +0,01G, (Af, +i)
Ry = 6,674L :
85. §$-100U wpwlyunphg, UM-4U YnywpjwumnpGliphg b U-18
Ygnnnhshg punjugwd woptiquub w)uwwnd E 3-pg hnpuuoGgni-
uny, nph wwy wmpwlwmnpp qupqugimyi t 32,84 pwp)wyhl md:
Umpunhjuwwnph pGngppiwé  jwjGmpyniGp hwjwuwp L 4 d-h,
wmbuvwupuwp puppuyht ghdwnpmpymGn’ 1,75 b/ Ugnpnhsh
quiqquon 1030 Yq t, qnpiwG nghdwnnmpjub qnpowyhgn’ 0,22, huy
Gulunnp 18 u: NApnyt) wgptiqunf Juquip b wpwywmnph pupywjhG
nidh oqq-G:
R, =mBK, +G,f,, x0,01 {u,
R
K, === YU/,
B
ug

B :M‘id,

38

K, - 10x1030x022 )
18
S L v RPN
1,75+0,123

m, - 16;32 4084,

R, =4x4x1,75+0,01x1030x 0,22 =30,22 [U,

30,22
=—=—=0,921 :
=38
86. MU-3-30 gmpwGh nhiwnpnipymbp 12 YU L: Apnpty hipyh fjunpm-
pymGp, tpt htpyh dwiwlGwy whuwhwpwp pwppwihG nhdwgpni-
pimGp 60 YU/’ t:

R, =K,ab,n,

L
K,b,n 60033

87. 12 duniyw pGpwgpnd htpyh wgphquwh wpmunpnnuiyjw-
Gmpymbp Juquinud £ 7 hw: Opnpty htinyh funpnipyniGp, tpt wqpk-
quunh updiwG wjuwnmwipuwhlG wpwanipyniGn 5 Yo/d £, gmpwth
pwnwjhG nhdwnpmpniGp’ 33,075 b, huy hnnh wbuwwpwp nh-
dwnpnipjnilp’ 70 UAR:

88. Ugntquunp, npp punlugwo t U-700 wmpwljninphg, tpjm L9-9-10
tpbujwphshg U U-18 Ygnpnhshg, junqubh tpbuduph dwdwGuy
2wpdynui k 3,6 Yi/d wpuwgmpjuip: Gphudwnhsh quiqquopn 1840yq
L, huy 4gnpnhshGp' 1030 Yq: Gptuduphsh wytuwwnwGpw)hG plngpy-
dwl puyGmpmGp 10 4 &, mbvwwpwp ghiwnpmpynGp' 2,250/,
huly Ygnpnhsh qnpiwG nhdwnpmpjuG gnpowlhgp 0,13: Fwpwp,
npunbtn wyluwwmnd b owgptiquunp, niGh 1,5% phpmpymiG: Opnpty
wmpwlwnnph pwpawjhlG hgqnpnipjwb oqq-G, tpt Gpuw wnwybjwgnyG
pupyw)hG hqnpmpjniGn 50,736 Ydan k:

89. Ugnhquup, npp punuguwo t S-100U mpwlywninphg, tptip LG
45 gupwGhg U U-11 Ygnpnhshg, oquiwgnponul GG junquGp gupwGh-
mmt hwiwp: SBwpwbGh quGqyuop 740 Yq k, wyluwmnwlpuhG pln-
gnyiwi pwyGmpmbp 4,59, wtvwlhwpwn pupywihi nhiwnpmp-
jmGp' 2,4 YuAl:  Ugnpnhsh quiquon 677 Yq Lk, hul qnmiwG
nhiwnpnipjwG gnpdwyhgp 0,13: Fwpwl mGh 2,5 % pipmpymG:
Juytp wopiquwp mbuwjuwpup punpwjhG nhiwnpnipynGp:

—022 0
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90. Spwywnpp 3AULSNR-1,0 wnunifundnp gupwbh hin wauwnmd
t 3-nn hnjuwbGgnuing b qupqugblmd 17,8 LU Gnpdw) pwp)wjhG md:
SwpwGh qubiquop 126 4q t, nﬁr}qpllliwﬁ JwylnpynGp’ 2,89 4, huy
nbuwlwpwp pwprwjhG qluiuummpjmﬁn 0,6 oL/ Bwpluﬁnuiu
Jwunwpymd t 2 htwmpny' 0,02 ppnipjuip nmzmnui Nnnpkj guwpwG-
Gtph phyl wqptiquumd L wmpwliwnnph pwpywjhG nidh ogq-G, Lipt
jgwlph qnpiwG nhdwnpnipju qnpowlihgn 0,12 t:

91. Swpwliwl wqptiquunh pingnydwl jwjylnpniGp 14,4 4 t, huly
mbuwlwpwp pwpzwihG nhdwnpnipymGn’ 1,42 YA Npngk] npwy-
wuinph pwpwjhG hgnpnipjniGp, Gpk wjl wpddnud t 6 Yi/d wpw-
qnipjwuip:

92. l?'l 5-358NF gmpwlny htipyk) 66 hngp 0,25 O funpnipjuwdp: Npnpt;
gmpwlh pwpwjhG nhdwnpmpymGp, hpb htinth dluljluﬁlllll hnnh
- nbuwljwpwp nhfwnpnipniGp hwjwuwp £ 70 Yo

R, = Kgabn,

Rq =30,625 U :
93. dwph wgpiquwp punjugwd L bpym M-5-35U gnipwlhg,
S-100UG-U wpwlywnphg b Ygnpnhshg, nph quiqyuop 146 Yq t, qinp-

dwl nhiwnpmpjuG gnpowlyhgp' 0,15, hul qmpwbh qubguon
12601q: Ugptiquunp wfuwwnnid k 2 % phpnipjundp nuizmmad: pnykg

hgnpnhsh U wqptiquunh wmbuwlwpwnp pwpyujht rlhtit.urmmpimﬁn,
tipt honh mbuwljwpwp nhdwnpnipyniGp hwjwuwp £ 60 YuAT*, huly
htpyh funpnipymGp’ 0,25 u: |

R, = m(KSabn * 0,0IGqcsina) ,
R, =0,01G, (£, +i),

B, =2B, = 2bn ,
K,, =15,172 Juii,
K, =0,07 YUuAL :

94. 1.9-9--20 tptiujwphsh pGngpyuiwG pwjGnpniGp hwywuwn t 20 4,
hulj qulquon’ 5570 Yq: bGywhuh® pwnzh hqnpmpyniG wbwnp t quip-
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qugGh wpwywmnpp wpfuwwnwilph dwiwlwy, tpt btptujwphsh
wmbuwlwpwup pwppwjhl nhdwnpnipymGnp 2,6 YU/ L, pwupddw wpus-
qnipjnilip’ 5 Yu/d, huy mtnqubph phpmpjmﬁn 0,012:
95. Nidwswhn gniyg L wnyky, np hwdwihp ulqphquunh ytphtiph nh-
dwnpnipyniGp hwjuuwn b 35 §'u: dwydt mpuljnnph hgnpnipjwG
0qq-G, ipti U-700 mpwlnnph wopwybpugnyG pupywjhG hqnpnipjni-
Gp 85 ydun E, hulj woptquwnh pupdiwl wpwgmpymbGp' 7,35 i/d:
96. S-40 wpwywnnpp MLL-5-252 tptujwphsny, nph plngpyiwG
(wympymGp 1,25 4 k, uwmwpnud L thjupbgnd: Gpiujwphsh qubg-
Jwop 260 Yq t, Ywjunh tpbujwphsh nbuwiwpwp pwpywihG
nhiwnnmpjnlp Juqind t Ygmyh tptuwjwphsh nhdwnponippub
(1,5 yuAl) 80%p: Spwlunph qnpiwG nhiwnpmpjub gnpowyhgnp
hwjwuwyp t 0,1: StnulpG niGh 1% pipmpymG: Npnpt; Yulunyh
tptujwphsh pwpwjhG nhdwnpmpymbp, tpt hwynGh k, np mpwy-
wnnph [pugmghs phnGuwynpiwG dhompymbGn Juqimd b tptuwjwphsh
quiquoh 75 %-n:

R, =K ,B, +0,01G,(Af +i),

R, =172y
97. Qwiwihp wgqpiquup punjugwd t S-75U wpwlwnphg, 3d
pngpnyuiwG puylnpyudp Ynypwhjuwnnphg, 0,963 4 pngpliiwb jwy-
Gnipjuwdp wunwiGwynp gupwlbtinhg U 4,2 4 plngpydwG jw)Gnt-
pjwip pwppwguwbhg: Ugphquuh wpluwmwlph dwiwlul wnpwly-
winph pwnwhG nidp hwjwuwn t 19,23 yu:
Nnnpt) dkptlwbtph phyl wgpbqunmau b ytpehGhu pngnldwl puj-
GnipjniGp, tpk Ynyuhjwwmnph mbuwljwpuwp pwp)wjhG nhiwnpnt-
pjmlnp 1,68 {L/4 L, gwpwGhGp 0,5 l]‘b/ti,\zwppwgwﬁhﬁn‘ 1,20 yuni,
huy Ygnpnhsh pwpzwjhG nhdwnpmpynilp’ 1,22 e
m= Rug — Ry
RIS
P -Ry,
B, =
K, +K, +K
R, =Rgm+R,,

K -_.5“2
wq B ’
wq

R,, =m(K B, +K B, +K,B )+ 0,01G,(f +i)

tug
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i R
Kluq =K, +Kl|g 0,01Gi _K, + w _
B, Bllg
R
=K1l+K9+K.2+———‘uq ,

wq
1,22
K g =1,68+0,5+1,2:+ 25 = 34614 LA
_19,23-1,22
" 0,5+1,2+1,68
R,, =3,461x5,328 =18,4441,
R,, =m(1,68x3+0,5x0,963+1,2x4,2)+1,22 =
=10,561m +1,22,
18,44 =10,561m +1,22,
18,44 -1,22
m=——————=1,63,
10,561

m=2:

98. Jdwiwthp wgphquup punjugwd L S-100U0° wipwywinphg,
2 Yymumpjuwwnplbphg' jnipwpwbsympp 850 Yq qulquuony, 8
wwnuwifwynp gwpwlbtphg® 42 -whwi Yq quiiquony U 2 wppw-
gw@dtphg' mipwpwlsmpp 1190 Yq qubquomy: Unipnhywwnphp
plngnydwl qwyGmpjniGn 4 0 t, gwpwGhap' 0,963 4, huy Jwppwgw-
GhGp" 3,6 O: Unyupjwwnph mbuwlwpwnp pwpauwjhl ghdwnpn-
pymdp 1,940/ t, gwpwGhGp' 0,6 YUAL, hul ywppwgwGhip' 1,4 Yu/:
UtiptGw-gnpohpGlpp Ygymd b6 mpwlwnnphG U-11 Ygnpnhsny, nph
quiigwon 677 Yq &, huy qnpowl nhdwnpmpjwl gnpowyhgn’ 0,16:
Stnwph pbtpmpymbp 1% bt Qpmphp wapbguwh  puwprwyhG
nhiwnpnmpymlp, pghwmp pngpliiwl qwjbmpymbp b wbuwlw-
pwn phnwnpmpjmon:

=5,328 4,

R, =Rm+R,
R, =K,B, +0,01G,i,
R,, =0,01G,(f +i)
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= 0,01Gg1 Ky,
W= g
R,, =m,K,B, +m KB, +m KB, +0,01G, (f +i)+
+0,01i(m,G, +m,G, +m,G,)=
= 2x1,9><4+8><O,6><O,963+ZXI,4><3,6+
+0,01x677(0,16 +0,01)+
+0,01><0,01(2x850+8><42+2><1190)= 31,494,
0,04m,G, +m,G +mG))
B, +B, +B,

K =(Ku+Kg+Kz)+ +

wq

" O’OIG-ug(fug +i)
Bllg

= 4,028 L/,

B —3—1’-42 =7,82u:

w4028

Gp Yuqumd t
99. Jwniw wqphquup pupwihl nhiwnpaipjnt :
31,49ul;‘b: lPIIIlmzhL npwipnnph pmpzwjgﬁ hqnpmpymap, tpt waph

wndynud t 4,8 §i/d wpwqnipjuup:

(ll()wOlf)gLZS-l;Sll}' wmpwiwnpn LY%Q--10 tphujuphsh htwn wztuu{méug k
2-pn thnjuwlgniny qupqugbmi t 21,59 qu pwpzél mlc(l) 5 I ::11
qwphsh quiquywop 1840 Uq t, pingpliwd ijﬁn{p;r}ll n 5, I111l 1
whuwjwpwp pwpywha nhiwngpatpiGp’ 2 yuAl: Fwwp plp 11;;(1
jmGp 2 % ki Opnphy wgphquup fuqip b wpwlmnph pupywy
nidh oqq-G:

R,, =R, =K,B,m+0,01Gim,
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10,79
m=—"x],
10
R, =2x10m +0,01x 1840 x 0,02m = 20,368m
R; =R,, =20,368x1=20,368 |,

20,368
=——=0,943:
e 21,59
P,-R,
Bu==2—" B, =mB,

b

21,59
B'-Uq = T = 10’79‘1’

B; =B, =10u:
101. S-100U wpwlpnnphg, UN4U YnywhquwuinpGiphg t U-18
Ugnpnhshg pwnjugws wgphquup w3 N hinhuwG-
gmuiny: Spwlwnpp wyn thinfuwlgmdind quipquglmig 1 32,8 v
pwppwjhl md: Uniupjuuinph plngpliydwi wGmpymGn hwywuwp
L 4 4, mbuwlwpwp PupauyhG ghdwnpmpymbp 1,75 Yu/s; YUgnpnhsh
pwan 1030 Lg t, qupiwi nhdwnpmpjwG qnpdwlhgn’ 0,22, huly
Guluwuwp' 18 u: fpnyty wgnphquuh Juquip b wnpwlunph pwpyw;hG
nidh oqq-G: )
qu ='ququ + qufqg x 0,01,
- Rllg

m, =—
B
wp

wg
]

np—P s
6

R

~
&
N

2
K,= = =0,125yuA,

=]

=
;‘
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- 38822266, 876 u,
w = 1 7540,125
20876 _ o
4
R,, =5x4x1,75+0,01x1030 0,22 = 30,266 ;U
) 30266 0
REvY

102. Qwdwihp wgpiquup, npp punjuguo t S-100U° mpwiwinphg,
M-5-35U0 gmpulhg U 329S-1,0 gwpwlltiphg, wytuwwmd t 2-pn
tinfuwgnuiny: Wn hinjuwGgnuimd wipwljunph puppwjhG midp hw-
Juuwn t 55 §u: <tpyp juwuwwpymd b 0,25 d junpmpjudp: <nnh
uwbuwwpwp ghdwnpmipymbn quph  dwdwlwly hwjwuwp b
554 L/A8%: UnwdGuiynp gupwGh plngpydwa jujGnipymGp 2,89 o L,
ubuwjwpup pupzwghlG nhiwnpmpymGp’ 9,5 Yu/d, Ygnpnhsh quig-
Juop' 128 Yq, huy qnpiwl ghiwnpnipjwl gnpowyhgp' 0,12: Opnpty
waqpbhqunmd  plngpygwo dhphfiwlbph pwlwyp U wpuwyunph
wnwjh( nidh oqq-G:

I12031.1241111:iujulp wqpliquup, npp punugwd b S-54d mpwljwnphg,
YyM-3 ympuhdwunplphg, 32 2S-1 gwpwlilhphg U U-11 Ygnpnhshg,
w2 huwunmy t 2-pn hinfuwGgnuiny: Uyn thhnpouGgmimd wpwywnph
pwpywihi mdp hujuwuwn t 14,86 Y'U: Umpumhjwwunph quiqyuon
608 Uq t, gwpwlhbp’ 126 Yq: Unywmhjuwuinph mhuuxqw[u\up pwpgw-
jhG nhdwnpmpmip hwjwuwp t 1,6 l.fl\l/li, qupw(hGp’ 0,5 lfl;/tiz
ynywhyunnnph pngpydwl wjGmpymbn’ 3 4 t, gwpwbhGp’ 2,89 d:
Strqulph ptpmipjnGp hwywuwn £ 0,02: llg\npt}hgh qulqyuon 677 4q
t, huly qunpiwl nhdwnpmipjwb qnpowyhgp’ 0,22: Apngty wgptiquuuh
JJwquinud pngpyywo dptlwGhph pwlwyn b wpuwljnnph pwppwjhG
nidh oqq-G:

B
mll = Bluq ’
Yy
B
) _ DPug
mg— B ’
9
R,,
T]p = >
P
p
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- Pp -Rllg
wq Kl{ + Kg T Kz L]
‘wg = mu(Kqu +0,01Gui)+ mg(Kng +0701Ggi)+()’O'G‘m(f'lﬂ +i)
1,6 40,5+

m, = 5’294 =1,998 ~ 2 Ynyuhgunmp,

m = 599
° 2,89
R, = 2(1.6x3+0.01x608x0,02) +
+2(0,5% 2,89+ 0,01x 126 x 0,02) +

+0,01x677(0,22+ 0,02) = 12,936 |,

12,936

* 14,86

. 8 dwijw plipugpnid wqptiquiunp htipyky & 2,88 hiw viwpwon-
nG 0,25 ¥ junpmpjudp: Opnyly qupwlh pupywhl ghdwnpn-
nGp, bpt wophquunp yupdys) L 6 Yd/0 wmugmippuip, huy hnnh
vwhwpwn phdwnnmp)mbp Yuqsms L 55 o o
3.M-5-35U qnipwGh pwpywpt nhiwnpmpymép 0,25 § Junpm-
udp heplbthu bwdwuwp t 43,75 Yu: pnpby hogh wbuwwpwn
JwnnnipjniGp:

). Gupwlh pwpywhG nhdwnpmpymGp hwiwuip |, 19,25 Yu, qu-
funpnipjniGp’ 0,22 , honh whuwlwpwn nhdwnpa pydpy’ S0y L/g%:
n2by qnipwGh hpwGGhph phyp, bph Ukl hpwGh plingpidwd wyGni-
1Gp hwjwwaup k0,35 :

. MU-3-30 qmupmGh puppw;pt ndwnnmpynip 12 Y L Dpngtg
'4h junpmpymGp, bpk hnnh whuwluwpuwp ghdwnpopynidp hudw-
n L 60 LG/s%:

~ L%-15 bpbuguiphsh ququidp 3575 Ya L: 12% plpnipjudp
nuiipnu wgphquinh ywipddwb wpwqnipjuilp hafuiun t 5pg/d:
whuh® pwpauwiyhG hanpmipynil Yupnn b quipquglity npwimnpp,

¢ bpbuwdwphsh  pwppwjhG nhdwnpopjmbn hwpp wbnuwipnd
N £ 36 Yu:

=2,076 ~ 2 gupwli,

=0,87:

109. $-40 wpwlwnpp QUY-6U wmhwlny wpluwummd L 3-py
qm[uuxﬁgnuimfl h%wpqwgﬁmd 8 qu pwipyut jhG md: SmhwiGh quibiq-
qjwon 1410 yq t, plngpydwb puyGmpjmbp’ 5,68 4, hul mhuwhwgwg
pupuyhG ghdwnpnmpniGp’ 1,3 Yu/d: Opnply wgpbquwh Jug Bﬁ
wpwiunph puwpwh6 mdh oqq-G, Lph wtnulph  pipmpymfp,
npnbin wtuwwmmd bt wpwlymnpp, hwqwuawp 1,5 %: 07.96 1
110. 10 dunijyu pGpwgpmd wlhpuwdbym b Juwwuupk) 107, w
hwiwunwpwd Ynympjuwghw: Lwlh” hwn UN-4U0 Ynypmpjwunp t
wihpwdtyn wjn w2 juwnwGpp juwmwpbne hwdwp 5,1 Yo/d mz[uwé
nwlipwjhi wpwagnipyudp, Ynypunhduwwmnph gﬁqqpl{dwﬁ_ wyGmpju
98 %-h b wfuuwmudwdwGuwyh 90 %-h oquuugnpodwdp:

111. 20 duwdjw pGpugpnud wihpwdbym L dpwlb 99,75 hw wwpuw-
ompynl: LwlGh® hww MN-5-3580F qmupwl Yuywhwbodh wqphqwdm{il
5 4i/d wpwgmpyuwdp wpiuwnbm dwdtwGuwy b qnipwGh Eﬁqng. w
jwyGmpjwd pnhy m wp pwwnwdwdwiwyh 95 % oquuugnpoduwdp:
112. 10 dwidw pGpugpnid wihpwdtiyn t gupwbl) 266,3 hw mﬁw;
pwompnG dty htwpny: 2,89 ¥ plngpydwl pujinipjudp pwlh
3298-1,0 gwpwl Yuwhwhgygh 6 Yi/d mz[uwulwﬁpwghﬁ wpwuqnip-
Juip wpdybtim b gupwGh plngpliw Jﬁmpjl.uﬁ 96%-h nt wuw-
wwdwdwblwyh 80 %-h oqumuqnpoiwb nhupniy: b 191s b
113. WGhpwdtpunn t 10 dwijw plhpwgpmi tpbujupby 21,5 | w
junquG: LwGh® tptujwphy YuywhwGogh, nph gpqqpli\itfx‘lj : Suj m:
pintGp hwjwuwp t 5 4, pwpdiwG mpu(x)qmpjmﬁn 6,2 l;\fj 2 %uul:xb
qnpymd b pGngpyuwt juyinipjub 98%-p U wyjuwmwdwdwiw
80 %-p:
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LLL LI |

Iv. usgcuvuspuuasnrishyv Uar6a.UsSverb
quQur neacorIR

W uwmwlpwjhi vhphGwbph Yw
qip b wgphquwnh w -
glg;ﬁgmdhg] gﬁ%&igq%wtgq%b LG gnl(liull{mnph pupw j[l% hmlllnlluzjlélllllzj—
wlw
e qnpoplipwgh Jumwpdwb plnyphg m
UptuwupuwymnpuihG wgniquuh YJuw
quh npnzdwl dwiw-
g;ﬂl wﬁgpwdhzm t % wgptquuhb ﬁhpuuuulgtlllmzl mqpnmhltllll-
Jquywl wwhwlgbtphg, wpiwwmwlpwhi thnfuwligndfbpn
wpwipnnph pwpowihG hwulwGh)Ghnphg b wluwy uwwswGehpaud
qgmnuupiunbuwlul dipiGwitph puppwhG nhiwngpmpymbhg:
Ugnbquuh Juqdh npnynuin pngnynad & ‘
- wpwyunph b w2tvwwnwbGpuihG dkptGwGlph pGupmpymdp,
- w2juwwmwbpwjhb thnfuwignudGbph pGumpnipymin,
- wgﬁl;qwmll: llllwainui dbpbGwltph pwGwih hhdGwynpnuip,
- wgphquuh Juqui w G
ot quh pwpwihG hwdupyh Gumppuwl qiw-
SYyw wpnwnpwywb gnponlpugh Yumw
niwd hwdwn pupw-
3itlliﬁ wgphquuh Yuwgqih U Gpuw wpluwwwbpwihl pidhdh I&ﬁgnrﬁizwﬁ
oL 4pn(r)11§l%mﬁ uinquo £ withowuyku fulinhpGliph nuddwé Shgngny;
. 0,22 4 junpmpywdp htipyh hwdwp whpwdtyw t° 48-75 wpwy-
1lnnpepg b <[< 6S]pmdhﬁhl1»uqmpmﬁhg huqib] wqpbquim:
. Buwn wrniuwl I1-p qubnd Glp wqpliquun |
1211111é1qmp(1{1)1[i[] h[liaplép I(Iiuniulﬁulll (7,5 y/d): antiquunh pruuinnGih
. Puun pwlwdbh qulmi tlp wpwiunn w G
7,5 yW/d wpwgmpjwl showljw jpnud’ tanph pwpzu)pt munn

I
P = 2484V,
Py =22,04Y,
Py =19,54L:
3. Npnynud LGp grupwGh hpwGGtph phyp
_Pm,
K,ab’

nm:_,2_41810;9__—526 5
55x035x0,22

438

3 22,0x0,9

T 55%0,35%0,22

v M_ =414~4:
55%x0,35%0,22

v

=468=4,

4. CGupnud tGp pengpipiwb juynpyul oquuugnpdiwd qnpdwlyhgp

Juph dwiwlwy (p=1,09-1,1), hwymd wqpiquuip w2uwwnwi-
pwjhG pGngnydwd (w jGmpymln’
B, =1b,B,

B™ =5x%0,35x1,09=1,9 1,
BY =4x0,35x1,09=1,9 4,
B) =4%0,35%1,1=1,32 §:
5. Apnpmud LGp plwnpjwo wgptiguuih pwppwjha phiwnppymin

poinp \bntumﬁgmﬁﬁhpnui‘
R, =K.aB,,

tpt n=3, wpu B, =194,
R =55x1,9%0,35 =23 YU,
tpt n=4, wyw By =1,32\,
Rf“’ =55x1,32x0,22=1597 YU,
tptk n=4, unyuw By =1,32 1,
RZ =55%1,32x0,22=1597 4L

6. Cuwn wgphiquuip hwpqunljuo pwpwjhl npiwnnnipjwl U
pwpywjhG pénipwgntiph, npnzmud - bGP ul\qphqwulh yunpddul
wpwqnipyniGp 15 v,V Lhntuulﬁgnuiﬁhpmd

V"f =6,0 Yyu/d,

: "VLV = 6,65 YW/d,
Vx =73 Qw/d:
7. Qpngnud LGp wpwlwnph pwpzut JhG nidh 0qg-G°
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R
N, =P—q,
P

2
b = 20 6927,
24,8
v 1597
= =0,726
np 22 3 b
v 1597
=——""=0819:
Mo 195

8. Nnnznul Lip wgpiqunh dwiwjhG wpnwnpnnuywGnpymap'
W =0,1B, Vi't=0,1x1,9%x6,0%0,8=0912 hw/d,

WY =0,1x1,32x6,65%0,8 = 0,703 hw/d,

WY =0,1x132x73%x08=0,77 hw/d:
l9llh [ti-}.lt‘unhmph wbuwlwpup dSwhuup wwpptp thnfuGgnuiGhpnid

G
Bu = U/,

h

o148

1 _ ~16,2 4o/hw,
B =0912 Uo/hw
L1438

v~ 198 20,0 yg/hu,
gy 0.703 4q/hw
. 1475

=21 191 yg/huw:
Bau =70 77 /b

Guumwpywo hwpgupyGlipn gniyg GG vmwihu, np hGqupl gnipwufin
Gywmwlwhwmiwg t oquuugnpoty HI thnfuwlgnuimy, huy snpupliu-
GhG IV thinfuwigninyg w2 uwnbithu:

115, Guqibk) quph wgptiqum 4S-75 mpuwljmnpny b MGL-3-350 qme-
pwlm}: <nnh mbuwjwpwp gpiwnpmpymbp uqimd & 8 L/ud?, huly
Jyunh junppjnlp’ 25 wi:

1. Npnymud t0p wwpptp dinfjuwlgnuiGtpnud puppughi mdp U
w fjuwnw ipuwhG wpwgmpimbp’ oquuytjmy htnmbjw puwélbphg’

50

_OISN iy
I, 1,

P =P (P, +P) 4yu,

P

2

I, n

v, =0,377 4% - yu/d :
i, 100/ -

1.5-75 mpwlwnph nkjuGhjuywt pempugqnhg Yytpgiuinyg hudwuju-

wwujuwl SkompymbGiupp [Ny = 554dm, ng = 0,85, r, = 0,355 4,

ng = 1700 ww/pny (28,3dny"), 8 = 8%, im =359, ip =322
i:; = 29] U mbqunpkny phpdud pulwdbbpmd, jumubwlp'
p _ 0,159x55x0,85x35,9
? 0,355%x28,3
P. =Gf, P =Gi 4u,

npuntin’ G = 5850 4q (57,334') -npwlpnnph quGqywd t, £-p wpwl-
winph gnpiwl ghdwnpoipjwl qnpowyhgp, f = 0,05 i -G nuyunh
pupmpmlp, i = 0:

P, =57,33x0,05=2,86 YU, P, =0,

P = P — (P, +P,)=26,56-2,86 = 23,7 YU,

0,377x0,355x1700(, 8 1 _ 5 g3 v/
35.9 100

ZuniwuyjuwinwujuwGupwp hwatnyg ﬁﬁmgmb infuwGgnuiGitnp’
JuunwGwGp’

=26,56 YU,

n_
V, =

Py =21 yu, VoY =6,5 4u/d,

PY =18,6 YU, V=722 Yyd/d:

2. Gufujwd pupwjhG nmdh whompjnilihg npnpmd Llp plngpnyiwb
wnuytpugni )G yuyGnip. jip

B = %

max Koa’
mn :_—22—:1,185 4,
e 80%0,25
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gy _186

3. {bulyuy pwlwdlnyg n
nod GGp gmpwl .
Yuufuud wpwlnnnh pupsh nopg L (PH608Rh pubuyn

4. nnymy LGp wwppbp llln]Luuilﬁ
gnuiGtnh hud )
Pwpzuljhﬁ I}Ilﬁwqpnlpjnlﬁn\ Ilh wuwn quh ll.l(ulhqulmb

R, =K,abn,
Ry =80x0,25x0,35x3 = 2] 4,
Ry =80%0,25x0,35%3 = 2] yu,

Ry =80x0,25x0,35x 2 = 14 YU

5. Npmnud BGp wwppbp |hinfuwa
gnuilt hwd
PwnywjhG mdh oquiugnpOvwG qﬂpéwuhgg‘ wdwp wipwinnph

m 21
N, =——=0,886,
e 23,7

v
u :_—:1,0,
n 21

21
n;’ :I_S_g =112 (sh punjwpwpnid) :

52

6. Npnznud tGp wqpbquuh dwdwih( wpnwnpnquiwlnipmbp
umwpphp hnfuwGgmuGhph hwdwp® pgniGhm) T = 0,8 (wn.17 [6)).
W =0,1B,, V.1,

W™ =0,1x1,05x5,83x0,8 = 0,489 hw/d,
WY =0,1x1,05x6,5x 0,8 = 0,546 huwy/d,

WY =0,1x0,93x7,22x0,8 = 0,537 hw/d:

7. Apnpmd GGp Jwnkjhph wbuwlwpwp dwluup wwpptip thnfuwG-
gnuibpnid’

Buw =5
g = 01,2’889 = 30,26 Yg/hw,
g = (1)’45’_32 = 27,0 Yg/hw,
gl = % = 27,37 Yo/hw:

Quuuwpjwd hwpuwpybbpp gnyg b6 wwihu, np wnjuy wuwjdwd-
Gtpnud Gupuunwliwhwpduwp £ 94-S-75 mpwlunpp MG-3-35U0 qnipwh
htin oquiwgnpdty IV thnjuwGgnuiny:

116. dwpyty U-700 wmpwlumnph htwn wgphquuwynpiwl huniwp
quupwiih hpwGGaph pwGwyp, bpl WY hpwlh pGngpydw G uyGni-
pjnilp hwywuwp t 30 ud-h, gmpwlh ntuwfwpwp pwprwjhG
nhiwnpnpymGn' 5 b/ud?, hul quph funpnipyniGp’ 23 ud:

117. wpduplbty nupwp dmbny owollnt hwdiwn “-S-75 wpwy-
winpny, U-110F uwd U-180F Ygnpphsng b 3£QU-1,0 gupwlny
hwdwpjwo wgptquuth Yuwqdn:

. Cun [6] wymuwy 1-h, npngnid kGp wgphiquuwh wpdiwl
wpwqnipmbp (8 Yi/d):

2. Oquytny (1-11) pwGwdébbtinpg’ npnpnid Llp wpwYwnph wp-
JunwumwGpuyhl wpwgmpiniGhpp b hwiwwywwwuhwl puprw-
JhG mdtipp’ .

PI=251u, V, =52 Ld,
PM =222 b, Vg =59 d,
53



P =193 yu, V. =6,55 yuwad,

P) =170 yu, V, =72 yid:

SYjwy qnponqmipyniip jwwwpbhim  dwdwlwly wb wpé
infuwgnudlbp oquuugnnobip (iupumuxl;whwpﬁ&p zltl, l{tl)w%hpn}ll
Yhuwhungtl wopnubfuGhyuyjwl wwhwG9Gtpnp:

3. ipnymi blp wgpbqunh wnwybjugnyG pangpydwb qwiimpymbp,
hidwGuwny Ygnpnhsh pwpuwyhl nhdwnpnpynilp (R = 2,08 Yu) U
guwpwlh wmbuwwnwn pwprwihbé nhdwnpnipymbn (K = 0,7 YuAd).
P, -R

Ug

i

Bmax
KO

?

i 25-2,08

mex

=32 74 i BIII — 22,2“2,08

’ >

BY =19,3—2,O8:246 5 BY _17-2,08
0 b P ey — 7T 4 &

max
? »

Juwd hwyyh welting tpyhtnp guwpwlimaip’
32,74
B, =72~ =1637 u. B, B

=28,74 v,

=21314

=14,37 o,

nv 24,6 2131
B =—-2——:12,3 4, By, =—é—=10,655 i
4. Opnymd Ghp 3£29U-1,0 qupwlitph pwlwl i

0 ¢ n wgnplquunid
2upddwl wmwppkp dnfuwlgmdfiph L 2,89 4 -
it o e 9 ph U 2, pingpydwl pu)lng

n=—"%,
B,
32,74
' ="2—=11,33~11, nlv=g4’—6=8,5z8,
2,89 2,39
28,74
= > =949~09, n":.———zl’31=7,4z7:
,89 2,39

5. ipmnud Llp wgpiquuwh wyfuwwnwipw
jhé plngpydwG G-
pymbp pun gupwbiph pwiwyp nlinany {wyGnt

B\u = nBli’

54

BI =11x2,89=31,8 0, BY =8x2,89=21,2 1,
B =9x2,89=26,01 1, BY =7x2,89=20,23 u:

bpyhtinp gupwGhph hudwp’ .
Bﬁ:15,9 li, Bfl\f:ll,Sé li,

BY =13,005 §, B, =10,11 u:

6. wpymu bip wgphqunh pupw 1hG nhiwnpmpjnifip dinfjuwignui-
Gtph pGupdwd gmnnud’
R, =R, +KB Ywdi R, =R, + nKb,

R" =2,08+11x0,7x2,89=24,33 YU,
R™ =2,08+9%0,7x2,89=20,29 YU,
RY =2,08+8%0,7x2,89=18,26 YU,

Rl =2,08+7x0,7%x2,89=16,24 ‘ yu:
7. Npnynud Gp wpwlwnph pupw JhG mdh oqq-G°

R
ﬂ = —‘E",
P Pp
o 2433 v 20,29
= 2577 - 0973, =227 _ 091,
e =755 e 22,2
1826 . 16,24017
b = oas = 094, Vo2t = 0,955
M ~ 1936 M 17

8. Ugptquuh wpununpopujuinpjub hupgupyiwl hwiwp pun
[6) wnymuwwy 17-h JtpgGmd GQp wtuwumwduniGuyh ogqq-G
hwywuwp 0,8: Uyn dwiwluly’

W =0,1B,V,1,
W =0,1x15,9%5,3x0,8 =6,74 hw/d,
W™ =0,1x13x5,9%0,8=6,14 hw/d,
W =0,1x11,56x6,55x0,8=6,06 hw/d,

WV =0,1x10,11x7,2x0,8 = 5,823 hu/d:
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9.0pnymy bGp Junbihph wbuwjwpwp dwjup hwpdh welhnyg 3. Uwfujwo wpwipnnph pwpawhl mdhg npnymd ulp qmpwh

vmwgywd wpuunpnipuwinpymbn’ hpwGGtnh phn
ghm w 3 bb ,
- i ytipgfimy Lhp [6]- . 12- ha:
Q l‘lpg lﬁ ﬁp[lhmr}i;z hg nn:‘-lizs,szs, nlll$£§2:4,8z4,
8 = ———=2,19 Yg/hu, 035 035
o7 148 v 13
14,8 n"v ==2—=42~4, n' =—2—-=37~4:
= —— = 2,41 Yg/hw, 035 35
. 614 4. Opmymd LGp Ywph wqpl\iqwulh pupauihG nhdwnpmpnilp
14,75 wwpphin thnjuwGgnuiGbpnud

Ei = =>=2,43 ha/hu, | "RE = 7025175225 Wb,
’ RM =57x0,25x1,4=199 L,

14,70
Buw =75 gy~ 252 Ua/hw: RY =57x0,25x1,4=19,9 L,
Gunnupywd hwyqwplylhpp gnyg 66 wughu, np wypuy w)uw- R) =57x0,25x1,05=149 yu
wwlph hwiwp Guuwuwiwhwpiwn £ 98-75 wmpwhwnpp oguiw- 5. Dpnynud LGp wpwynnph pupw JhG nidh oqq-G°
qnpotj 2-nn thnfuwlgnuiny: 250
118. Jwpjwpyly 9S-75 wpwipnnpny b M-5-35U0° qmupwlm] hwiw- n =—=—-=093,
rywd wopkquwh Yuqip 0,25 4 funprupudp htipy junnwpbihu, bph B 27,0
hnnh whuwjwpwn pwppuyhl nhdwgpnipymGn 57 Fud’t: 19.9
1. fumn (1) pwlwaébliph quGklp wwppkp thnjuwGgnidGliph hwdwp = -—-=0283,
wpuwlyuinph pwp2whG mdbpp b wpwgmpymGupp’ P240
PI =270 v, VI=55ywd, v _199 495
PM =240 yu, VI =6]11y50, ?oo210
PY =210 v, VY =645 4w, = 2 =122 _079.
P
v o_ v _ 18,6
P, =186y, V, =745 Yvd: 6. Opoymd tGp wgqphquuih dwidwjhl qpmmqpnqwliwﬁmp‘]mﬁn
2. GYwhnjwd pwnyuwhG mdtphg hwpyklGp B dtdmpyniGp’ unuppbp hinfunGgniGepnd w2 fuwntihu
w7 =01x1,75%x5,5%0,8=0,77 hw/d,
Bt = 270 9y Bm 280 6oy L
™ 575025 0 ™ §7x025 W =01x1,4x6]1x0,8=0,68 hwd,
v _ 21,0 _ v o 18,6 . WV —_—01)(105)(745)(0,8:0,63 hw/d:
Noo_Sht 148y BY =—> =3 | S g
57x0,25 57x0,25 7. Npnymu bGp wwpphp fhnjuwGgmuGhpnni Junbihph htjuwpuwih

owfjuup
56 57



I 1485

g, 0.77 ,6 Yg/hw,
m 14,85

g =——=218
b 0.68 ,85 Yg/huy,
v 14,8

B =——=205
b = 0702 ,35 4g/hw

8

14
8ow = —— =235
b 0.63 » Go/hw,

Qwunwpyus hwyjwpyGup

0 gnyg G wmuwhu, np
ﬁullumwl;whmpliwp L 128-75 wupulmnpp "l—5-35I;I' (;lflxt;llur%il}\qﬁﬁm
?qqunpbbl 2-pn YinfuwiGgnuinud: "

19. Vwhiwgwpw pa ynu i
wnhjwghwih b gwpwbiswg h
lEYuuynpty wgpiqun® S-1000Q.0 mpwl;mn%nq: Uzwl?&ful%p[ll}ggﬂ:

pymip 0,06 § t, quywnp phpnip =
, , ymip' 1= 0,04 “Tuwpwp hbplyuws t
w2 Gwbn, qupGuGp Juunwpyby t hunGunjmipjuG Ynunwlnu: !

L. Cum Et]l wnwwy 1-h npnymd BGp, np wgjuy wahnwnwtpp -
wnwnbihu wpbqunp whwm A
 pu dp:ﬁ h @ wbwp L ywndh V,, =4 +8 yu/d wpuqn-
- 1pnymu Blp (Ywd pGupmd bip) uipluin
nh pwpywhG
'nuiqnp 66D wanpn dinfuuGgnGhpnt (i, 3 167 T

I _

P =56,0 yu, V,' =3,78 yw/d,
m __

P, =465 4, V' =451 ywoe,
v __

P," =290 yu Vo =645 /g

3. Spwljunph 2whwqnpowljpub
quiquuon hwjwuwp t 1200 yq:
4. Npnynud Llp wyjuy Wuw iwbbpnug (hwzlﬂl wn£h|nq mhl;qlinﬁph
Plipnipymip) mpwlwmnph Pwnzwhl mdp' i =0,04;

P, =P, -0,01Gxi,
Py =56-0,01x1200x0,04 = 51,2 yu,
P =46,5-0,01x1200x 0,04 = 41 7 v,
P =29-001x1200x 0,04 =242 \yu:
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5. SGubtiumpymbmd mGhgwd GN-4U ympmhjwwnpllnhg b 3RQU-1,0
gwpwlbGtnhg Ywaqinud tGp wgphqun: Cun [6] wnynuwy 21-h
quimd tlp GMN-4U ynywhjwunph qubguap’ G, =935Yyq,
plngnyiwl qwjGmpymbp” B, =44, gwpwih pngpydwa ju)ln-
pymGp’ By = 0,9634 b dby onuyh qubiqquon’ G4 =30,6Yg:

6. Npnymu LGp dtYy dbtwp plngpydwl puyGmpjuGl pGyGinng Ygnp-
nwjhl dwuh qubiquop’

G & 935 30,6

B, B, 4 0963

7. Npnymy LGp phpmpjul hwnpwhwpiuli hwdwp wihpuwdbyn
inwgnighy mbuw§wpwp pupwihl ghiwnnmpymGp’

R =0,01gxi = 0,106 YL/

8. Npnymy bdp U-18U Ygnpnhsh qubqyuop’ G, =11584q, wqntk-
quuth wnwybpugqm)li plngpyiwb (wyimpmbp B, =22 A\,
By, = 18 ¢ U Ygnpnhsh qnpdwl nhiwnpmpjul gnpowygh dhont-
pmbp f g =0,20:

9. Npnymy tGp Ygnpnhsh pwppuwyhl ghiwnpmpymGn’ phpnipjul
hwnpuuhwpdwl hwyquodwdp!

Ry = 0,0lG(f + i) =0,01x1 158(0,2 + 0,04) =2,77940:

10. Cuw [6] wn.6-h pGupnud Llp wqpbqunh nbuwwpwp puwpyw-
JhG ghtwnpmpynbp hwpdh weGbnyg wyuwmwipuwihi wywjiwi-
Gepp: Unynpywghuwyh bwdwp® K, =13 §u/l, gupwGiwd hw-

dwp' K_ =05yuAl: Ugphquuh pnhwlnip wmbuwlupup pup-
I By

2w}hG nhdwnnnipmbp’
Ky =Ky +K,; =18+0,5=23 juAn
11. dwpqupymd blp wwppbp thnfuwlgnuiGhpnd wgpniquuh
wnwdbpuegm) b plngpyphmb puympymp’

= 265,45Yq/d:

— PL’ _RUQ
™ Ky +RE
v _512-278 _ 2014,

mx 340,106
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417 - 2,78
Bl =—=2—2"" 216174

2340106
242-278
BW :-\’ﬁ%’_—_-s
™ 23+0,106 924

12. Cun wpwipnnph hinfwGgnuiGh
UnuywhywwnnnpGtph phyp’ 9 nh wopquuinud plngpljyws

n, = Bmax
[} B“ !
20,
n, = PRRELCELES
16,17
n =—-=404r4,
4
892
ny ====223s2

w
0SS pinipywl hupluplhe M o O

13. dupywplnud tGp wgpbiquunh w
uwnwGpuihG G d
twynipynibn pun mpwimnph tinfuwGgnt ﬁﬁhpﬁ‘ JhG plngpiiwa

B, =nb,,
B'=5x4=20 g,
B =4x4=16 v,
B) =2x4=8u:

14. Ugpbiquunmd  gupwiih .
PGl P nh phin npmpmd  GGp  hbwlgw)

g
ng =%:20,78z20,
ng' :5,1566—3 =16,6 ~ 16,
ng :5:3—63: 32~8:
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15, Quwpyh wnltny pinomGwo plngplpiwb w)ybnipymbp, npnymd
hlp wgphquun pwprwihl nhdwnpnip jup’
R, :(lI‘(w +Rgs By +Ry,
RI =(2,3+0,106)x20+2,78 = 50,9 4,
RI =(2,3+0,106)x 16+ 2,78 = 41,28 UL
Juipyh wnlbm], np BS’ =814, wjg phinjuwlgmuinmd wfuwwnwiph

dwiwlwly wlhpwdbyw b Ytpglty U-110F Ygnpnh;s, nph quibquop
hwyjwuwp t 800 Yq: Uy nhypnud’

R =(2,3+0,106)x8 +0,01x800(0,2 + 0,04) = 21,17 u:
16. Npnym kiGp wpwlwmnph pwppwihG nidh ogq-G

. 509
=12-=09%,
Mo 51,2
m_ 4128 0,989,
o417
Y= 2L17 0,874+
24,2

17. Spwlywnph pwppwhl ndl wybh Gupuwmnwiwhwpiwp oguw-
gnpoynud b 2-pn b 3-pn hnfuwlgniiGhpny w)hnuwmbjhu:
Ugptiquuh Yuqdh dbg dwmbmd kG $-100UQ-U wmpwlwnpp, 5 hwwn

Um-4U Ynynhjwwnp b 20 hww 329U-1,0 onulwjhfi gwpwd,

thnwnuuwb niGhybpuwgg U-181 Ygnpnhy:

120. R2G-2,0 gupwlp wyfuwwnwglbym hwdwp pGupbp mpwljpnng:
Bwj(g)u{fih mbuwlwpwp pwppuzhl ghdwnpmpynbip hwjwuwp
1800 “b/i:

121. Opnpbp QUY-6U mnhwbGuph phyp USQ-82 mpwlnnph htn
wgphquum Juqibn hwdwn: .

122. Guqiby gwiph wgptiquun 4S-75 wpwyunpm) b JaAk- 3,6
wppwguiny: '
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V. UL muabhpute

Uju pudnud pipdwd 66 hhdGulwGnid w)lyhuh gnpoGwljui
luGnhpGbp, npnGp hwGnhynmyd b6 dpwhwpnyutinh hpywlnmpjma-
Gbph U JGwuwwmGph nhi phihwlwl wwjpwph, gulph, phppw-
hwuiph b w)p dbpkGwtph pwhwgnpodwi dwdwlwy:

Ujwmnbn phy 123 - 132 hubinhpGtph puodwi dwdwluly yhwp
t oquujti hhiGuijwGnid htwnbjw pwlwdélhg’

v, =209 g,
B,Q

w

nputn” V, -6 wgpbquwh ywpdiwG w2fuwnwbpwihl  wpwgm-

pymGa t, YW, g-6 pntGuwphihjwuh uwd wy Gnipbph pnytawyw

owhuup, Yg/nnuy, Ypny, B, -6 wqptqunh wyhnumuGpuhG nbn-

%ﬂpimﬁ lwylmpymbp, o, Q-G° Gymph Jwnmgiwl Gnpdwd, Yg/hw,

/hw: )

123. Npnpty USQ-80 wipuijinnphg k& O4US-1U unulhshg pwunlugud
wqnkquunh pwpddwl wpwqmpymbp, bph npw dhly pGpwgph
dwiwlwly upulymd & 6 & sheywppwjhb mwpwonpjudp wunu-
unt wjgh: Upulpynn momph dwjuuh Gnpdwé 600 /hw L, by
owjpwwwlwyhg dwhup' 1,5 ypnw, dwjpwwwGwlGhph pwliw-
4pn' 24 huwn:

v, =299 g,

. w w
mpubn’  q=q'n=15x24 =36 ypny,

_600x36 _
6% 600

©Bhy 133 - 180 lulnhpGhph ;métt hwdwn whnp L oquiyli] Gu-
lunpn pwdhGGhpmd phpyws pwGwélbbphg:

124. QubpwjhG wwpwpumuympwgnhp qwpdynud £ 8 ju/dwd wpw-
qmupjuip: Mupwpuwbnph dwnmgdwl GnpdwG 600 Yg/hw t,
gniwl wyGmpymGp' 10 d&: Npnply 0,1 dwdnud dwwunmgynn
Wwnwnuwbyniph puwwyp:

125.6°G; pwGwympjwG ubkpd Jwpnn t guls UQNE-3,6 JwippuguiGnp
wlmdh 15 wwmjnGhph pGpugpmy, btph gwlph Gnpiwf
150yg/hw t:

126. b6 wpwgmppudp whwnp t updyh upulhsn, tpt Gpwe pln-
anyuiwG quyGmpymGp 4,2 4 t, thnphwgGnn owjpwuywlwybtinh
pwlwyp' 18 hww, dhy owjpwajuwlwyhg monyph dwfuup
0,5/pnyy t, pmwphdhljunnh dwhuuh GnpdwG’ 3060 /hw:
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127. Npngky, pb np thnpuwlgiwl wnwl wybwup b wyluwnmp S-250
wnpuipnnpp bgpyywwgnpGh gulph hnpnndwé dwdwlwy, bph
duwldmd t 8 wpp, dh9ywpuwjhl hbnwynpmpymbp 900 dd t,
pniiwphdhuwuh owfjuuh Gnopdw@ 80 Yg/hw, hul poubiwlul
owfuup' 4,8 Yg/nnyy:

128. Apnpty pmGwphihjuwwh pnwybwlwl dwhuup tqhujwmwgnptGh
8 2uipp thnynutihu, bpt dh9pwpuyhl hinwdnpmpymbp 900 W L,
pntlwphdhuwwmh dwjuup' 80 Yg/hw, mpwliumnph 2wpddwi wpw-
gnipjnlp’ 5 Yu/d:

129. Opnpby pniGwphihjuwwmh pnwybwlwl owhwup tghupmwgnpblh
8 2wpp hinymnbjhu, tpbt dhgwpuyhG htnwynpoipjnilp 700 ¥4 t,
pnilwphihunh owjuuh GnpiwG™ 80 Yg/hw, mpwlwnpp pwnpd-
Jwl wpugmpjmGp' 6 Yi/d:

130. B°Gy wpwgnipyudp whwp t ywpdyh hingnnyp, tph pGngpy-
dwl quylmpmbGp 7 4 L, pmGuphihlpunh dwhuh GopiwG
90hyg/hw, huly pniGwphihjunh pnybwliwl dwiuup' 6 Yq/pnwy:

131. GqhuyjnmwgnptbGh YniphGwgywdo pwnhwlh dwdwGwy MAOR
dbptlugh Jpw wmbtnuyuygwd kG 6 owpuuwiulltp: {wydup-
Yty pt h°l; wpwgmpjudp wbwp L pwpdyh wqpbquunp, tph
htipphghnGtph dwwmgiwl GnpdwG 200 /hw t, dhwdwiwluly
dwlynn wppbph phyp’ 6, htpphghnh dwjuup dkl owjpw-
wwlwyhg' 1,2 ¢/pnuy :

132, P®G3 wpwqnipjwip whwp t gupddh upuyhsp, tpt wyG shwdw-
dwlwly dywlynud t 6 pwupp Yuwpnndhy, dhopwnpwjhl hl\imuqnpm-
pyuGp 700 dd L, pmbwphihjuwunh dwhuuh GnpdwG 3001/hw,
Jjmpuwpwlsymp 2wpp Wuwlhdnd b 3 owjpwuwbulylibpny, hul
pntGwphihjuunh owhuup dtY owjpwuywbwyhg’ 0,6 (/nnyy t:

133, Oppw®G dwybptiu Yuwpnn b hwjupk) UG-6 ymipw)lp 8 duni
uuwwmbhu, tpt hwgwhwwhyh (gnphlh) phppwwynipinilpn
42 g/hw t, huy hwwhyh U onnunh quGquottph hwpwpbpnt-

niGpn 1:1,5:

134?Jﬂ[n%g hGdayty t GU-2,1 dhwhtowl wmpulpnnpujhG hGéhyny b
nupuyby tpynt pwpphg Uty qwuh éuny: Qneh pppwuynipymln
2000 Yg/hw t, hwwnhyh b gnqgmbGh qulquaottph hwpupbnni-
pyniGp 1:4 b Opnplty, pb h°G; wpuwgmpjudp Ywpdgh UU-5
ynipw)Gp jwubkpp hwjwpbihu b Juubijhu:

135, Lwlh” GuNr-20 ynipwjGh upnn b uyguuwpyby dby GUN-15L
Jwpunnphwwntvwlunjnphs dbphlwd, tph YndpwGabpl wfuw-
nnud bl USQ-80 wipwywnpitph htw wpwohl thnfuwbGgiwG
wnwl, huy Yupundhh phppwwympymbp 250 g/hw t, htppuw-
thnfuph dwdwblwlh oqq-G°0,7:
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136. &M-140 junwh thingfuny U USQ-82 wnpwliunnnpny Ynduwyh
Unph] wqpbkqunn, Lipk thn et

13719]3%&0 0?71111% iy pli th qu_h wbuwlwpun pwnzwjhG ghdwnpm-
- CO0unk wpwipnnp GQUS-1,4 Yupundhpupwi hwiw :
(pw whuwlwpwp puppwjhi r}hﬁwqpnll)p Jm%in 6111{1{11/115 | . bpk

138, Qupgwnlty S-150 upwyunnph hbn wjuwwnnn gmpwlh hpwG-
ltph pw(wyp, 2lipli hnnh whuwlwpwp pupyw Jhi nhdwnpn-
pjniln 0,6 Yg/ud” t, huy Ywph funpmpymbp’ 24 w:

139. AG-3 ujwjuwrwyudnp guwpwGh hwidwp plwpt; wpwlnnp,
]l;;ph gwpwlh whuwlwpwp pwpywyhG ndwnpmipymbn 2,5 {u/d

140. US9-80 wpwlywnnpny b GMU-4
lwhjwwnpm] Yndwbymw-
Unpby wqpbquun, bpb npw whuwlupw -
141PJSL%E YT Ywpwp pwpzwyhé nhiwnpm
- Unuykjuuynpti gwlph wqphquwn' puniugwy “+S-75 w
5 wmpuwly-
winphg b UQNF-3,6 )wppwgubhg, bph Ytpohlhu mhuwl{wpu:lp
pwnzw)hG ghnfwnpmpymtnp 200 yg/s t:
142&11[1131111%!111[11!;;}3-5 l;lpbuélmlahzéx lEuzhluqlulmuEi,t_)h hwiwp wihpwdtyn
wnph mdp, kph bptiujwphsh wbiuw -
JhG r;hﬁwqpmp Jmln 260 Yg/d t: b2 emn pupw
143l.nhfl]1 l{llmtrxllpwqhmréph htiun hu;hmp t whwwnh WOL-2,8MU 4nyy-
pp, Lp w wnbu
1 4120 T nn whwpwp pwpywyhG ghiwnpmp)mbp
44. Npmt; S-1504 wpuwinnph htn wqpk
[ quuiwynpynn UQ-3.6
2wppwguwibph pw6wlp, tpt 2wnpwgwiih wnbuw -
2wyhl nhdwnpmp)niGp 220 oAl L: upn pun
145. , Chwpl wpwhunp UYL-60 vwohpumbyhsh hwdwp, bLph
14 YtipghGhu wbuwlwpwp puipyujht nhdwnnmpymtp 200 Y/ t:
6. ipnpti $-40U. wpwluinph hbwn w2 fuwwnnn YU-2,1 funinhGahsh
?uhlgwaél&uwdhl? wéllixlu;ql?émwmuﬁmp)mﬁp 3-pn thnhuwlgnuing
2[uwwntijhu U Junkihp YunwpwjhG dSwjuup, tpk ht
147dwgwﬁl§l{h (7dun) 0qq-G 0,85 t: fu, tp rpwihniup
- Npngtip S-40 wipwyuinph htan wgpbiquununnpywo MU-1,6
huwwphs-dwdihsh hppunhnfuwjha wpuunpnnuiwinpnitp ’h
Junbihph swhup 1-h6 \hnfuwbgiwa huwdwp, bph fjuninh phippu-
glgllmp_]mﬁn 23 g/hw t, htippunhnfuh dwiwGwlh (7dwd) oqq-G'

148. Npngby MLM-6-35 gmipwGh hbppunthnfuw
JhG wpumunpnnuw-
gIIIILI%'Etﬁﬁnwlsi-lll 50 llj:lﬂ[;u;hﬁl:{[;h 2-pn \hinjuwGgniny wztummhlllpu:
wntithp wwpwjhl owhiup, Lph hb
duwiwlwlh (7 dwd) oqq-G 0,85 L: . Lp ppuwtiafu
149. Jdwpp Yuwnwpynud £ 4-701 wpwlpnnphg b MSU-9-35 qmipwilihg
Juwqijwo wgphquinn: Npnyby wgpbquinh dwdwjhG wpnwnpn-
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nuliwlmpynlp U qurtihph hkjmwpwihb owluup, bph Jwpdiwi
wuwmnwGpuwhi wpugmpymbn 8 Ji/d t, hippunpnjuh dwidw-
Gwlyh (7 dw) oqqg-G* 0,85:

150. $-1504 wmpwlpnnpp 1-h6 hnpuwGgiwl wwl wfuwwmmd t £9-10
ujujwnwywynp gupwblh htwn: Npnpk) wgphquwnp thwuumwgh
dwiwjh( wpununpnpuwiwlimpnip b Juntihph bbjuwpwjhl
dwjuup, tiph hippunhnjuh dwiwbwyh (7 dwd) oqq-G 0,39 t:

151. Npngky, pt 8 dwd Ywpmp dudwwlynid pwGh® hbjuwun Jupbih
E qupby MLL-3-35 qnipwlny USQ-80 wmpwlunnph 4-pn thnfuwG-
gniing wyfuwwmbhu, hph hhppunhnfuh dwdwGwiyh oquuugnpd-
il qnpowlhgn 0,89 t: Apnptip yuwntihph hijmwpwjhl owjuup:

152. Qpnghp 9S-75 wpwywnphg b ULQNER-3,6 dwlylhyh 4 Jwppw-
gwlftphg pwnugwd wgphquunp wpnwnpnpujulnpminp u
Juntihph hiynwpwihl dwuup mpuunph 3-pg dinfuwGgnuing
wy fuuwntijhy, bph hhippunhnjuh dwdwGwiyh (7 dwd) oqq-G 0,75 t:

153. Swlipp Juwwpymyd t USQ-82 wmpwlwnphg U tpym ULNF-3,6
2wppwgulGinhg pwnjugwd wqphquuiny: flpnpkp wgpbhquuih
hippwihnjuuwyhG wpmwnpnnnuyjwinmpynGn b Junebjhph htluw-
pwjhG owfuup, tph hippunhnfuh dwiwlwih (7 dund) oqq-G 0,65
t'

154. Npnpty 9:S-75 wpwywnnphg b QUS-1,4 Jupundhpupwbnhshg
punjuiguwd wqphquuh wpununpnnuiuimpjmip b Juebihph
htjunwpwyhl dSwluup wppulpnnph 2-pn hnpuulgmdnyg wyhuw-
wmbihy, tph htippuhnjuh dwiwbGwyh (7 dwd) ogq-G 0,75 L:

155. YUU-2,6 uphjnuwhwywp §ndpwjih wyfuwwmwlpuwjhG wpwqni-
pymGp 5 /dwy b Opnpby nppw®G GUQ-532 wywnibtphifw E
whpudtyn YndpwjGh vywuwplyiwl huwiwp, btph hghwyww-
gnptiGh vh9pwpwjhl nwpwonpjnilp 60 ud t, phippwwympymbp
400 g/hw, wbnuinpuiwi hbpuwdnpupymbp 5 Y, Ymipw)Gh
htippwihntuh dwdwGuyh (7 dwd) oqq-G° 0,65:

1. Opmnui GGp YndpwjyGhlG uvwwuwpynn wmmibpblwGhph
pulwlyp

. Wilg  6,72x5x40
oW 200

h
npuntin’ Whmulj -n wywndbptGwjh htppuhnfuwjh6 wpunmunpnnuijw-
(nupymiGG L, W,'," -6’ YndpwjGh hbtppwipinfuwihG wpumwnpnmuljw-
(nipjniGp, hw/ htnppg:

W} =0,1B,VItT, =0,1x2,4%x5x0,8x7 = 6,72 hw/htpp,

=6,72~7,
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npntn’ B -G Yndpw)Gh upfuwnwGpujhG plgplyswG pu JGmp GG t;
L 0,6 ¢ dheywppuihG nwpwonpyjuip 4 wpp hGatim ntiuypmad
Yuqinud t 2,4 4, Vlﬂ -6° YndpwGh wpfuo w fuwwmwlpwjhG wpw-
qnipjniGp, 5 YWi/d, 7-6° htppuhnjuh dwdwGuyh 0qq-G, 0,8, T, -G’
htppuithnluh wbnnmpjmGp, 7 dwd, £ -0 ptrm] wqph bpYwpni-
pinilip, 5 4d, g-6° plippwwnympjniGp, 40 w/hw:
Wy = WPNT =28 6% 7 ~ 200 wlji/htipp,
npunbn’ W;“ud 0 wjunibpblwih dwdwjhG wnununpnnuyuGneg-
pymll t, wyi/d,
W 195

\le“i = —= =286 u/d:
ty 068 0 Y

Uyuntin' W LLMN"E tnph wpnwnnnnuywlnp mGa b wl/bnp, t,, -0
tpph wunymp nGp, dund,
i _ _
W =Q 0, =39%x5=195, wlji/tpp,

nmntn’ Q, -6 wywnikpkGujh puithph ptinh quiGqyweéG E U
thhmhjulli pulwdbm] B pinh quiad U npnzimd

Q, =YVK =0,45x9x0,97 = 0,9,
npntn’ Y -G uhinuh dSwiuyuyhG quGqyuoG t, y=0,45 wi® V-G
Pwihph Sunjwin, V=94 (pupépwgiud Ynnipnd), K -6 pwihph
19wl gnpowlhhgp, pn. K = 0,97:

h

un 3)9
oy = 1 =0,975 (pnypwwnptih t):

Ujunbin Q, =4w -G wquindbphGuyh Gnpduy panGuwnwpnnnipymGa
t pun Gpw wkfuGhyulwG pnipwgph:
62,5¢
= "+tp+tn+tuz=62’i
V. ¢ 25x0,45

=40,8 pny = 0,68 dw,

+4,9+3,6+4,5=

tinp
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npntn’  V,, =25 Y/d —p wjwndbptluih wnbjuGhjulwl wpw-

qmpymb6 t, ¢ =0,45-p’ Jwqph oquuugnpowl gnpowyhgn, t,-G°
wyunnmitiptlwh puwthph 1gdwl wunnmpymin, poyb, t-G0° pUILIIQh‘
nunwpytwl mbnnnipymbp’ 3,6 pnuyk, t,-6" Ypndwl nbnnnipyniln
4,5 nnuyh, '

600
i, - Q600  3,9x600 _ 4.9 pouy:
gB, V)  40x2,4x5

156. UU-6 YnipuyGp’ pwpdybiny 9 Yu/d wpwgnipyudp, hwwpnid
t ulylntinh wpdwwwupnninGlp, nph phppunynpniln 280 g/hmu
t: Nlpnzt; YndpwyGhG vyywuwplynn 9UQ-532 wjuindtpGubhph
pwlwyp, tpt mbnuihnhudwG htinwynpmpnilp 2 Yu t, Yndipw)Gh
htppunhnjuph dwdwGuyh (7 dwd) oqq-G° 0,7: .

157. fipng UG-5 ymipwyGhl vwyyuwuwpynn 2,5 m wwpnnmipjniG
niGtignn wywnnubkptlwbhph pwiwYyp, bph hwgwhwwpyh phppul-\
nynipjnilp 25 g/hw b, hwwpijh b onnunp hwpwpbpnipymGp
1:1,5: UywmnibiptiGuh pupdiwb shehl wpuwgqmpimGp 30 Yi/d t,
pupddwl U pinGuwpunhdwl duniwGwlyp' 20pny, ntnunhnfuiwl
htnwynpupymGp’ 5 Yd, Yndpw)Gh htppunhnjuh dwdwlwyh
(7dw) oqq-G'0,75:

1. Opnymud bBGp YmdpwjGh vwhdwGwihG wpugnipymGp'

Vuwhﬂ = 360q = 360)(5 =7a2 lllj/ds' Vw = 7 lll.i/d,
gB, 62,5x4
npnbn” q -G ymipwyGh ponniGuwympymbG £ SygAny, g -G° pippw-
wnipymGp, 62,5g/hw, B, -0° ymipw)Gh pGngpldwl pw)Gnipynilp’ 44,
g=g,(1+8,)=25(1+15)= 62,5 g/hw,
g, -0 hwwhyh pippwnympymGp’ 25 g/hw, 8,-G° hwwhyh b dnnwh
ququéGhph hwpwpbipnipymGp' 1:1,5:
2. ONpnynui wGp YymipwyGh huppunpnjuwyht wpwwnponuuGne-
pnilp
WY =0,1B,V,t T, =0,1x4x7x0,75x 7 =19,6 hw/htpp:
UyundtiptGwjh tpph munnnipymGp’
62,5 ¢, i _ 62,5x5

=" F 4t =
tbFP Y ® rn F7] 30 x 0’45

)]
Uty tppnud wpmuwnpnnuijuGmpyniGp’ _
Wo =Q,¢, =2,5x5=12,5 wyi/bpp:

+20+4,0=47]15 pnu:
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UyunnitiptGwgh dwiwhG wpnunpnnuijuGnep Aatingy
wnyd
Wmu,j — Whng 60 _ 12,5 X 60
tonp 47,15
UywndtiptGu)h hippuinfuwh6 wpnwnpnmuus GnipyriGp'
W = WWT, =16,9%7 =118,3 wlpi/htipp
3. UndpwGhG vupwuwplnn wdumndbpbbwph puwGwyp
Wygl, 19,6x2,5x5
nw = hd =
A 118,3

158. GUNk2U ynipwjG6 wpuwnmd & 90-S-75 wiplpnnph htwn 1-hG
hinfuwlgiwl wwly: Gupunndph phppwunympjniGp 220 g/hw t,
pinfwpunpiwG wbnnmupyniGp’ 1 powl, wbnudinfudwG htnunn-
pmpymbp’ 12 i 3 w pinfwnwpnnnipjundp pwGh® wjungtptiGu
L whpwdtyn Yndpw)Gh vywuwnpldwl hwdwp, tpk Ynipw)Gh
htippwihnfuh dwiwbwyh (7 dwd) oqq-G 0,7 L:

159. Qwgwhunnhih hGdqwod puubpnd hwanplyh wuwpnGwynpymbn
50% L: Dpmpty UG-5 «Ghjw» Yndpw)GhG uwwuwplng wywnn-
ubptGwltph pwGuwlyp, tpk hwwhyp wbnudinfudnd ¢ 4 Yu htinw-
Ynpmpjul Jpw: UdundtpkGwjh phinGwuiwpnnnpiln 3 w t,
puwpddwb U pinGuwpwigniwb wmunnnipjmGp’ 20 pnw:

160. Nppw°G AUL-UUL-3502 wywndbiptGu t wihpudbyn USQ-80
wpwlunph htn wopbquunuynpyud Ub-1,5 hGahs-dwlphsh
uyuwuwpydwl hwidwp, bpth npwlnnpp pwpdymd L 2-pn thn-
JuwGgnuiny, Juwlw; qubguoh pippunympjniGp 400 g/hw L,
huly mtinuupnjudw G hbpwynpmpyménp' 5 Yu:

161. Opnpby 9S8-75 wpwlwnph SwpdwbguihG mdtpp 14 -ng
infuwigniiGlph hundwp, tph wbinubph pwpdpmpymbp 1000 U &,
pbpmipjnilp’ 5%, Yuwumlh dtptGuwjh quiqluop 710 g, wgpn-
dnip’ Gnpiwy funGwynmipjub funqui:

162. Nipnpty USQ-82 wpwlunph pwngwjhb (GwpdwbnguhG) nidkpp
2+4-nn YyinfuwGgmuiGhnh hwdwp, bpb wjl wepbqununpywd t
UQ-3,6 wppwgwh htw, wbnubph pwpdpmpymGp 1200 o t,
phpnipjmilp’ 3%:

163. fipnpty USQ-80 wipwlywnph SwpdwlnuihG nidbpp GMU-4
Yuwlungh Ynypnpjwnnpp htn wp juwwnbihu, bpb nknuiph pupd-
pnipjnilp 1400 U &, ptipnipymibp’ 4%:

164. Npnptiy MLVL-5-35 qmupwlh puppwyhG ghdwnnmpjniGp, bph
Yupj funpmpymbp 22 wd £, mbuwlwpwn pwppwihG ghswnpnt-
pjnilp’ 0,6 Yg/ui?:

~ 169 wmljy/d:

=2,07,p6n. n, =2 :
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165. Npnat 4S-75 wpwlpnnph Jwpdhsh phnGjwompju (hgqnpnip-
Jwl oquugnpotwb) gnpowlgh wpdtpn lunquGh Yypw MLG-4-35
qnipwing Jup Yuunwpbjhu, bpt  wpdiwG  wpwgnipjniGp
6 Yu/dud t, gmpwlh mbuwywpwn pwppwihG nhywnpmpymbp’
0,5 Yo/, Jwph funpnipymGp’ 25 ud:

166. Nipnpty 3S-75 wpwiwnph wpdiwl wuwwwlpwihG wpw-
qnipjnip 3-pnp hinfuwlGgiwl wnwl wyhnwnbjhu, Gph wbnu-
upunnijuh gnpowyhgn 4% t:

167. UU-14 wpdhsp 5 dwd 36 pnybmy dwfuub t 60,5 ni’
nhqtjpujhG Juebihp: ﬂpn;hL yuntipph dwiwjhG owluun, tph
Gpw funmpjnilp 0,86 g/ud” t: ‘

168. Muinunwsunhny npnpyby t, np %-21 pwpdhsh oG wdéb jhubkep
4pnyt 304npYy Yuwwwpbty b 7320 wywnyuw: Opnghy gwpdhsh
wunundwl hwdwfunipmbn:

169. Mdwsunhp gnyg t wyhk), np USQ-80 wmpwlpnnph qunpdwG
nhiwnnmpjwl mdp lunqubh Ypw rwpdytijhu juquinud t 2,70 yu:
Npnzty gunpiwl nhdwnpmipjul gnpowlgh wpdtipg, tipk mpwl-
wuinph qubqyuon 3200 yq t:

170. Npn2ty Y-700 mpwipnnph qinpuiwl nhdwnpmipjul mdp qupwo
nuup gupwhbjhu, tph qupiwb ghdwnpmppwl qnpowlihgp
0,18 t, huly mipwljinnph qubqquon’ 12000 Yq:

171. Spujunnph gnpiwG nhdwnpmpjmGp upwé qupummd wfuw-
wtijhu 3,6 YU E: Opnpb mpwlywnnph qunpiw6 phdwnpmpjwl ndh
hwnpuwhwpiwl hwdwp wywhweynn hgnpmpymGp 4,5 Yd/dwd
wnwgnipjudp 2wpdytihu:

172. dbptjph hwnpwhwpiwl hwiwp wpwiunnpp owfuund b
3,2ydw hgnpmipymiG: Opngt yupbph ghdwnpmpjul mdp, bph
wnpwlwmnpp 2updynud t 4,4 {i/dund wpwgmipjudp:

173. $-40 wipwljnnpn 900 ¥ tpyuwpnipyniG b 54 0 qwyGnmpyml niGb-
gnn nguunid w)fuwnmy b 6 4 wpjuwnwlpwjhl plngplydwa
(wyGnipyniG niGtgnn dkphtGuyny: Opnpbp wqphquuh wfuwnw G-
puwjhG b wwpww pGpwgpGuph tpwpmpnGp b wfuwnmwG-
puyhl pGpwgph gnpowyhgp, bphk wopiquup wpdymd
«Jwpnpwdl» inuiwyny, Gpw 2pewnundh Jwnunjhnp 4 4 &, Gph
dbkdmpymbn’ 0,5 u:

174. Nipn2ty -S-75 wpulwnphg b MLG-4-35 gmpwlhg punjugud
wqpbquuh upfuwuwnwbph dwdwGwl Juwnbjhph htljunwpughG
owhuup, tipt 1400 4 tpupmpyudp b 56 0 jwjlnipyjudp nuwp
Jupnid t 10 dudmd, nphg wyjwpwyy pipwgph wbnnnipjnilp Juq-
dnul £ 0,25 dwd, JulqunGtph dwiwGuyp 0,5 dwd, 1 dwijuw
Junbthph owjuup  wphuunnwlpwihlG pGpwgph  dwiwGwly
Juquimd t 10 Yq, wwpwy pGpugph dudwlwy’ 6 Yq, yulqunh
dundwlwy’ 1,2 yq:
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175. MU-3-30 gmipwbh nhdwnpmpymbp 12 YL t: Opngpbp Juwph jun-
poipymGn, bpt gnipwih wtuwwpwp puppuphl ghiwnpnipymGp
60 LA t: Lwpp uwnwnynd b hnphgnGwlut mbnuswunng:

176. ©%S-75U wmpwYwnpp NLG-5-35 gqnipwnyg hnphqnwjwl wnb-
nuiwunui Yuwumwnpnad t Juwp , aph junpmpjmép 20 ud l;5 gnipuih
nbuwlwpwp pwppwihG ghdwnpmpmbp’ 0,5 Yg/ud®: Qpnyby
upuyunph pwppwjhG nidh oquuugnpotiwi gnpdwlyhgp, tph
GwpiwGnwihG ndp Yuqind & 1980 yq nid:

177. dwph dwiwbwly 94S-75 wmpwymnph wunnubhyh wyyunnounmw-

- pytpp wluwwnwGpuphG plpwgph dwdwlwly Yuqikp t 60
wwnijwm, hull wwpww ppwgph dwiwlwly  S57: Opnybg
mtnuuwunynhk gnpowlhgh wpdtipp b wgpbquunh wpddwi
ufuwnuwlpwihG wpwqmpiniip wmpwywnph 2-pg hnfuwigiwd
hwiwnp:

178. Swlph dwiwbwly US2-80 wpwlhwnph unubnn w6hyGhph
uyunmunwplipp w fuwnwlpwyhi ppwgph dwdwbwy Juqib) b
50 upnnipn, hull wwpwuy ppugph duniwGwy' 45: fipngt) wapk-
quuh  wluwwnmwlpuwihG wpwgnipnilp  3-pn GinfuwlgiwG
hwdwnp, tpk wmwbnn wihyh wijwnnnh ndpnpiughush gnpow-

agn 0,8%:

179. 4S-75 mpwluwnphg b MLUV-4-35 gqupwilhg punljuiguwd wgpb-
quwh dwiw)hi wpnwugpnnuiywioupinip 0,75 hw/d t: Opnkg
Gpw wpdiwl wyuwwmwlpwyhG wpwgmpnifip, tph qmpwfih
wuwmubpujhl plinggnyowl ywyGnpynmiGp 1,449 &, htppunpintuh
wmbnnmpjnilp’ 7 dwd, wyuwwmwlpwihl duniwbwyp bippwihn-
funud’ 5,6 dwd:

180. dtptph hwnpwhwpiwb Yypw USLQ-80 wmpwlunpp dwjuum t
hp GnihGw; hqnpmpjub 5%-p: Opnpby Yuptiph nhdwnpnipjuwG
mdp b mbnwdwuh pipmpjul wiynibp, bph wpwyjwnph wnpd-
dwl wpwgmpniln 8 Yu/dwd t;

©hy 181-186 uGphpGtph muodwl dwdwbwl whnp b oquudby
‘hbnbjwy pwGwdbtiphg. :
1. Gnmipw)Gh6 vuyyuwuwplynn wdundbptGwitph pwiwyn n, = t,/, ,
npubn” t,,, -n ghlyih Ywd tpph wbnnmpymib t, dwid (anw), t, -6
wyunnitipbwih pwpédwl wbnnmpymbp, hwydh wowo Gubk {mi-
pwyGhG dnnbGuym b Gpuihg hbtnwlwin dwdwGulyp, dwy (nw):
2. Jwnbihph dSwjuup hippuwdinfunud’

w) w)l dtphlwbbph hwdwp, npnlp 366 pwpdynd  plpugph
dunfwGwly’

By { £ony, Sy b
=L B op |+, WO 10250, yhupp,
dh 100 [ aq 0 100 tpp VY wnljd gpp UDOIP
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p) plpwgph quniwlwy pupdynn utipbGudbph hwdwp

e g :
G. = Bua, f&rl,“i‘i+ 2, +—1£2——£mnbnp +1—“(;“§nbmwm +0,25n,,, 1nbnp
00 oy 100

npwbn’ gyg, D 100 yd Ywaph hwpiny Junbjhph gwhuuf t pbnh

wtnuuinfuiwi duwidwlul’ (np, Bys, o 100 Yo Jwqgph hwyny

Juwnbihph dwiuup tbptGwG pGpwgph dwdwlwy hnﬁpw]ﬁt{ghpwgél;
Whw g, = L28y o £ ,-0° ptnng Juapg, Uy, Ny, -0 GRPUR
2 1
pwiwyp htppwihnfunu, £,-0 wGnbtunypmbhg vhisl pwpaiwi
Jupp Lrwd htnwiynpmupymip Yy, £ -6 pGpwgph duniux(i(liul{
puipaybiiu whgwd Gwlwuywphp Y, gy 100 wlju mztuunnu:i hp[;
hwpyny wnbihph dwluup, N umpmmnwmnpwg‘l‘lpﬁ gwndbzh n
hwdwp 2t t, puly nhqbpwhGh bwdwp” 1,3, ;y"’““:;ﬁ ﬁ[lial:lh uﬂig
; -’ pinfwpunuuw
wGnipynidp wyd/kpp, 0,25-p' p
ﬁﬁﬁ?ﬁ;ﬁ&h Jwnbihph dwjuup jnipwpwlsjnmn tpph dwiwlul,

wmp/bpp: \
l3IT L{lumhmph pwjuup 1 wnyd-p huniwp
th .
By = _VVT nyu:
il
- -554
o1, e R S
wﬂmnﬁhpbﬁmﬁhpb pwlwlp, S i At
wwd uyGmpymGp’ 2,5 4, U2 1 L
nilip § U4 L onan! h6 quiquuop’ 045w,
Gn' 30 w/hw, upnuh dwijuipu)pt g ;
&ﬁﬂﬁ%&f jh Gnpiw phnﬁwgmggmgp}gg;%ﬂﬁﬁl Sﬁ:ﬁﬁbzml‘;i
G 100, pnh wbnuinfuiw ; i ,
Illlillill?l;lpli’gxl)h%w jh wbkuGhyuywl wpugntp e’ 25 Qi/dwid:
Q, =V7K=10x0,45 x1,0 =45 w, .
pwih np dhpkGwjh phnGwunwpannip jnilip 4 £, wyw plnmGLap
Q, =4m,

QU600 __4x600

= L= = 6,4 nnuy,
P gB VY 30x2,5x25

t
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62,5¢,
—r +t Lyt =

tene

_62,5x2
T 25%0,45

t 21,36
n, = —h':—p = —— =~ 3 wyunitipllw:
t 75
t, -p hwzyh t wolmd Gl YndpwyGhG $nnbbunhu b hinwGwihu

wyunnitiptGuih dwilpiwl dudwlwyp (Unwn. 1,1 pnyh):

182, 5-280 junuhGdh; dhphGujht vwwuwpymd b 94-UVL-534
hGp6wpwth wjwnitipiGwbtpp: Apn)bty ppnubg pwiwyp, tpt 4 ¥
péngpyiwG pwyGmpyudp hGdhs-dwlphyp wpdynud & 6 Yi/d
wpwgnipjuwdp, funnh phppuwunynipnilp 60 g/hw t, dwlpugywd
Junnh dwuipuyhl quiGqyuap’ 0,5 w/s?, wywnitplifwih puhph
owqun 6 ¥, phnfwwiwpanmpiniGp’ 3,5 w, wtjuGhjuijwé wpw-
qnipynilpn’ 30 Yui/d, mtinuihnfudw G htiewynpnipyniGp’ 3 d:

183. Q.U19-530 wywmnitipbbwiny nwywhg ywhtvnwpwl t wmtinu-
infuynud ywpundhy: Opnpty Juebihph dwjuuh GopdwG lnlyd-h
hwdwp, tpt wbnuhnfuiwl hbewynpopymbp 2 yd t, tpph
wpunwppnnujulnipymbp 7,7 wmypd/tpp, Juwqph oqumuqnpdtwi
gnpowlhgp 0,5, wmbwmbiunipnibhg dh6sk nuywm’ 4 Yd, Juetiihph
owjuup 100 Yi-h hwpinyg™ 30,6 1, 100 wmipi-h hwpim]” 2 , tpph
wbnnnipymbp’ 58,3 pnyw, htppunhnjuwh6 wpwmwnpnnuijune-
pymip’ 55 myd/htipp:

: T, 420

+6,4+3,6+0=2136 pnw,

= =——=7 lpp
ting >
b 58,3
6(2 |
ah ____3_0’_ ><7+2><4 +ix7x7,7+0,25x7:13,225[/hhpp,
1004 0,5 100
?nw = }:;’SLSZS = 0,22 \_/ml{li

184. Qb -UUQ-554 wjnndptGuyyny mbtnquithnfugnud £ uhinu: Qpnytg
Juutithph dwiuup 1 wyd-h hugyay, bpt mbnudthnjuiwt bnugn-
pnipjnifn 2 Yd t, tpph wbnnmup)niGp’ 21,36 pnuy, tipph wpuwrn-
nonuuGnpniGp’ 8 wyd/tpp, htppunhniuh wpumugnonuywbne-
pjnGn 157,5 wywhtpp, gy, =391/1004y, g, =46,81/1004y,
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oy = 2100wy, Yuqph  oguugnpdiwb qnpowlhgp’ 0,45,
winbunpmiGhg nuzw bnuo htnwynpmp Jmﬁ[}‘ 4y, Yndpu)yGhg
pwithph gtwb dutwlwy wigwd dwlwuwwphp 0,535 yu:

185. OBh[ -UU2-585 wjwnndtplfw, nph phnfuwwnwpnympjmip 3,50
t, 2 yd htpunjnpnipjul nuywhg wbnuitnjumd t uhnu, nph
pippwunymp)mbp 30 whw t, yndpwyGh plngpydwd (uylne-
pniip’ 2,54, wjunutiptifw)h htippunhntuwhl wpunwnpanuiyw-
GnipyniGp 90 wyd/hbpp b, 8y, = 36 /100yY, By, = 43,2 /1004y,
By = 2(/100wlyd, 4= 4 yd: Opngby yndpw)G6 wwwuwplng
dtiptiGw)h Junkihph dwjuup lunld-h hwdwp:

W =Q,l, =3,5%2 =Twl/pp,
Wi _ 90

=" -~ " ~13tpp,
n

Q10 35x10

la = T 30%2.5

=0,474y,

w

=j¥i__%_x13+2x4j+f§3on7x13+
1001 0,45 100

+—2——x7 x13+0,25x13 =315 yhtipp,
100
g{’nuﬁ = 391—’; = 0,35 p/myd:

5 v htinwynpm-

6. 4.0 n phinGuumwpnnnipjuip unjntibptfuyny 5 Y
. prudp iwzmhg wdntumpmb t wbnuihnnjnd mpﬁm\m[lil—
upwnni; Auwlybinbquhwyup shphfuyh plngpydwl jw Jampmbp
1,4 ¢ t, Guylntinh phppwnympynlp 50 w/hw: thnmihphﬁmjgl
hii[lpulll‘lnl'uul_lhﬁ wpmwr}pnnwllwﬁmpjmﬁn 100myd/htipp L,
Buiy = 40 /1004Y, gy, = 48 /100YY, 8y = 21/100wyy, £,=0:

Opnpt  wjunnitiptGugh ‘Junbtijhph owfuup htppwiinjund b
Iwyd-h bwdwnp:
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VL. SOFSNMILER UNFPUUSRL LUUGGE UUSULUTL
Jde/URGL3UL

6.1. UNphP,UUSEL LUUSOh LMUSULUL A
AU LIUUNRE3NFMLE

UmpuuyhG Gwuwgdh Jwwwpdwl Guuunwlyp nwwlnnGph
mbuwlywl qhntithpltph U niGwympynGGiph vnnignud n wipw-
wGgmiG t: Uy muwlnnGhphG hGwpuninpmpyml & wwhu dwin-
pwlwnt b whpuwwybwtm dhphGwupwimnpuhlG weptquubtph
yniyyumuynpiwb dpnnGhiphG, wpuliunnpltph pwGwyh, npubg
wmblufpywyul wvywuwpymiGiph U GnpngnidGiph  pwlwlh U
wzluwwmwuwnwpnpjul nonpiwl quubhuyul bnuGuyGlphG:

‘bwuwghop Juwmwmimy k nkyujwph §nnihg bwidbwpwmpyng
Gjuytwnwght wjwGipm] <4< dwpqph $pdhpwyht wGnbum-
pinlGtph Yhwjwyhwl wwpiwliphG hwiwwyuwwnwuluwb, nput
gymnuuintvwliwl dywjwpnijuh hwiwp:

Luwhwgdmuy  whtnp t wpuwgnybl  gyninuwmbunbunipjwd
wpmunpmpjul dbphGujugiwi wpnh Yyhswyp, qupqugiwl htnw-
GywnpGbpp, Gop wbjubninghwGtph b wbuGhywywi shongGhph
GopnniwG hGwpwyynpmipymGitpp U wya: Wn hwuwnn] nuwGnngp
ybwp L jupnquiw oquuyli dwubwghuwyjwl gpuijwlmpjmbhg,
hwiwupemuuuwt wiuwgntphg b wjb:

Luwjuwgdh juwwupiwl wpynibpnd muwbnnp whwmp t npnph
wijjw) dpwhwpnyup Yywympjub b pippwhunjuwph hwdwn wihpw-
dtipm wmtjuhyuiub Whengluph pujwgniyG Yuqip, yupnnuiw Gty
w6 nnplbpp, npn6p Ylywunbl pwptqudtm US wgphiquubtph
oquuugnpoiwf wwpiwbbtpp, pupépuglbm npuig whwanpow-
Yul gngwbhyGhipp b wy)G:

UnipuwghG Gwhwqhop pwnjugwd t hwpjuplw- pwgunn-
puwljwb b qgpudhyulub Jwubnhg: dwpjuphw-pwgunpujui Jwup
dlwlbpuypymd £ 25-30 toh vwhdwlGhpnd, npG plngpynd t
Gbpwonmpynil, wijwy Hwlhwpnyuh Swymppul b phippwhunjuph
wgnnubfuGhiyuG U dhptGwbGtph hwdwipph pGupmpymap, hhubw-
Juwl gnupuunbubunljul wiwnwlplph hwiwp wgptiquntitiph
iy tijununpiwG hwydwplyGapp, gpuppijujubt Jweh Huwwmwp-
dwl dhpnpltipp b wpgymbpGiph Yopmompimbn, kqpujugmpymi-
Gtpp, oquuugnpoywo quuijulnipuG gwlyp b pndwbnuwlymp)niGp:
Gpuwdphyjulyub dwup  dlwybpupmd t 24 sunhh 4 gdwqpujwb
ptpptiph Jpw: 1-hG qdwapulwl pbppmd (poypunpymy b Gwb
dUmhdtnpnguish dpw) ptipgnad t hwGdGupupdud Szwlwpnguh
dywhnipjul m phippwhwdwph siphGwjpugiwo wytuwnwGpGhnh
wmbthunnghwwl pwpup, 2-ng  pppud wowdly Swlpwptnlywo
wpwiunph wwpbhwl SwlpwptnGuonp jub wiwb-qpudbhyn, 3-pn
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dltph b Gonpn-
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mwu[l%wallﬁgnl?&]hqhtgwqmp_]mﬁ wqpnutifuhub L JdtpbGwlGtph

6 U phppwhwywph
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UbiphiGwwnpwjunnp Gubuwywl wpluw-
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wwbph hpifwipul wgpmatjuGh GG Skphiw, gnig
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gﬂqn{}ip{flgz“mqﬁ?wh i‘uﬁqmﬁnuiu, Gpw lizmllmpjhmg l-luljﬁlu, Il$§$£
ﬁ%ullhphur_n wknwoph pwpdpmpynip omip twisp n&{ﬁ g;u%jmﬁn
b \pupmpj’mﬁg ptpnipynilp, honb Ulh“‘“ll‘“pwlé llbn 1?(? hudwp
hgﬁﬁm“mﬁ an’u qnponnnipyntikph wlwGnuid Pllljs [Iilhu? JQuipy b
whwnp £ juwwwph \quhqwﬁllﬁh[lh ggg%ggﬁﬁinélml\?n nphZ hwdwp
Gumbuwjwl wuwnl s
by pwtadh outughnG-nbUGnNGIE PEEE, G
op YJuwn .
Gl wiphnGnd G Gudnnlh Wi
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6.2. 4UTSUshYL UEQBTJHSPL[IJSHPIISDL

Ua-LtaUsSLLLR
UAUMLEUSUdnpn rup

SPuusnep LULCUBPY LUCUUeY
Spwipnnph  puipyw jpa huwpdwpyp Guwnwys t Pwnyuwjha
(Gwpdwlnpught) nidtph mpnmidn - hhsGwljwe w2 fuunnwGpw hg
UinfuwlignuiGhph hwdup: Wy hwuwnny wlhpwdtyn t Gup npnyty
2undhsh wjuwbu Ynsquo, Punnibnpuljwmg hgnpnip jmGp, nph
UkdmpymaGp Jwjujquo t wkmulph omh dwlt
PwpdpmpmGhg, 00y apmy, nppw( wbinwbpp ony

npubn’ N; - G jwpdhsh indhGuy, hqnpmpmGa t, YL, H-p' mtnwbph
wy hiuphugpurlyg Pwpdpapjmibp, o, o' -p' hgnpnipjuG Yopunp
anpowihgn, a'= 0,7 -0,9

Spwljuinph puwpmwihli mdbpp P, wnupphp xhnlum(igmdﬁhph
hwidwp npnpyniy LG htunlguy Pwlwdliny.

Pni:Pzwndi'(P[+Pa),

npwbn’ P, - 6 dkph Gwwpwyumnpu 1hG wgnbquinh 2wndhy mdG t,
Wi, P "p b P -6 hw Wywunwujuwiwpwp US wqnbqunh

wuanyi mdp Py, U Gpw wwhny whhybhph (wunnuiGhyh) ypw
wowwgnn npunhnn nidh ®,) ﬁbampjmﬁﬁhpnq, plin npma, bph
PZ<P§gmax’ witfw Pgw[nd: Pp huq hph Pz > P&gmus utujert szpd: Phgmax :
pwiwmnph nwppbn hnfuwlgnud btpht hwdwp P, U P man
dtionipymGhbpp npnyynud GG winnpl phpjud Pwlwdlbtpny,
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B .
P. ~ 1O(Nt thl) i L YU,
2 ngr,

Pygman = 4Gy, YL, S
((mbuurlju
" Ny -thgopmpjw i wiswwmiwG thutinny qjniqun
ggghhﬁqujﬁl '(ufrlru!?hz thnpmnhy, uwpmnwhlmpwﬁnhz(h wJ;g)) I’::Iﬁnél
tphl ¢infuwGgynn hqnpmpymGé b, Ylm (wn. , M
&p%ﬁﬁnﬁ gplluuﬁuﬁhuhwjh dhluwlhywlhwli oqq-G, wﬁnllggng
pwllum Gbph bwiwp Hwqind t 0,9-0,92, pppmpuulné] lspﬁ
gllﬂﬂwp‘ 0p86 - 0,88, i,y -0° mpwhmnphﬁ}npw%%ﬁgug;xj Jljllﬁllpur[ﬂ:;; n?mlluu .
i dwl hwdwn, ng -6° zuwpdhy ;
pRin 1 - l{lntuwﬁg ' i igh qmnpdwl wpwyghnl t
i w/nnyy), r, -0° wmwinn w qi |
5&%11&“1&111&11”6%11 gnwnmqﬂqg, U (wn. [, 2): WeJunp wmpwlywnplph
hwdwp

r,=ro +vh,
npunkn’ ro - 0 wpuwhwnnph wwlng wigh dbunuquiywl wﬁq?qnmm
qwnwyhn@ t, 4, h -p° wijwgnph pwpépmmngﬁu,d &i,ﬂ:lﬁ— m‘%’ﬁ;‘}i
Guunjuwoph (ntpnpdwgiwt) gnpowlhgp, U guop 66 &
hwdwn Juqind t 0,7 - 0,9, p -G' wpwlywmnph Dﬁpu(;gpwﬁ.ll%hqﬁbph
ygiwl gnpowlhgn (wn. 4), G, -p' mlljxmllmnph wmwnn
Yul pppnipbtph ypw pblilng Yhog, Yo,

Gy = ¢[Gyp + M Gy Gp)Jcosa ', bhutrnghwi
ppuitn’ G, -p gmupuumiwmbuwwb &thhﬁwjh wm [gu n[ht%lz -
mpwpmlmp?wﬁ ubig (pntylp, ubpiwpyn b wyih) 1gynn Gynip ot
G, =vykYyu, v -G mhtuﬁnlnqhull.j[wﬁ mwpnqmpj}.uﬁ gw;illllug},hw,uyw L
ﬁl?npp ounjwjuyhG Yhep, YA (wn. 5), k -ﬁh l.(t)lg]u_ %8) il
u{wpnqmpjmﬁ oquuwqnpoiwl qnpdwlhgp (k = 2 (’Ih’nﬁ gL
qnpdulihg b, npp gnyg t mwﬁmu, gﬁﬁlﬁggg?ﬁngﬁu g}% o
b pGYyGnd wpwlumnph wwbnng o TP &

Gbpny wpwipanpGbph hwduip ¢ = 1, G

b Tt npltph hudwn ¢ =0,7-0,8, G, n

dtill mwlnn Juippwljm] mpwipnnp 6 Sttt

, U, A -0 gymmun Gmbuwljw p J :

‘&,‘E{;‘};‘&‘ Ig;lrll%ﬁ%g% w2 fuwwnwGph dwdwGuy piyg llljlrluqnllll ihlflz-

Gwlbph hundwp (thnynwnhy, npng upuljhsGhp ltxbul; :i[(,il)j é\m; bflllllhl:u p.

"A=03-0,5, ljgn P

dhptlwlhph budwp' A = 0,3 - 0,5, ¢ gl

t)tlm:m() pG -0° gninuuifnbuwljwi dhphGwh l;zlmul,s li:ljl:: gﬁpclil

mb wﬁ’ph q“phpmpjmﬁu, wuw.: Gph wnmgwquﬁglﬁlﬁhnb t&udwp
pl:q;]mp JniGn Gyguwd £ %-ny (i %), wuw thnpp pipmp)
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. 2
tgo ~ sinat ~ i, huly cosa = 1_(_1_ :
U,6nthtnb 100
junthtmb npnpnid 56 wipwywm
pnfudiuG nhdwnpnipimGing e APPOWE U hpGwmntinu.
Pe=1fGy, + A Gy + Gp)lcosa
Pu, = [Gmp + }w( un + Gm)]sjna lll”

- 1
P =[Gy, + M G+ G"’”lT)d vy,

npwbn’ f~p upwynnph qnpdwG nhiw

nnnipjwl gnpowlthgG 4):
_ nll} Jéxaxm;nq, wbinunntjng hwiwywwnmwupnua wp;lhtiggﬁb;é‘?&lmg{
PI] 2 ;) p Zi; P, :('i’ P,;, Py wndtipGhnp, (pwag hwikdwwnmp JniGhg'
niuglﬁll_’ln:zmndlv"’ 2updi ’ lUU{LU dlupliwﬁrlebﬁ (P“—‘Illwlhﬁ) Pﬂ: Pﬂ LA ] Pﬂ

330FUSLSEUULTY UGRLGLULELR £
r~e
HhUULNMEBNFLLELR PN cutv <gcq.lé?‘gb

Ugntiqunh Ywqih GQaqnuiwl b w
x 2luwnwi G
El(iiuglﬁmp Jwl hwiwp wihpwdtym t npmLy Gwb mnmu%tlzli‘tkilmbﬁtbuﬁﬁg
m{p wjh [ﬁ;upzwjhﬁ nhdwnpnipymGp C6n npnu, wjuwnbn whup t
thwgfl\ \Elp u?;;\l;.: [111% CIi]Lhu ljiwd gmnuuniGunbuwywt hphGu Jh mbtuw-
) ) w
pmﬁm&hgppg R i, nnmpjmbp wyhup npmpky Ghppnhhyjus
JU gmununbnbivwljw G dbplwibph hwdw

n, npnGp w -
I.L;lu‘ijl.l[;jpk}i dwiwGwl nhdwnpmd LG dywlpnn ﬁJmphp quli)pqlzurggp
iy phuny (qmpwGGhp, anipwlwunpy dtphGuihp ), npunynud BG

Y hpwGh nhdwnpmpynifip htanb Jwi pwlwdlny,

_ G C’

Ry, =kyab,, +(1-4)—2

. n
npubn’ k, -G gnipwih nhuwlwpup puqlll;wjhﬁ nhdwnpmpniGa t

: L
q}l,l/ aé (wn. 6, 7), a-6' quph Yud SywipinG Iunpmpjmﬁg,pli‘ by I
qbpw, h [‘uuuﬁp nanqpydwG lwjGmpjymGp, W, G, -G qmpwﬁh’lufx‘nn
lé;"- ?l—n lp;h Upw honh wanbgnipymGn hwyyh watng qnpdwlhgp,
)6 StpbGulbnh huwiwp, o

» plp wluwwmwG duniwG
&I:llillgggn;dwgu %%flli%puﬁf&% L(l;lhjﬁrﬂpngp (zwppwgwﬁﬁlglkll, Hmlu‘llfn{‘&
npnyynud £ htwnbjuy ijwﬁwéhn{i. WIIE), pwpzwhs qhﬁwqpmp_;mﬁn

sinQ
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R, =k'B, +(1-A)NG,; + G, )sina yv,

npuitn' k' -p gymnubpbGuh  pGoopydwG jwyGnpjub ity qow-
dbunnh gnyg wmjwd nhiwnpmpymGa t, YA, pbn npnd Ywungh
dtptGwGbph hwdwp k'= (0,8 - 0,85)k, npubn® k -G GnyyGuuhuy
Ygnyh dbphGwjh mbuwwnpwp pwppwjhG ghdwnpnipymGa t (wn.8):

Qnynpym b mbul gymnunbnbuwywl wjbuyhuh JEphlwltp,
npnlg wpluwwnwlpwjhl opqulGhpp qnpoplGpugh dwdwbwly skl
wnlyymd hnnh Jud pmyjup htan (upulhsGhp, thnynnpsGtp, Ygw-
uwjtwlGhp, ywpwpwmwGympwgphsGhp b wyiG), pwjg nhiwnpmpym6
ki gmjg mwihu pGpwgpwjhl dwuny: Wynuhuh vkiphGwmGhph hundwp
pwnwjhl nphdwnpnipymGp npngymd L hbwbjuwy puGudéling.

R, =(1- X)(qu + Gme’cosa +sina),

npubn f -p pGpwgpwjihG duuh qppdwG (uwhph) nhiwnpnip G
qnpowlyhgl b (wn. 4): Ggwuwjbkph hwdwp, Yuwhywo hnnujhl
wwjiwdGnhg, f=0,05-0,15: '

UaL,GAGUSP GUQUN ACSARUTE U UCuUSTLLUSRL
NtabhUR CLSPLARE3NMLE

Ugpbquuih uqip Gunbm hwdwp, biGemny Jipnhhyjwg pw-

P_
Gwdalbpny yuuwpws hwydwpyhg, Gwhwwbu o .—_R_‘” pwlwdélny
f

npmynid G0 gninuuwbnbuvwljuwl dhphkGuihph, huy n, =_1_3£ pwiw-
R

b
duny’ hpwGGbph pwGwlyp: UbkpkGwbbph U hpwGGtph phyp wdpnn-
pugynuwi k nhwh thnpp wpdtph Ynnup nulG qgbnyg wuubnpruywi
dwup: GGy npmd, tpk hpwabtph pwiwyp nput dinfjpulgiw6 hwdwp
unwgynud b wykihG, pwl wdyuy dwyihph gmpwbh mbhuGhjuluwb
pGnipwgpmd wipdwop, www npybu hwpqupluwihG Jtpgymy k
ubjuGhiwywb pmpwqgpp wpdtpp:

Uj6 nhiypmd, tpp dbpblwbbph GwhuGwljw6 puwwlp vnwg-
ynud | dbihg wybkijh, wGhpwdbpmmpymb b wnmuowlnd oquuugnpoty
Ygnpnhy: Undnpupwp YgnpinhsGhpl pluopdnid &G pun hpkGg ply-
gnyiwG dwljwwp, nop npnpnid GG htnbjwy pwGwdlng.

=(ng-1) by 4,
npuibn’ 0, -G YgnpnhshG Shuigunn ShpbGwGhnh pwowyE t, by -6 uby
dtiptiGwjh quomgjuwopwjhG pGnopydwl wjGnpynln:

Lowmpywo Yonpnhsh pGmpwgnh hwidwdw )i npnpyma & Gpuw
pwpwjhG nhdwnpmpjniip pun wpnuwl 9-h jud®
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. Ry = Gyq (£, + sina) = Gy (fyg +1/100) Y,

:{glx;llﬁg‘f i,% ﬁi%g}g@ﬁ?’@i L flxin-9), fu?'ﬂ‘ ugnnnhsh qinpdw
grnudiiph hundwp npnznfiﬁl};lﬁgl ?ihphhu&\llx&%ﬁ%ﬁ&%&?g&pﬁﬁghﬁnmwﬁ-
n, = Ppi ~ Rhg .

R,
epat i S, i, s

qmupwGGtph hwwp n L= E—t’l&‘“—,
P Ppi
dhwgud ﬁhpbﬁwﬁhnh hwdwp' v = ———RL:
’ Ppi - Rllq

glpll;;hu w2 tuwnusGpwyh6 pnpdmd t w 16 thnjumfigmiip, nph dwdw-

wy Ny -h wpdbpp wikGwdto6 t: Can npowd, hupgh weGhing gini-

g;ulﬁﬁmhu\umuﬁ w fuwnnw 6ptph Yuwwwpdw duwidwGwy llihlllgl?gh;—

N puppwihG nhdwnpmpyut dwiwlwYuwynp undb

‘ lugniip, n, -

\Gxgxdh%n utanp 1. gbpuquigh Jwph U wyn pnyph wzluwgmlséplf

; 913‘]1 undwp 0,92, Ymypunhiuig hu, gulp, hwpplgnud Yunwpbhu

,94, hulj gupwlimyg, hannhwnjwp, upulnud, iy nunmd, upwpupmw-
Gymph L{]pnué llluu:]wpb[hu b w6 0,96 (wn. 14):

jumitn wtiwp b hwpdh wnGh; Gwl umy g opl
hd i anpaplipugh
(wn.ullg):m ulnnghuytiu pnypuwnpbtih wpwgmpnub dhonipyniip
Clhnpdwo hinfuwGgmifibpm) wpluwnnbihu wapbquuum
[_u -
nwpuihl wpwgmpymtp npmdnud t hbwbjuy pm(ﬁgdﬁnq. fizhou

n.r
Va =0,3774‘~“(1—i yu/d,
i 100

wp

npuntn’ & -G wpwywnph pGpwgpwihl duinh wmb
nuupinnynh qnpow-
lllls'lgﬁ L, % b wljwynp wpwlunplbph hwdwp pmnwmpx{mg (tlﬁlilﬁzh
7o, hul) pppmpwiynpltiph dmn’ vhis;L 8%: UjGmhbwl npnpgnid k
wgpbquuh wfuwnwlpwihG néngnpydwi ywyGmpyniGp:
(l\mpmﬁﬁhph hwiwp® B, = N, bB O, SGwguod UbiptiGwlitph
huhup’ B, = nb,B o, :

npntn’ B -G wopbqunh (hpbGwgh) Yunmgquwopwshd pa
(wyGmpjwl oqunugnpatwG qnpowlhgG t (mﬁ'ﬂ 1)? Ji@ plngpydwa
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Ua-~5A-USh 5 2 UCSh UhLEUUShUULUTL
nmaruuesseGeh aencnrun

Cuwn Yuumwpynn w2fuwwwlph whuwlyh pGopdond B wgphqu-
wh wpddwl tnubwyp, wyw Gpuli hwiwwywuwufewl 2pewnuip-
dh dup wylwbu, np wwpuy ppugptbph bpywpmpymGp (hGh
hwdbdunwpwn thnpp: Cwpddwt tpuwGwyn pGuptjhu wihpudt)n
. oquifliy gpuljwmbGnipyniGhg b GY. 1-md pipjwo uputadwghg:

U)tinthtwb gomd kbp pwpdiwb tqubwyh vjutdwl, npnpmd
nuuith b wgphqunp jhibdwwhlijwiwl ywpwdbwpbpp:

Ugptigwwnp pownupdh Jwnunjhnp npnpynid £ htwbyuy
pwliwdliny.

Ry =a,B, 4,

npuitin’ a, -p gnpowlhg t (wn. 13), B, -6" wgpnkquunh {upmgywdpuw-
JhG pngpldwd puytmpymdp, o :

Ugphquunh pownwndwjhl gnnm Gduwqugm)f pujGmpymbp
nppymd £ hbwbpwy pwtwdum].
s Emin = 3,Ro + €+ dy 1,
npukn’ a, -p qupowyhg L L wbhwignyg 2pownupéh nhwypnud
a, = 1,1 - 1,5, hwligmguijhG zpownwupdp nbwypmd’ a, = 1,8 - 2,8, d, -G
wgphiquunh hhidwnphuwhwi (wytmpymbip (wqptquunh Lpyw;-
(wlwl wnwigphli mnnuwhwjwg nnnmpjudp wdkGwhtnon Yhnh
hinwnpmpymbp Gqwd wnwGgphg) b bwdwmuGgp (uhbibwmphy)
wgpbquubtph hwdwp dy, = 0,58, huy n; hwiwnpwGgplhph dnun

wbnuigpyuud t dy® Ywd dp™, Gwjws zpgwnunah mognipywin (we

Yuwy dwfu ppwnwnd): d, -h wpdbpp npnpymyd | kilm) wqphquinh
quipwuphwuyhl w)Gmpymibhg, e -6° wgptiquunh bjph dtonpnibp.
e €= O’S(Ll + [’2 + LJ) lia

nputy Ly, L, , Ly -p huwywwwuhnuGwpup wpuyumnph, Ygnpgh;h
b gymnquuintuwlui dbkptlw)h YhGhdwwmhjuwlpuG bpjupmpymé-
Gtpd GG (un. 15): Gpt wn. 15-nd pGupdued dbphGuyh hitdumnh-
Julwb bpuwpmpndlp pugwiuymd £, wuyyw wyl Gupbjh L hwadup-
Uty Gyitinyg Gpu qupwppunwghG tphuwpmpymbhg’ (0,7 - 0,3)L:

U)inthtinl npnynid klip waphquwh wwpwwy plpwgph tipw-
pmpynifin: Bjuybu, Swpnpwdl pupddwl huiwn

L,,= 6Ro +2¢ 1,
YniphGwgdwo Juph hwdwp’ .
L,,=3R, +2¢ 4, -
qnpowdwp fud [mr}wpmllmqnp Zlun(hil.ll{lﬁ ht21u;ﬁalulﬁl huntwp’
= 0,900 25 - Ro + 2¢ 4,

npubn’ Gy, -1 qwzurﬁ owuniwy puylnpymGa6 &, 4, a, -p’ qnpdwlhg:
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R Gnpouwnjwnp  Qunupwiuwyjuwp, Ynywmwjwp) wpddwl tnuwlwuyh
: gbypnul a, = 2,5, hwonppupwp gnpédwjwnupuiuyup wpddwG

= > < -
= B =
e — -« 3 | S nhypmy’ a; = 3, yipwdwdynuing wlhwlqmjg ywpdiwb nhupmy’
----- T e g — '5 a, = 1,5, yniphGugywd tpygnpowhl pupddiwb niypm® a, = 2:
~— 1 £ > S Gnpdh oupmnhiwg uGnpntin Gy, Ynuymwiwn, pwpwpwls-
5 ? > > 2 Juwp b hwonppupwn Ynyunwpunupuiwyup wpddwl qubwy-
— ) Gunh nhypnud npnpymd k hbwnbjw) puwiwdéling,
—
> < G = 16RZ +2B_L,, 5,
, o YndphGwgquo Jwpdiwb inubiwyh nhuypnad’
— E § Gom = JV3B,L, 4,
A =1 3 2newlwél Jwpdiwl tnuGwyh nhypmy®
—_— | = 3 1 1
- B 3 G _ . =/-——1|Lu
— g 5 - [5 8) ’
< = 2, 3 npntn’ L -p nupwh tpupmpymaG6 t, b, L, -6 qupuh whiwunwi-
g 3 pwyhG tplwpmpymGp, &
[=2 g Lw = L - 2Ellll li,
é £ npubn’ By, -p 2nguwnunpdwihG gnnnt hpuw b jwyGmpniGG k:
g S Jwgwhwwhluwjhl b fjunnwpmyutiph Hwinpjul dwdwGuy
;E g Bywyymy L0 Gwb pownuwpéwihl gnuhlbpp, nunh Gpubg jwyline-
- §' = ® pinlp ywbwp L puqiwujwwmply hGh wgoptquwp wpfuwwnmwipw ha
il :‘
- ) 3 pingnyiwé puylmpjwlp, wjuplpi n = E};m‘", npp whwp b (hGh
-__“_* a ‘__' mw
= " 5‘ = wipnn9 phy, htnbwpwn' vnwgywd wpdtipp Yinpuegymu t nhiuh
~ g = ko wipnne pdp U npnymd 2p9wnwpdwjhl gnume hpwwG wy-
-t Grupjnilp’
Ep =0y B, U:
Liwl nuungmpnlhg iG] npnpnmud kbGp Gl qnpoh
B - > o
T T owwnhtw] (wjimpjwi hpwywi Skdmpmlp 0, = wwnw-
TS 1,{,' T uwnhdwy (wjimpjwl ppwy pinn Ty =58
—r_cg*' : : : 5‘ ﬁ ; : © 1' } é ' hwpnmpmGhg quind Glp n; wpdtpp, wjG Ynpuwglnud ghugh
e e 3 Co— f f & tnnulw wipnng phyp U qun G’
i 2hE > £ C*, =2B_n,
1 <] = < omum wilq Y-
h—-»k_‘_,‘(__, 5 Ugphiquuh wpnwgponuijwinp)niip qguihnpbi fwhus
[25) @ m }‘?F——j——ﬂeﬁ Gpw wpfuunnwlpwihG pGpwgph ¢ gnpowyghg, npp npnpdoud
= > htunbju pwlwduny. '
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L S

= ur ___ _m
L,+L._ S +§ °
‘ ur wp w
npntn' S, -G L S, -G h :
" - wdwujwmnw
hpl{lupmpjtuﬁ qnﬁhpn%l wuamnni ?uzhw&rgllzgwﬁaup%qﬁgﬂlwil;ﬁﬁp

wnwlipwjhG w
wpdbpGhph b, dlf-l s nipwgpGtinh bniwpnipymGatph Shepg

u P I)

Uqphiquuhp Juwwwpws w
2 fuwnw@ ]
ll;xpmmqpnqmllmﬁmpjmﬁp, qlunbuuﬁjmppp%[ul;?:{u mqnulil i
zluwlllmubluhlumdﬁhpnq b wyG: » iuladon
raunnnquipuGmp jui ULonpmG
L hGswbu h
hnptG Yuugwd b wepbquinh hbppwiinpup dwzl‘;llu(‘ilwll:l[{] l:(fllxlllll:l’q(}gl%l—_

dw6 qnpowyghg, nph dtonp niGp ninpynud £ I:L-; Pwlwdélim]
T 2

Eﬁ{{lgntT'&nfah%p}ﬂ?;;fqﬁ?up;%mh cquuljup wohuwnnduru-
-7 4 ’ nnnipymbp, dwd, (u
T, = 7 dwd, hul priGw » Qwd, (unynpwpwp
’ phhlpumGhpmg w v
inpdwinhwih wndbplbpp pbpl[u{la lnl;a fur,‘{“‘z‘é‘hﬁg Ta =6 dwi): 7-p
L=l T, - (Toaps + Too + T .
nNGN’ Ty -p hbppuhnfunt wentgy i)
Y ' anbquunh wbkG
UGN WUTDPINLG L, G, Tow -G b pmea el M-
i nbnanipniln, dwd, To,-n qupnhg nupm e
wbnuhnutwG whnnnupnGp: 2w wenkquinh
. Tau=1-T
npabin’ f -6 ObY dwdjw6  hwdiww,
wwnwuhaw G
vywuwpdws wbnnnpniia t, ¢, ~ 0,03-0,05 :Iu . wnkuGhhwlwg
T — L g,
h f op
amnbn’ £-p quanbph dhel bnws hbougn
ipmGa k,
&wllumhg Qwaw  nbnunhnhnjbjhu w‘lﬂhqwmhpu{mpwt llli,ﬁ \
n QmP.]mﬁ[], '.lli/d. Unqnpwplup Tlnkq =0 - 0’5 u: W n ngpp

Tmn (Th _ Tmu )(P Vw t;

po T —

= du,
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npnbn’ t)-n Ukl whjunnghwiwl vwpwuwpyiwl whonmpymGa
ty =0,05— 0150w, £ .. -n° wgpbiquuwh wbjubnnghwlwi plpwg-

ph bpwpnipymGn, Yo, wjuhGpl uky jhgpwynpnuihg Shisk wwpngnt-
piwl puunwpidbin Quppwgwl) Yud gybp Gmipw)l) wlgwo
GwlwwwphG t.

Emh g = =y,
" 8B,

npunbn’ g -6 gwlph, wwpwpmwgdwl U wylh Gopdwl b Yud
Upwlwpnyuh phippunnympjniGp, Yg/hw:
UjGnithtwnb npnpnud LiGp wgpiquunh wpunmunppnuijunmp jmGn.

w) duniwjhG' Ww,=0,1B,V,t hw/d,

p) htppwhinfuwjhG® W, =W, T, hw/hbpp,

q) opwljw(’ W, = CW,; hw/op,

1)) ubgnGwjhG' W = Wi, D, hw/ubq,
nputiy C -0 htppunpnjuh qnpowhpg © b gnyg T wunhu, ph
wfuwunwbpp pwbh hbppunpniunud t juwnwpymy, C =1, 1,5, 2, 3,
D, -0" wgnnunbuGhjulwl dwitivimy (uigninul) wluwmnwbpwjhG
optph phdn’ D, = KD, npntin Dy, -p wopnunbiuGhjulyutG duniyh-
wmud opwgmguwjhli optph phydl b, K -G' nhwlg oquuugnpddwb
qnpaw‘lhgﬂ: K= 097 - 110:

Nnpnymy Gap umpw) dwwih wpfuwwnwbpp Gywo wgpnublu-

Ghywyuwl dwilbnnud Jumwpbin hwdwp wywhwgynn wgptiqun-
itph pwGwyp hbwnbpu) pwiwéumy’

npuntn’ Q -6 wyfuwwmwbph owywG t, hw @, ¢, myd):
Opnymd  GGp  Gjwo  dowjuyh wpjuwwmwilpn Yuwwuptm
hwiwp wwhwigynn Juntjwbyuph owfuup, nph hwiwp Gwju
quimy Lp Shunnp wfuwwnwlph Juuwpiwl hwdwp wibpudtynm
yuwntihph owluup (hhjuniwnpuwjhG)
. G, T, +G, T, + G, T,

(™) Wh
nputy’ Gy, G, Gy ~6 wpwlwnnph pwpdhsh Ynnohg Junbubngph
dJuiwjhG owhmbpG LG  hwiwwwuwupnoGwpup  wqpliquwh
ptnGywo wpluwwmwbph, wwpwy plipwgph U Yuwlqunh duniwGuy

(wn. 16). ,
Tll.l =T Th d) T\l = Tmh]nﬁ + T\n.\l d’ T\q = Th"' (Tm + T\q) d:

Qunbjubymph pfnhwinmp dSwhup'

Yo/hw,
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Q= guw - Q2 Yg:
Luwymplph qnpfnupl;ﬁulrﬁ LGqhG
, L jnunt G
owjuup npnpgnud £ Gyl N LR L
o qlépzu‘}. 16ty tlt}lnhlyyﬁjnlph pinhwinp dwiuuhg
Qua=107q Q Yg, |
npuwbn’ ¢-6 Junbjwiymph uﬁﬁqh\uﬁm ow
iy o ) , n owjuuh Guwuiwdwp puw-
(wq?l I;)h jutph U gnpdwplpiwb phfighGh owluuh GnpdwG t, % -nyg
Apnpmd biip wuhwigynn w
2fuwnwlpwhG o i
w) thwdnp wuwnwdwjuusmibGbpp’ puiRE Swhiumattng.
gomtn dwpn-dond
W, hm
p) pghwnip wjuwnwdwiuunwiGhpp
H, = Q-H dwpn-dwud
npubn’ m -p mqphqmmﬁn uuuwpyn '
q . n wpwlinnphuntb i
gxssllﬂnwpmn m = 1), n-p’ odwlnuy pwiynpGph pnip (Egngtﬂa }t:
o e AR A
Nt p dbphGwwnnpulyunpuih wopk .
lélulill;lx\gg;l?lg Eﬂft&lmﬁﬁ% ?ﬁ;}l&]ﬁ u%il:: J‘liiwﬁwllwﬁ l:mll‘ulnﬁ&?h(? l;:l‘::;t}
. hw), g Ghphuwpnglma b Gnpdw-ht -
dinfuGiph pwGwlih U wpw . T
B T puyunph htpputhnfup twugnGuihG gnp-
@ w.bw.bw = nnh ?"\nn ul‘tm‘hm;

Q
npukn’ = -
pwkng ng W, Gnpiw-htppwihnjuGbiph pwbwyG k, A, wpwl-
wuinph gg%w!hnt;h qrglbwlmgu (wn.18):
quuj whnwlph qGwhwuniwt Jwpunp gnigwG
l(ih\ﬁ:{élpruaztgwmmﬁph hwyyn wbuwlwpwnp zmgtfqngbwll;%ug
IluI; wfiul Sy, Owluubpp, npG hptGhg GhpYwjwgln & wqpk-
gj ntntllmgauqé‘ih U9 dwbnn ponp pwnunpuiwubkph  (Wwpwlumnp
(? wbuwljnb \Sl\;nphﬁm, Ygnpnhy) gqnuiwpuighG Ludnpmqu:
?,S;u hwgﬂu:;g;uﬁﬁbpg S, nfpwghy Gnpnquwl b wmbtjuGhwwG
uwnnuiGuph gnuiwpughG owjuubipp’ XSq,., wuwhmw w6
tluwnt‘;“uﬁ j[‘:ilphph b puwymintiph, qnpfrmphﬁwﬁﬁph[}llq]lﬁ;lawrﬁlfbpg SS"”
qpiquunG uupuuwpynn ShpbGujuph b odwlnuly pmﬁqnpﬁhp'ﬁ
wz fuwnwupdp’ Sy, , wuhGpl’
IS4, = IS, + ESqu + XS, + 5, + 8
w wmu W 1 . qud/h\u
llbplq.gmﬁwdhh dh9 dwling pwqwqphzﬁhpﬁuznpnzqmﬁ Ll hlnbjwg
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d
zsm =Snu;p +S?u ""Sl,f npwi/hw,
— Qup qu '
Zsﬁmu - Sﬁmu + Sﬁmu + Saqmu npwd/hus,
d
Zsm =Sy + Sy ’*‘Slé? pw/hu,
S¢ = &Py onwi/hw,

< - m,m, (K ;mf + nf,) —

vz Wlx ’
npukn’ Py -G Wbl Ya JwnhpuGynph hwdwihp qhGG t, gpw/yq, nph
ity dwGnud Ll hhdGuijub b qnpowplpiwi Junbijwbmplph, hliywyiu
Gwl puwlyuiptph qGtpn, my, My -0 qnpowyhgbbp L, npnlp hwzdh
b6 wnGmy wpjuwnwywupdh ypwnhpGhpp, Ky -6 wnpwywmnphunh

YJwpqu)inpmap hwayh wnGnn qnpowlhgp:

Snwyunph winunhqughnG dwluubkpp npaynud GG htunbjwy

pwGwadliny. ( )A
a,+ay
ST = 4R P ppwd/hue
= 00T, W,
nputn’ 2y, % 0 hwiwujuwnwufuuGupwp wpwipnnph  Yepw-

Yyulqtiwb hpiGwywb GnpngiwG Gnplunnhju jp6 hwwnwgmy-
GpG bG, %, A, -0 wpwywnph pwipuGuuighG wpdbpp (gnpowpwbiw-
jhG qhlp wybjugpud wbnquihofudwG b wnlnpuywb dwjuubpp
Jud 2wyt qh6p), nmuy, Ty, ' wpwlwnph mupbljul dSw6-
nuphnijwontp ymiGp, dwid (wn. 19):

Lowl bqubwuyny hwoqupynud kG Gub gnuquuiinbuwyub
stpbGwih U Ygnpnhsh winpunhqughnl Swluubpp, hGswbu Gul
inpnqumd, wbkfuGpuipud uwwuwwpipiwi b wwhupw GG dwiuubpg,
nph hwdwn oquujnud G wn.19-hg:

6.3. SPULUMALSUSDYL Lar6aUsSLGNh
GAUMLELESUUOLAMIT .

SpuGuwnpuughl wgntiquunh ynduyYunuynpiwl hwquwnplyp
uuymd t Gpw pupunpudwubph (npwipmnp, wiwndbtpblw, Ygw-
uwy)) plwpnipjwip, npp dwdwbwy hwaiph L6 weGynmy pGywbu phinh
wmbuwlp, wjbybu by wntquihafutwl htnwynprpyniln: Unthtnb
plipynud LG nmubg wbhuGhljwlwd pnipugntipp:
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UndybunwynmiwG  huwpquwplp Ywwwpdmd £ hbobjuy
hbppuwljw Gnpyudp,

npn2my b6 punhpmd mbnuithnjuynn pbnh pwGuwiyp'

Q= V-yKu,

npntn’ V -6 punhph dwyquG t, 0°, y -G pinh dwqwiuhG 4z hnp,wAs,
(wn.5), K-G" punhph 1guwi gnpowihign (0,9-0,98):

Spwluynpuinujhl wopbqunnGliph woluwwnwlph gGwhwuiwb
hwpunp gmgwihibp 66 wpwiewnpuowjhii dhengh phinGwumwpn-

npjwl’ o b duqph’ ol , oquuqnpdwG gnpdwlyhgitpp, npntip
npn2ymy LG htwnbyw( pwlwdlbpny.
o ;ZVYK ol L, L,
umn ’ um >
Qﬁnra L nt L et L wp

npntn' Qg -G wpwluwynpunwjhb vhengh pinGuwwnmupnnmpniba t, n,
n, -G’ pwthpbnh pwGwyg, L, -6G° ptnmy, L, -6" wnubg pinh wigwo
GuGwwwphGlpp Wk tpph ppwgpmy {uy htpputhnjuny, Yu:

Apnynud G wpwGuynpuwhG wqpbhquwnh Gpph wlnnnipjniGp’

tigp =ty + by Tt T, dwl, :

npubin’ t, -G U t,, -0 hudwywnwuejuowGupwp peony b wnwig pinh
2wpdiwl dwiwbwyGupt GG

4 4
tu‘:__p_’ t :-__E duni,

VI! Vrr.lp

npunbn’ £,-GUu £, -G d6Y tppm pinny L wnwlg pinh wigwd Gw-
GuiupwphGbp b6 (unynpwpwp £, = £,) 4y, v, -6 b v, -0' ywpdiwG
wpwgmpinuGGbpp, Yo/d, t,, -6 wgnbquwnh gty wiqwd pnGiwG b
phinGwpwihiwb dwiwbwulyp,

toop = tpup + Hy SWY,
t, -p° ptnh YmiwG wbnnmpjnipn hwygh wowd Gwb dwllpiwé
dwdwbGwyp, dund (undnpwpup t, =4 - 6 pnyt):

Gpp pbep pwpdynd bt Jud  phnGwpudiynud’  pufugmd
guunmy (YnipwjlwjhlG pippwhwqup, thnznnnud, upuljmd b wjiG)
wqphquuh pipwgph dwiwlwy’

1 4
_ 0" VyK .
2B Ve
nputn’ g -G phppwwnympjma t, Yo/hw, v, -G’ wgpiquunh yupdiw
wjuunnwpuyhi wpwgmpymbip pbeGiwl YJwd phipGupwthiwi

pRp u,
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dgwiwGuwy, Yi/d: Gpp phnGupuhnuip Juwwpynud t h6pfimpwth
hnwlwyny, wyw tu"h?i 4-6 b

- 6 pnub: .
- UjGnihtwnlb npnym tppbph puwiwyp htippunhnjunui

T, - T
Ny ="
tﬁpra Gph G ru
tn' T, -G htppwihnjunud wqphqunh wpuwwnwiph Gwjuw-
Itllful?m;}wmﬁnﬁwﬁ U wijupuniwb wbnnnpjmGa t (0,3-0,5 dwn):
Uwnwgjwd wpdtpn yinpugynui t ntugh dnunuwjw guipnqg
phup: Gpb wipnngwgniip yuwnwpybi t nhyh dnnwljw vk phqr_g
wujw whnp b jumwunty hppwihnjup Juniwfiwlh r(l)umn.m, nlin npm
T, -h wytugnuip yubwp t qtipwqugh Gpw 10-15 Yo -: c
Spuibuwynpurwghb wgpligump wpunpniwiulnp b
Juwpkih t npnpbi Gplyme hnwGwyny’ puwn tppiph pwGulh Ln(’jguul;I
Jupdiwb wpwgmpjul n htippwihnjuh dwiwlwlyh oquugnpouu
o wpndtph.
ant ‘ullig%i1 qgn.qplrgmi Gwju npnanud LGP htppunhnfuwjhl wpnwnpo-

wimpnlp’
qwll PJ wh = nhpp Qp UIl'llimhppa

W, =¥L wiy/dw,

b

wupu dwiw)hlp’

2-pn ghugpnud’ W, = Q, v,T wlji/d, W, = W, T, wmly/htinp,
_ Tux _ thhl‘P
npwbn’ 1= T, —-’Th :
G wpun nnuljwGnipymGp YhGH'
Opuid wpipe W, = CW, wmld/on,
huly utiqnGwjhGp’ Waeg = Wer Du wnlyd/ubq:

Opnyni kGp ubignlnui pGnhwlnip phnﬁwngwﬁwnmpjmﬁn
(w2 fuwmwGph gunjwyp) wju-ny.
Wi, =g f
MwhwGeynn wgptqunnlhph pwGwyp YihGh'

n._ = Wi wqpbiquuw:
wg =y .
u
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6.3.1. SpULSNLUSPY SPUTLUMNNPSUSEYL UGPGAUSH
GNUMLELESUANLUTL UNTLILULUSUNke-3nrue

dbtpp Gywd pwlwalbnny hw)gwpyh wjwpnhg htuin npny-
nud b6 Ygwuwjih pwprwyhG ghdwnpmpymGp.
phnny ywndybijhu’

i
R;:@M+Qqﬁm+ﬁﬁjmh
wowlg phnh Jwpdytihu’

w i
RL‘: :Gl{g [fl]gu +m) ll“l],
npubn’ fi,,-6 Yygwuwjih qunpiw6 ghdwnpmpjwl gnpodwyhgG kb 1-hG
Jupgh SwlwwwphGiph hwdwp® f,, = 0,05, 2-pn Yupgh hwdwp
fio« = 0,08, 3-nn yuwpgh hwidwp® £, = 0,15:

Oquuytiny wpwlunph pupwihlG mdh oquugnpddwl qnp-
owlgh Gnpdwwhywjhl wpdtpltphg (0,7 - 0,9), npnpmy Lip wmpwl-
wmnph dlup‘liwﬁmu JhG (pwpwjhG) mdtpp ptony U wnwGg ptnh
2wndytihu '

R R WP
Pf =—2 4y, pUr = ¥y,
np np

GGty Plf L P;u ? wpdtpGbphg pun pupdwd wpwlnnph

wthuihyuywb uyuGsph (wn. 1, 2) qunlmd GGp pteny b wnulg
pteh ywupddiwl dwiwlwy wpuwywnph thnppwlgmdGhnn, wuw npw
hwiwywwnwuluwl wgpbqunmh JupdiwG wpugnipymGGepp’

5 8
v = ve(1- 2 Yy, vor = ves1-8
w m( 100]lld AT m [ loo)llﬁ/d,

npubn’ Vlfl l V;l P hwdwuyywnwufuwGwpup peony b wmunGg phzh
2updiwl wmbuwlwb (hw)qwnpuwjhl) wpwgmpmGaanG G6, Yi/d,
8 -G wmbnuuumjnh gnpdwyhgp’ & = 6 -10%:

UjGnihtwmb npnnud 56 JunbpuGymph swjuup.
w/ ¥kl wipd-h hwyyny’

G, T, + Gy, T, + Gy Ty
Wi,

Buipt = Yyg/nyd,
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G . 16-hg,
nuuntn’ G, , Gy, U G, wpdtpGtnp Jtpgynu GG wr
’ rlTi! = t n\:lp > ' Tup = tuwp Mup T,= Tai— (T, + Tup) dwd,
1/ JunbjuGymph wipnng owjuup
Q = Sy wuﬁq, 11‘1 86k

SpwGuwnpunwhl w2 uunnwpltph w fuwwnwdwuunt ({mﬁ
Gnpw-htppwthnfuGph pwlwyp b Juwuwpwd ulztuunxéw Pb
Swyuyp wuwjd.buwhw -mj npnpynud GG Gwjunpgmi  p pJw
pwlwdbbipny:

6.3.2. U4 SNUNEhLU3PL SeuLUMrSu3bu)
yarsausuLtrh uNUMLEESUALNLUTY
UATLILULUSUNFO3AFL LG

Ljwynud.
w wpwGaGuwhwwnynpymbp Yu Juwln kL htwly
(whu <l;1[l[%l;llnlllmtlxllﬁmhumpjwﬁ hﬁwpwt{npmp]mﬁﬁbphg, mcflquhl;l{iué
Jynn f!hnh whuwlhg b Guwlwywphw jhG upupwGauphg, p mlam .
hwiwwwwwuuwl peeiunwpp, pipmy Gpw wbjuGhyjwlywld plnt-
w :

P qm}?pnznui 46 tppmd whnwihnjuynn ptinh quiqyuon.

Qp =V Yﬁ K ul, 3
nputiy’ V -G pwiph dunjun6 k0%, lﬁi -ﬁ‘(%h;z% %\)mlullw 1hG Y2hep, ul/Ad

.5), K-G puwiph 19dwé qnpdwyhgp (0,7-0,9):

(e )ﬂpnan:lS Ltlli% phnGuwnwpnnntp JuG oquuugnpoiwl unwwhly
qnpdwygh wndtpp.

= _Q_P <1, nputin Qg -G thnpuwnpwdhgngh GnihGw| pbnGuwunu-

u'lj!.ll

f
G wn. 3):
pnqm%ﬁflm}l;;?ﬂ(im?h L[)ulqph wprynGuybmnipnGp qGwhurnmd £
Juqph oquuugnpoiwb gnpowlgny. ,
L L

4 |4 B

" L, Lpt+Lla ’
-0’ tinh, Ly -1
“ 1. -G ¢t tppnw pinny Juqpl t, Ly, G' wnwGg plinh, L,
ggglhhlﬂﬁk{!p ngpgphﬁpléwpwm b gbuulln';ﬁ gtptwbtph huwiwp
ol =045, 96Gwugud wunitipatwbbph hwdwp’ agm =0,5:
- jGnihtinb npnznui LG tpph wunnmpjnGp.
‘ 62,5L
_ 0P L Qut, + i, W
Lope = 7w +Qp PER Yzn
oy vV

a

njul
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npubn’ Vg ¢ wqph hwpqupluh6 wpuwgnpymG6 t, Yd/d,
(. 20), t'ppp -0 pwpddwl-pinGuwpuihiwd dwdwiwlyp 1 wn ptnh

hwpyny, dwy, (wn. 21 - dinpny pupdbjhu-pinGwpuhtijfu, wn. -4,
III-5, -6 -dbptGuwyuluwl btnuGwin pupdbihu-ptintwpwihbihu),
tye -1 wmmikiptiGwyh YzedwG dudwGuilyp (0,075 d Ywi 4,5 pnwyh):

bipGwpwth wjunitiptiGubhiph  bwdwp  phppwhwiydwphp
dbptlwibphg pwpdtju pupddwi-penGwpunpiwl  dwiwlwlp
npnymy £ hbwnbjw) puGwéliny.

:tl!_+3_’(3dm

PPR Q
B

npnbn t, -6 wumikiptiGwjh puwpddwi wnbnnnipymGl bt plpwugph
dwdwluwly, dwd, 3,6-p pinfwpwhiwl wbnnmpymGp hwpyh wnwo
Gwb ynipw)Gh6 bwpiwpydbym Swibpbip:

Qp600

k ngVun

npntn g -6 ptppwwundmpyntGG t, w/hw, B, -6 ptppuhwjwph

dbpliGuwgp wphmumwGpuyhl pggpyiwa yuyGopymGp, V,-6' Gpw
w2 fuwnwlpwihl wpwgmpynGp, Yu/d:

UnnwjhG wywnibtptifwltph hwdwp t-6 nopnymd LG Gnyl
pwlwdunyd, huy ptnGwpunhidulG dwdwGwyp, tpk dbknpny t, pinm-
Gmd 0 4tnpny pwpdiwi-pinGwpuwiwi dwiwGwyh Gnpdwjh
50 % -h sunthny:

Nnpnymy &6 wjwmitpttw)h dwiwjhé mbluGhjwywl wpmw-
ponujuGmpoGp.

U,

dud,

¢ _ustpp 00
Wags = Wy —— 1ld/d,
linp
npubin’ WE{;IE -p bl tpph wpuwnpnquywinpmGa k-

B
WInI[I{[laj[ = QmLp mllﬁ/hppa
Nipnymy GG tpptinh pwlwyp
T, - T
Dppp = =
tﬁnp
unwgywd wpdbpp YinpugGind niwh dhnpp wipnng phyp:

Npopmd GG opwlwl U ubkqnGwjihl wpwmwnpnuljuwine-
- pniGatpn.
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¢ ‘
W:ﬂu[ = W:q[prTh ulju/htinp, W&Ed = wquc wld/on,

W:IE?I = WI‘;’II[; tDu nli/ubkq:

Opnynud GG wipnng pnp whnupntubint hwdwp wlhpudbm
wyunibplwlph puwlGwyp.
t G
W2 npubny QU =0 L, wys:
l’lmq - ufiq B
wnipd st .

Yupbnp hwlquiwbp t mblulGninghwiwl wgphquup vupu-
uwplnn dupklwbGsph puGwyh 6,wnuip, npG hptGhg GpYw jugGnud
t thnfuwgpuwdhongh tpph U Gpu punpddwl duniwGuylbnh hwpuw-
pipnipymGp, wyuhGp6’

ST .

Npnynud GG Junbpubjoiph dwjuuh Gopiwl htppwihnjunud.

. w) YnnuyhG b hGpGwputh dipkGwbtph hwiwp

Ln Eu
By p_top 2L, [+ T(;l(l;_nhppwflllll% + O,ZSIIWP 1/htinp,

v 00| e”

p) phppwhwduph dtptGwbbphg pwpdydnn wnndtptGuitph
huodwp’

, 82
Gml(lfh =Gml(lfh +WL

) : GL
npuit , 2 - hwiwupmnwufuw fwpwup JunbjwGmph Jwluu
II(;Olp.iIl fﬁ&p}?nhwzqnq pinny m wow(g pteh b phppwlnuqmpb
dbiptiGuyh hbtw wpdiwb dwdwbwy, 100yd (un. 3), gy = 1,28ys,
Buys -0 Owjuup 100wnlys -h hwznd, 100wy, nhatiwhl zupdhsmy
dbphiwGtph huiwn g{}m =1,31/100wyy, piiqhlny’ g%, =21/100wmyd:
i Lijw-
0,25-p phnGwpwihiwb dundwbwy hGpGwpunh dbptiGujh qun
G Jan[I!l owfuuli t, L, -6° mujwpwujwbhg (nGumbumpyniGhg) shazu
pbnGiwG Jujpp tnud htnwynpmipymGp (qpoywljwb yuqp), Lows -0
pipwgph dwiwuly ptoGybiu wlgwd Gwlwuwwphq, U.

_10Q,
Lpﬁnﬁ — gB »
: w 1
Apnynui 6 Juebpubyniph swhuup lmllli-h‘hunimp
G";‘I‘fh iy
Wm[uth

plinﬁn linp l/ hhpp,

ngpI =
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6.4. 26/LUTIYULE UANHGUSLEND UNUMNLELUSUINLUT L
UL LvliusuNkre3nkvutee

Jupdunyp ujund GG wgpiquuih wpddwl  pogpuunpbh
wnwybpugqni)é (vwhiwGwihl) wpwgmpjuwl npnyoimy, npp wwj-
dwlwynpwd L dbptlwgh pwinng opqulGtph ponnmGulinipjudp.

npnbn q, -0 WkptGwyh pnypuwmpbih ponmGwlnipymG6 E, YgAilply
(wn. 22), g —0" hwjwpynn gynununnbuwluw Yywlwpnijuh phppw-
unynipyma t, g/hw:

‘bwh npnynd GG pwpdhsh pwpndbwmpwlwl hgnpmpmGp,
wujw unngmd uwhdiwiwd wpugmpjudp wgqpbquwp wphuw-
wwlph hfwpwynpmpymbp pun pwpdhsh owlpwpbnGuonipjub
(hqnpmpjwG).

w) pwp2whwnnpnuliwjhl woptiquuGtnh hwdwp’

1
Ru + Gmn [fum + ﬁ)}vmumnu N
+

Nph _ wling, +N<ULN@‘+N<ULUA ,
' 3,6n4Ms Nas
p) hGpGwqbwg Yndpw)Gtiph hwdwp’
= R, Vs N Nunmq, +N<umm +N<uu.m Yy,
3,6nMsNo Mem

nputin’ R; -p ggnupdbptiGuijh puppwishG nhdwnpnipymda t,

1
Rli ——-Gu(fﬁ +IO—O)L11]3

Gy -0 YndpwyGh Yohnt t YU, £, -6 b £ -p" wpwywnph b dbphGwjh
qinpiwl npdwnpmpjul qnpdwiyhgltpp (wn. 4), n, :1——1%0, 6 -G
wpuipnnph ywpdh; dwuh whnuummpnh gopowyhgn, Ny, , Negrue,
Ny -0 hgnpmpypul YnpnunbbpG b6 hwiwyuwmwujpwfwpup
wbtuGninghwlwl qnpoplpwgh (mbtuwlywpuwp), dtphGwjh dbjuw-
(ihqiGtph wwpwy pGpwgph dwiwGwly b pugnighs wqphquunltph
thnjuwlgtijhu, Ydw, n, -G dbpbbGwjh wpwbudthuhwih dkfuwGhlju-
Ywl oqq-G t, Nyy -0 hgnpmipjuwi wiswniwG huteh dhfuwbpyu-
Jw oqq-G, Ne -G" thinwjhl hnjuwlgdwi oqq-G (wn. 12):
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Gph N, <N}, wwyuw wgpiqump  Yupfuwmh Vs Yud
Gpw(hg gwaon wpwgmpjuip, huy bpt N, > NP, wyw w@hpwdtwn
b wpuwwnwGpuhl wpwgqaipjniip npnzk| pun ywndhsh hqnpupjud.
w) pwpwhwnoprulju 1hG wqptiquwnltph hwdswp’

Nurwe ~ Nup

N —
‘ v Nun
Vipmax = . L/d,
Rﬁ +Gmp[fmp +1—(ﬁ) . thqug.
3,6nMsMo 360m.uL

p) pGpGwgGug Ynipw)Gihph hwdwp
N{ut.u,m B N<ULm

N., —
- A i/d:
N nku Bw g ll )

3,6mgnsNe  360Meur
Zwguhwwhluhl yndpu)GGnh hwdwplih dwuwbwly Qﬁl}nl-\
Gmu b6 g = g (1 + &) g/hu, npukn’ g, -6 phppuwwnynipymiGa b, Sy -0
onnuh b hunnpyjh ququdGtinh hwpwpbpoipym@n, 8,,= 1 - 2:
Qe = Qup [1'0’03(Wlu - 15)] ‘lq/llpll’ ﬁh
o -G 15% hunGuningpwG ww dwiGhpnd pippuwumynipyming
ﬁpglr?r?m?ﬁﬂﬁ?uglﬁgxg qlﬂtusi'ub Jwjuhsh pnypuwmpbih pnqmﬁwllml;
pymGG t, YgAiny, Wy, -6° hwgwhwwhljwjhG quiqwaoh trwuunwg

nGwynpjmap, %: \
Ewluql%ubphwquan dywjwpnyuh onnunw 1Gmpymihg

meax - Ru‘

1
Qpp = 0,64y 1+g} Yg/uny,

npwnkn gy -G Yuiuhsh ponniGuympjmaé t wpud wwjdwG6Epmy,
Ya/dpl:

gy —40
qy =a1qe| 1+ 017 | ya/in,

‘ ‘ GG t, yaAlny
b 6 Yuuhh tuwnGuihG pnnniGuiljnipymt ,

I(lllxljlr? %4)?: a, hllbl -n qnpowlhgGlp bG, npnGp hwygh GG wn(‘mui_
quudwb Gyundwip hwgwpntjuh nGwympmGn b Ywiuhsh whup:
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Ukl pipmlyny YndpwjGhtph wptuwwmwGph dwdwGuwl wlphunm b
htiznn jujuynn hwgwpniutiph hwdwp a, = 1,0, ndqup YupulnpGph
(wlphunn b pumuninp) hwdwn® 0,7, hul tpypdpmly Yndpw)Gltph
hundwip' 0,75: Uty papnyny YndpwjGGkph hundwp b, = 0,3, tphypdpnily
YnipwjGikph hwdwyp' b, =0,27:

fipnznud &G Gul Jwphwwnph thnjuwGguwl phyp’ iy =1T"'—,

B

npbn' i, -G plupywd wluwwnwlpuphG YpnpuwlGgiwlp dnn
hnfuwGgdwl phyQ & (undnpupwp 1 jwd 2), nph giyypmd yndpwyGh
wpwgnipymbp sh wlgbni hwpgwnpywihG ponyjpuwpbihhg, i, -G
unpwiuthuhwh pnhwimp pnjuwlbgiwb phyl t (wn. 24):

Unynpwpwp iy = 1,0 - 2,5: QupduplGbph dundwGul UG-5
ynipw)fitph hwdwp peombimyd &6 ns = 0,85, Ny, = 10,54dwm,
Newp= 0, hulf Ny, -0 puwn g, wipdtiph.

el 110 [ 1.5 [ 20 [ 25 [ 30135 14,07 50
N,,o clm | 18,2 1203 | 22,4 [ 24,5 | 26,6 | 28,7 | 30,8 | 35

Ugmjh uppuwhwidwp YondpwjGatph hwdwp’

N{U.Lum: 5- 7‘1‘1111, thu = 195 - 1,75 ]:cll;ll'll:‘{ :

Luwpundhpuwhujwp yndpwjGbph hwdwp’
v 3,6q,
wuwhd = 1o . WU/d,
KuhB“Byp
nputn’ g, -6 YodpwyGh pwGnn opqublbphG phnh pnyuunpkih
dunnnignui@ t, Yaajpy (220-250 Ya/dpy), K, -G’ nupwmh dwytinbngph
Ywwnwpuw)Gmppuf gnpdwyhgp (K, = 0,5), h-p’ jumph junpnipymbGp
(0,18 - 0,221), B, -6 ymipwjGh Yunmgyuopw jhG pngplhiwb juyGm-
pylp, 4, ¥, -6° pinh funnmpjnin, v, = 1400 - 1800 Yo/¥’, P -G° Yw-

migywopw)hi pingpiiwl (wiGnpjul oqumwaqnpoiwi qnpowlhgp,
p=0,9:

Ujiathtwml apnymd 66 wpwlymnph 2wpdhsh wnugbpugmyG
hqnpnipjm GG powm uwshdwbwhG wpwgnipywG.

N(UL + Nmbuthu N, + Nf
Nmax = - + : 5 l;thn,
Naw Mol 1+-—
U100
npwntn’ N&ﬂLum: 11ydwn (WuU - 4) Juwd 9,54dw (WUl - 2),
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40,0612
= 0,95, Nuﬂiu“ 0,0 - 3 qu/qpll

uuu-4), &= 4-10%:

Uk - 2) fud

Ny

08 - 0,092
Nuﬂiuﬁos — Yy 11(;/1.11111

Unipw)ih puprw JhG nhiwnpoip Ju hunpwhwpiwi ypw
owjuuynn hgnpnip, youfin .
1

(KB.M +Gﬁ 106)Vu1uu:hli

= idm,
N? 3,6 Y

Spwljnnph qnpiwG ghdwnpup yul hwnpmhmp\im(ir Jpw
owuuynn hanpnipynilp

Nf:-

Gmpfkuulhﬂ
o

Jdwn,
3.6 u

P
N_.. -h wpdbpp hwitdwnmd GGp NE.p bt tipb N > Nipwiugu

nymi LGp ywpdiwi wpwgmp)nila puwn NP -h: v
nn -
tlymwynpiwl  dwiw

u wgnhy waphqunGhph  yndw

iwy hq}:l; t\ltlurbpmﬁ%pg; Gpw dbfuwGhqudbph pmﬁbgliwﬁhqllw owuuynn
hqnﬁmp Jni(in, wujw w 3G npnznud &G htanbjwp pwlwdlbny.

N PgB.Vu °
D e ——— m’
UL 3.6v4 Yy

3 (un, 5), P-G" dwlpwgiwl
‘w6 qniwnph unmpmGa t, jg/d° (wn. 5), i
Sl o W R
250 uwithnuy -600, 1 :
qiuwnph hubwn 98- o h guiwG GnpswG, Yg/t’, By -0
ohlp’ 700- 1000y L/d%), g -G qnuwnp gﬂ e A
G qwiinpmdp, ¥, Vy -0 upddw( wpwgnt ,
Qﬁqqp%fl%u;{ﬁﬁmwﬁhpﬁ&ﬁ Wliwgwo hwqunyGbpn juumwpynud b6
utq hwymGh pwlwdlbpny:
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6.5. -,UDPUULUL UUU

6.5.1. UGLGLU3USIUD UCUSULLLELR
SGluvnLaaptiuuy LUrsSh quaunrue

Stjulnnghwiwl pwpwp yuqiynd © wnpdwd duljuwpnijutinh
wikgiwl b pippuwhwjuwph hwiwp’ oqunybyny wy. 28-hg:

Luwnunnud Gynmd kG myju mwpdu plpugpmd juwmwpytihp
poinn wphuwnwGpltpnl hpklg Swjwltpng, wgpnublulGhlwljuG
dudjtinltpn, opwgniguwihG b whlmuwwmwlpwihlG optph pwGwlyp:
WhwnwGplitnh jwwwpdwl dwiytwmbbipp npoptjhue hwpdh &6
wn(nud Gwhnpng wwphGiph thopdp b wbfuGhljuygh  GipgpdwG
hGwnpwyopmpynGGbpp:

Lwpnnud  GYnud 6 Gwl wgpliquulbph Yuqip, npnwig
wpunwnpnnuuinipjnip, vywuwpyonn widGwiuagqih wigudGbnh
phyp, hwqwnyynud t hGswlu ywhwleynn wgnptiquinbtiph pwlwyp,
w]jlyhbu L Junbulymph hejmuwpwih b plnhwlnp dowhiup, hiy-
nwnpwihi U pGghwGmp whlswmwowhienifitpp, Gopdw-hppu-
tinfulibiph b ywpdwlwlw tnmwnGwihl htljpunwpliinh puGuyp:

Shhinnghwywl pupwh Juqidwb dwdwluy wbwp & hwyyh
wnlh] mbnuijul yuwpdwiGbpp b pGunpk] wnwglwwpg wtifuln-
nghwftn b wpwyb] wpymGuwytu dhphiwbhp: :

SkhuGninghwljw6 pupwnid wfuwmwGpupjhl optinh pwiwyp
npnpynuid b opwgnigwihG optiphg hwlhiny hwlquumpuG U wnG,
hGswbu Gub qupGul b wGwl ny pupbGwuwuwm opliph pwiwlp:

Luppunhnjfuh qnpowyhgl plwmpynd t, GGbny qninuwnliunb-
uwjwl wphuwwmwGpbhnh pGnyphg: UgpbquunGhph wpnpniGwytin
oquuuugnpdiwl hwdwp htpputhnjuh dwiwbwyh oqumugnpodwl
gnpdwyhgp wtwp kL Ytpglit hGwpuwynphb suh dkd: Ugptiquunltinh
wpnwugpnnuijuGmpjulp Jtpwpbpnn umbwllepp pugdmd b6
pun gnyuipjnili mbtgnn wpunmunpujuwi Gonpiwlbph: Gph wdjuy
wfuwwmwbGph hwdwp wyn gmgwbhn sh vwhdwGwd, wuyw w)l
npn2ymyd t hGdhahpulwt hwpdwpyiepm) hund gmpitptbwgh wha-
Gwgpnud wpdwd dwpmp bl dudjw wpwwhgpnnujulnpjmbp
htppwthnjuh  dwdwlwlyh oquuugnpidiwl gnpowygm| pwqiw-
yuwmybny:

Ugntquultph  wwhwboynn pwlwlyp npnpbime  hwdwp
wlhpwdtyn t wytvwnwbph pinhwingn owjwip pwdwib) ubqnbw-
JhG wpmwgpnnujulimpjwl ypw: Quwnmbn wbwp L hwyyh welhy
wyli, np wgptiquunlbph pwlwlp whwp b wvnwlw] hGupunphG
suh phs: pw hwdwp whwp b dkowglity hbppwthnjuh qnpowlyhgn,
tpt wgpnubjuGhjuwt pmjy T wuwhu w)lnunwiph Jumwpiwi
dwilytup, jud woluwwmwGph npngy wup wwy niphy wgptiguinh:
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G huy-
SkjufinnghwjwG pupunmu upujiwbwywb bumuntw)h
mwpﬁhp[t}u npnbim hwdwn wyhuwwnw Gph phqhluywl ounjwyp pw-
dwlynui t htppunhnjuh wpumwnpuijpul Gnpdwgh gpue Uunugduo
Gnpiw-htppunhnfultinh pwlwyp pwqiwuyunynud LG mpwllumpg
htppurthnjuwijhb tuuntw)hb gnpowlygny, wpiyniGpp inpuglng
buh dnumuyw wdpnne phyp:

ki thunh&uﬁjmpb pinhwlnyp dwfuup npngbihu ww jdwGwyul
tnwnGw)hG htlpumuplGipn whnp b puqiwwunyb vty wuw iwlw-
w6 htyumwph huwdwp Gwhnunbujwd Juntulniph pwlwym-
pjudp: Utp hwpwybnmpjmnui, hwyyh wnltjm] pGwlhiuwjw-
w6 b wy wuydwGipp, win pwfiwynipymp vwhiwGjws L 811 4g
(wn. 27): - ;
Jwebpulymph htumwpuwjhl Jwhup npn2tint hwdwp Gpw
pGnhw(ng Lpulﬁullm pudwlny b6 wzluwmubph Phahpupub
0] w:

wqwlll)!pqullIan w runwdwiiuniGspp npnpnd 66wy wzhuw-
wnwphG Jwulwlguo dhptGwuph U puwGynpGhph pwlwyp puwdw-
Guny dwidwhl wpuwnpouywinpjul Ypw, huy pGnhwGnip wtu-
wunwdwfuunidGlipp dhwynp w fuuwnmudw fuumd Gpp puqiwyjium-
gty w2 luunnwlph owjwny:
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UY. 2. SpwiywmnpGtiph nmwptiwl swipwpbnGwompjul quudhy:

UhwGiwl wpuwwnwGpltipp gnwdhyh dpu wpuwhwjjunynd
t6 hwdpGylnn nnnublymbGtpnyg, npnig Ytphl vwhdwlp gnyg k
wnwihu wjjw opwgnmguwhl dwijtiwmitnmd wihpudwm wmpwlwnnnp-
Gtph pwGwlyp: : ’

Gpp phnGlwdnpjwb qpudphyh Yypw wnwbéhl thnpp dwijtu-
Giph hwdwp unwgynd L6 pwpép mnnuGiymGGp  (whytp),
Grwlwynmd bt GoyG dwilytmmd dhtlnyl dwlGhzh wpuljpnnpm|
YJuwumwpymy 6 dh zwpp wpfuunnwpGbp U Gpw pinGjwonipniip
gmuiwpyt] E: Tju phypmd whnp b Yunwpby qpudhyh mnnmad,
wjuhGpG’ thnpp dwiltwmblp mGkgnn pwpép mgnublyymbiipp whnp
t ytpugGh), npytuqh wwnpjw ponp wihuGphl oguugnnoykt
Shufimy§ pwlwyh wpwlpnnpGp b npuitp vwpdw ppwgpmd mk-
Gw( Gnpiw dwlnwptnGjwompjmG:

Q.nudhyGtph nipnnuip Juptith © juwwnt wwpptp EnuGwly-
Gupny.
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I. Gpbk wopnubluGhlwé pnyji bt wwihu, w
» wuuw thnfumd &G qnugup-
&Elgﬁuéﬁgwmwﬁpﬁhphg dtyh Yuni dh pwhup lpumwpdlgﬁ dwg-
2. thwgﬁriui LG gmuiwpynn w) luwnwGpl
ht -
3 gwl;hgn: : pOtph htppwihnfuh gnp
- Uquuugnponwi &G pupdp wpwn -
4 gqphqwmﬁhp: AR wpumwnpnnuipulnipymt  mbhgnn
- &np ubY wyluwwnwlph Juuwpiwl dunijbwn
: n bpjun &, huly ¥jne-
3[};0@ Ywpé, www bpypnpy mnnublyman hghgqlrluﬂpt ulJlmlxl;g[{ICIilh
9: Uju phypnud wnwghG wfuunnwbph wnwidhl dwubpp
puxpdpwﬁr'mi Ll Jbp' wuywhnykinyg bpym dwybpbuGbph dhomn-
pymGltpp: WyuhGpG wnwughd wpfuunnwliph wnughG L bppnpn
dunbpp Yuwuwwpynw LG lwhuwmtiujuohg wybth dto, huy
tplpnpn dwup, npp hwdpGyGns E Lpypnpn wytuwmwGphe* wyk-
%ihhp%% l%:ll;lrlllL wqf[luhqwlnﬁﬁh{xlnq: Wyuwhuny, dhuGnyl duniybn-
w? fuwnwlp juunwpbim hwdw h
5 gdh}{ié)pz %ng 6wqphqulmﬁhp: R wwhwodma GG
- URP dunp Bqwo dhpnnlbpny hGwpwynp sk ninnnui Yu b
quubhynul, www wylnwwnwlpltnh d W
lsiwllghzh it pltph dh dwup wipgmyd b owy
pwipnnpliph SwlpuwpbnGwonpjuwé qnubh w -
gnui bl Gul yunbjpubymph L ww Juw Gwywl tmwp?[lilw‘jﬁﬁ n[ﬁllfgﬁfg-
hréh hGwbqpuy Ynpbpp, npnép gnig LG wuyhu hGywbu nwnyuw
wyyhbu £} wnwGshG wihuGhph hwidwp wwhuwgynn anh[wﬁjmpﬁ
pwﬁllixr?‘g;hglpwlfumnph Léldﬁnlilg Jwlpwpbnijwonipjmlp:
w2 Juwwnwbph qunbjulniph owhuh Jwd wyupiwGw-
llwﬁhtmaumﬁw.lhﬁ htyunwpGph Ynph pep bpypnpy wz}quwjmwﬁph
gum wiymph dwhuh Ynph uljhqp6 t, (pw YnphG qnudwpygnd t
plmnéu} upluwwnwlph  Junbpubjniph owfuuh Ynpp U wymybu
2wpnifiwy dhsh wwpdw Yhpe: Gpp wpwlmnpp sh w2 uunnnig
wjuhlpl qunbjulmip sh dwluum, Ynpp WG L mpughuﬁhpﬁ
wnwgphl qmquhtn Shisl hwonpn wyluwwnwGph ujhqpp:
Ilﬁlghﬁw[nq unuimnpltph thwunwgh pwlwyp' Juqiymd LG
umu[1ih 1.1(i wnnuyunplitph mwpbjwb owlpwpkntwompub qpu-
$hylitn: Fpw hwdwp pinhwlmp wyluwnnwGpltpp hwjwuwpwuytiu
ﬁiluifl[lg;ﬁim%ﬁhgq:ulﬁlltmnpﬁl‘:}lhdghgh: Gpwdhyh ninnuéhg unwigph
winwdw , h ) -
i bt 10, huy hnphgnGuiijuGh Ypw' dwdw
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LY. 3. Spwywnnph nwpbwh SwipwpbnGwéntpjwh gpudhly:

6.5.3. SPUUSAMLELDP SEuLhHULUTL UNTUULUNMILERD
Gd uvaenaqrUuerb SUCGUUL MLUYG - 4LUDDUD
qUNARSARUE Gd UMIBOFLLLEL R

Spwiwnpltiph whluuywuwpymifinph wbuwyp U pwbwyn

puu wihulGbph npnpdnd £ qunbjpuGuph owfuuh jud wwydwlw-
Yuwl tuwnluihG htunwplibiph (Gyuwunwwhwpdup § uebpuwln-
ph owluuh) qnuiwpwhl Ynptiph oqlnipjunip, npnlp plnpwgqpnd
bl jnipwpwilsymp mpuwyunnnh wnwGdhl wnunmwipGbph swgumy
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S-40, S-40U, S40U, S-40UyY 6,0 - 0,25 - -
S-28u 4 6,0 - 0,2 1.5 -
S-25, S-25U 3,7 - 04 1.4 -
S-16, S-16U 6,4 1,1 0,7 2,5 -
bhplwqGug YndpwyGitp 5,0 3,7 0,5 0,8 -
hq. awpdhsny Fpuljwdunnp. 6,3 0,2 1,2 21 1,0
ywppjaLpwwnnpwihG pwpdhsng wywndnphiGlip
UbYy nwGnn juidpgwiyny - 3,5 0,6 0.8 -
bplnt wwinn Yuapgwyny - 3.5 0,6 1,5 -
hqbijwjpG pwpdhsny wiwnndnphiGbip
ULy nwlnn Yuippwyny 5,0 - 0,6 0,8 -]
bplynt nwGng Judpgwyny 50 - 0,6 1,5 -]

‘Unpiuy Ugqptiquuunh Cwpdhsh
pwpzwyh Wiy wupwy
Spwljmnph ptnGYwontp- pGpugph wohmuwmwGph
dwlyGhop Jwl ntidhd nhdhd nhdhd
JuliqunGhpmud
[Oppmpunp mpwwmnpGhp
$-130 21-24,5 9,5-15 3,0
S$-4Q0 17-23,4 9,5-13 2,5
S-100UQ-.U 15-19,2 7,5-10,5 2,0
S-150 22-26,5 11,5-14 2,5
a.S-75U 14-16,5 7,5-10 1,9
1.S-75 12-15 6,5-9 1,8
$-70U0 11,5-13,5 6-8 1,2
S-54 8,5-9,6 4,5-6,5 1,2
S-54U 8,5-10,4 4,6-6,6 1,1
UGaJunp wmpwljmnplhp’

4-701 32-51 19-30 3,5
4-700 27-35 13-19 3,1
U- 1504 25-30 11,5-17 2,5
US9-82,U89-80 10,5-15 5,5-8,5 1,4
3NMTQ-6L 8,5-11,6 4,2-6,5 1,3
S-28lu4 7-10 3,8-5,5 1,1
S-40U, S-40UU 6,5-9,5 4,2-5,5 1,1
S-40, S-40U 5-7,6 3,8-5,2 1,0
S-250 3,6-4-8 2,0-3,0 0,8
S-16U 3,1-3,9 2,3-3,0 0,7
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Uryntuwy 27

Unynwwy 28
G ympyuniwbuwljuG hhiGwljul Y2wwpo jutinh Sywljmpjwt L
phppwhinjwph wybnwmwlpltiph wgmmubtiuGhyuwijput dudybnibpl
puw LwjwuwnwGh LwipwytimmpyuwG gnnhwlwtmppob

SpwhwnpGtiph uebjwhyniph dwhuup 1wuyd. twn. hw hwdwp
Jdwrtipwaynigh dwiuup,

Spwywnph dwyGhzp Ya/uy. tn. hu
4-701 10,09
S-150, S-1504 9,12
S-4u 10,04

| S-100U 9.6
nNS-75U 9,49
NS-75 9,39
S-54 4 9,22
S-704 9,32
Us-80, US2-82 8,7
3NkU2-61 8,52
S40, 840U 7,69
S-28hu 4 8,47
S-25U 8,43
S-16 U 8,24

UpfuusnwGpGlph S-nmpltpp ]
P24 whjwlnuif puw hwppunfuy-| Guwjuuntie- Ouiinpmpjmb
Uzuwljupnijutiph pw hG G phG L

UweuLuvlisue 8NPy
| 1 [lunqui) bpbuwjup 5.08+15.08 | 20+30.08 '| 1.08+10.08

2 iOpgq. wwpww. pupdnnd | 15:25.08 | 25.08+5.09 | 10+20.08

3 {Opq. wwpww. tinfutugp. | 15+25.08 | 25.08+5.09 | 10+20.08

4 [Opqwfi. wjupww. gnmd | 152508 | 25.08+5.09 | 10+20.08

5 [Kwlp.yjupwwm. pwpdmd| 15:25.08 | 25.08+5.09 ] 10+20.08 )

6 |dwlp. wwpww, Ginfuwnp. 15+25.08 |25.08+5.09 | 10+20.08

7 [{whip. wupunn. gpoul 15+25.08 |25.08+5.09 ! 10+20.08

8 |lunpp up 15+25.08 | 25.08+5.09 } 10+20.08

9 [vwhwgwbp ympnjwghw | 10+20.09 5+10.09 20+30.08

10 |%upwmp mnhwimd 1+10.09 5+10.09 20:30.08

11 [{dwgwhwunhlih guGp 10+20.10 | 10:20.09 | 20+30.08 | 120+250l9/hw
12 [{ipphghn. Wpwlnmd 1+10.09 1+10.10 1+10.09

13 |~lwn qupGw(. gupwlmgd 1+10.03 10+-20.03 1+10.04

14 |Qwlp.yjwmun. pupédmd| 10520.05 | 20+30.06 | 10+20.04

15 [Swfp. yjupunn, dinfuwgp. 10+-20.05 | 20+30.06 10+20.04
| 16 [{wfip. ujwpunn. gpmd 10+20.05 | 20+30.06 | 10+20.04

17 [“bwmp gwpwifinud 10+20.05 | 20+30.06 | 10+20.04

18 |Ptippwhunfup 15+25.07 5+15.08 20:30.08 3+70,4+40
19 |Rtipph whnuupnfun 15:25.07 | 5+15.08 | 20:30.08 | 5+20g/hwi
20 {Onownp hwtpunpmd 25.07+5.08 | 15+25.08 1+10.09

21 |Oynmp pupdnid 25.07+5.08 | 15+25.08 | "1+10.09

22 |Onowih thofuugpod 25.07<5.08 | 15+25.08 1+10.09

23 [+hq nlinuwi 25.07+5.08 | 15+25.08 1+10.09

qQu/LULUSUL S ULk

1 |fonquih tpbudun - 25+30.08 | 10+15.09
|2 |Opq. wwpuen, pupdnu ; 1:10.09 | 25.09+5.10

3 |0pq. wwpuna, dimjuwp. - 1+10.09 | 25.09+5.10

4 |Opquli. ujwpwu, gpm - 1-10.09 | 25.09+5.10

5 |{wGp.wjwpun. pupdnud - 1+10.09 | 25.09+5.10

6 |&wfp. upupwn. hinjuwnp. - 1+10.09 | 25.09+5.10
| 7 [dwlip. wpwwm. gpmd - 1+10.09 | 25.09+5.10
| 8 [hunpp Yup - 1+10.09 | 25.09+5.10
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Unymuwl 28 _h ywpmbGulympmbip

Unymuwy 28 | yupniGwlympymlp

JUuULUU Yuquue

9 {dwn quplwi. gupwbnul - 20.03+30.03} 25.03+1.04
10 fLwuwgquiGp.ynyinpywughes - 1+5.04 1+10.04 ﬁ
11 [Twpwnh wnhuwGnud - 5+10.04 10+20.04
12 {Swlip - 10+20.04 120.04+10.05|150+200 lq/lun
13 |<tpphgln. drowlmd - 20+25.04 | 10+15.05
14 {{wiip. uypupuim. pupdnud - 1+10.06 1+10.07
15 |Quip, wupuwwn, pnjuwnp. - 1+10.06 1+10.07
16 [{wfip. wwpwn, gpmd - 1+10.06 1+10.07
17 {Twpwp gupwnud - 1+10.06 1+10.07
18 |Rkppwhuyjup - 1+10.08 | 20+30.08 | 20+50 g/hw
19 |Ptpph wbtiqupfunud - 1+10.08 20+30.08
20 |Onnwp hwun|npmd - 15+25.08 | 1+10.09
21 |[Onnunp pwpdnnd - 15+25.08 1+10.09
22 |Gynuwh thnjumnpoud - 15+25.08 1+10.09
23 [Dhq nlinn - 15+25.08 1+10.09
YUILSNHhL
1 |Sndwnph pwpdmd 1+10.09 1+10.10 20+30.10
2 [ 9miwnph hnjuwnpod 1+10.09 1+10.10 20+30.10
| 3 |9miwnph gpmy 1+10.09 1+10.10 20+30.10 B
4 |{wlp.wwpww. pupdmd| 1+10.09 1+10.10 | 20-30.10
5 |¢w6p. wwpwn, dofownp, | 151009 | 151010 | 2030.10 ]
6 |[{wép. ywpww. gpod 1+10.09 1+10.10 | 20+30.10
7 |honpp Jwp 1+10.09 1+10.10 | 20+30.10 B
8 |Jwn qupbiw6. gwpwinug 20+30.02 | 20+30.03 [ 20+30.04
9 Lwhnegwbp Yoynminghw | 1+10.03 1.04 1+10.05
10 [Utipdwgm}p thojuwgpnud | 10+20.03 10.04 15+25.05
11 [Ywpwndph whlmd 10+20.03 | 10<15.04 | 15+25.05 | 2030 g/hwm
12 |<tpphghy. dywymi 15+25.03 1+10.05 1+10.06
13 {Uhgwppwjht Ynypmhjwg. 1+10.04 15+20.05 15+30.06
14 [{wlip. upmpuan. pupdni [20.04+15.05] 20.05+1.06 [20.06+10.07
15 [wflip. upupunn, thofuwnp.  [20.04+15.05] 20.05+1.06 [20.06+10.07
[ 16 |Umpnhjuighm ubmgminyg  [20.04+15.05| 20.05+1.06 |20.06+10.07
17 [Gmpumpyughw pmqiig 1+20.05 1+10.06 1+20.07
18 [Upulimd hijwbigmp. gid|  5+30.05 5+15.06 5+25.07
19 [impnpyuighws pmqihg  {10.05+10.06] 10+20.06 | 10.07+5.08
20 |Optipp hmGa 20.05+1.07 | 20.06+1.07 {20.07+10.08
21 [®pbph thofuwnpoud 20.05+1.07 | 20.06+1.07 {20.07+10.08
2 Phppwhunjwp’ junwhbwu | 1.06+10.07 |10.07+20.08 - 500,350,
mywhuu - - 1.09+15.10 150g/hw
23 |Rtpph wmbnuthnfurni 1.06+10.07 [10.07+20.08] 1.09+15.10
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1 [Opg. ywpuwn. pupéowi | 1+10.08
2 |Opq. ywpuun. thojuwungp.| 1+10.08
| 3 {Opqwé. wwpun, gpmd | 1+10.08
4 [tunpp jup 110.08
5 [dwn qupbwd. gupwbng | 14+16.04
T{vmlmugwﬁp.l{nqmmmghw 16+18.04
7 Naunh mnthw Gnud 18+20.04
8 [UwdhGkph mbynid 20+25.04
9 1Lipphghy. dywlnud 25+30.04
10 {Uhgwppwjhl ynym]njwg. 1+5.05
11 {Qubp.uywpum, pupdoni| 15+20.05
12 [$wp. upupwiwn, dinfumgp. 15+20.05
13 {Uhgzuipp.fnean. ulnignuinyg | 15+20.05
14 {Upulynnl 20+25.05
13 |Uhgzuppwih pnprjug. 25+30.05
& Upuloud 1+5.06
17 [{wlp.upupuwn. pupénd| 10+15.06
18 [<mbp. upwpwm. Ynfuunp. 10=-15.06
19 |Upgzuipp Ynupn. ubmgnuiny | 10+15.06
20 |Upuljnud 15+20.06
21 {Pkppwhwjwp 20+30.06 60g/hw
22 [ekipph wpupnjums 20+30.06
NrCULUYU yUNUuuUe
1 [Opq. wwpuu. pupénud | 10+20.09 | 10+20.10 1+10.10
2 |Opg. upupusn. ynjmugp.f 10+20.09 | 10+20.10 1+10.10
3 |Opgufi. wwpww. gpmd | 10+20.09 | 10+20.10 1+10.10
4 |lunpp Jup 10+20.09 | 10+20.10 1+10.10
5 {xlwn qupliwG. gwpwimd 1+10.04 10+20.05 | 20+30.05
6 {Vwuuguwtp.ymypnmnjmghu 1+10.05 20+30.05 1+10.06
7 Dawpmp mnmpuGnnd 10+20.05 1+10.06 10+20.06
8 |UwohyGtiph wiynui 1+15.06 20+30.06 1+10.07
9 |&tpphghy. dywlnud 15+20.06 1+5.06 10+15.07
10 |Uhgowppujht Ynyunhijwg. 20+30.06 5+15.06 15+25.07
11 |[Qwlp.upupunn. pupdmd| 1:10.07 | 15:25.06 | 25.07+5.08
12 |<wiip. uyupuns. thojuwnp. 1+10.07 15+25.06 | 25.07+5.08
13 Uhgzwpp.4nyw. ubmgnuiny | 1+10.07 15+25.06 |25.07+5.08
14 {Upulimd 10+15.07 | 25+30.06 5+10.08
15 [UhgywppujhG Ynipnhtjwg. 15+25.07 1+10.07 10+20.08
16 |[{wp.upupwin. pupdmd| 25.07+5.08 | 10+20.07 | 20+30.08
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? dwlp. ywpunn. thnjuwgp. | 25.07+5.08 | 10+20.07 | 20+30.08
18 {Uhgpwipp. Y. uGmgnuim] | 25.07+5.08 | 10+20.07 | 20+30.08
19 [Uputnus 5+10.08 | 20+-25.08 |30.08+5.09 ]
20 |Rppubunjuup 30.10+10.1130.09+10.10] 20:30.09 [ 8C+100g/hw |
21 |Pbppp wbguupnfumd  [30.1010.11]30.09+10.10] 20:30.09
q.I.NMv UNks

1 {0Opq. upupunn. pwpdmd | 1:15.10 1+15.10

2 {Opg. yupw. thofuwnp.| 1+15.10 1+15.10

3 {funpp Ywp 1+15.10 1+15.10

4 dwn qupbwi. gupwlmd 20+30.02 | 25.02+5.03

5 [Lwluwgulp. nipnpughu 1+15.03 5+20.03
| 6 [Fwipnp nmpwGnd 15:25.03 | 10+20.04

7 |Buwfip 25.03+10.04] 20+25.04

8 |dtpphghn. dpwilnud 1+15.05 15+25.05

9 |Upulymud 1+15.05 10-20.05

10 | Blippuhunjwip 25.08+15.09( 10+20.09

11 |Rtpph wlinunhajunui 25.08+15.09| 10+20.09

nnubhane

1 {Opq. ywpwwn. pupdmd | 20+30.09 1+10.10

2 |Opnq. wwpun. infuwgg. | 20+30.09 1+10.10

3 |Opquli. upwpwmn. gpmd | 20+30.09 1+10.10

4 lunpp jup 20+30.09 1+10.10

5 jhwn qwplwd. gupwtn | 20.03+1.04 | 1+10.04

6 |Lwumgwip.ympmpdughw | 1+10.04 10+20.04

7 |{“Fwpwp wunhwlmd 10+15.04 | 20+25.04
| 8 [Uwomttph wilma 1520.04 |25.04+10.05

9 |UhepwppwjhG Ynipmpyug. 20+30.04 10+20.05

10 |Pmqihg 1+10.05 20+30.05

11 {Upuljmud 10+20.05 1+10.06

12 Rwlp.ujwpun, pupdoi| 20+30.05 | 10+20.06

13 [{wp. njwpunn. infuwgp. 20+30.05 | 10+20.06

14 {Unipnmjwghw wlingnuSm| 20+30.05 10+20.06

15 [Upulmd 1+20.06 20+30.06

16 {wiip.wwpum. pupdmd| 10+20.06 1+10.07

17 |{whp. upupwn. thinfuwnp. 10+20.06 1+10.07

18 |unmunpjughw uimgniim| 10+20.06 1+10.07

19 |Onpnummud 20+30.06 | 10+20.07

20 |Rippwhwyup 1 15.07+1.08 | 1+10.08

2 10+25.08 | 20.08+1.09 700g/hwt
3 5+20.09 10+25.09 ]
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£pph mtnuihnjumd
21 {(4tipglity phppwhuijuiph
duniyimbbpp)
JLurnrua
1 iOpq. wjwpwu, pupdmd | 1+10.08 1+10.08
2 {Opg. wwpww. Yinjfuw 1+10.08 1+-10.08
3 {Opqul. ywmuw. gpmd | 1+10.08 1+10.08
4 (lunpp dup 1+10.08 1+10.08
S |Jdwn qupGwi. guwpwlnid 1+10.04 25+30.04
6 |Lvwhiwguip Yyoywhyughw [ 10+15.04 1+10.05
7 |%wmh wmnthwlinud 15+20.04 | 10+15.05
8 Mwnpmfigh guip 25.04+5.05 | 15+20.05
9 [{tipphghnlbpmy) dywlmd| 5+10.05 20+25.05 |
10 [Uhigpwppw)hG gnywnjmg. 10+15.05 | 25+30.05
11 [{wGp.wjwpun. pupdnnd | 20+25.05 5+10.06
12 |{m6p. wpwupunn, thnjuwnp. 20+25.05 5+10.06
13 {Uhgywpp.Ynywn. ulingmsny | 20+25.05 5+10.06
14 {Upulnud 25+30.05 | 10+15.06
15 |Pmqlhg 1+5.06 15+20.06
16 |Upulimd 5+10.05 20+25.06
17 |Pmgihg 10.05+15.06| 25+30.06
18 |Rppwhwyjwp 1| 25+30.06 1+10.07 250 g/hw
2| 10+25.07 | 20+30.07
19 |Rbpph mbnuahnfund 1 | 20+30.06 1+10.07
2] 10+25.07 | 20+30.07
i ULLNMY
1 |Opg. yyupww. pupémd | 20+30.10 | 15+25.10
2 |Opq. wyupwn, thajuwgp.| 20+30.10 | 15+25.10
3 |Opquifi. wwpunn. gpmd | 20+30.10 | 15+25.10
4 [lunpp up 20+30.10 | 15+25.10
S |Jdwn qupiwG. gwpwinu 15+25.03 1+10.04
6 [Lwhawguip hnympjughw | 5+15.04 1+-10.05
7 |%wynpwnhwt., gupwd. | 15+25.04 | 10+20.05
8 |Bwip 25.04+10.05; 20+30.05
9 [{bpppghnGhpoy dpwhnnd) 1+10.05 | 25.05+5.06
10 (Swhph gwpwGny 15+20.05 | 5+10.06
11 |Qptwl weniGbph wunnp. 20+25.05 10+15.06
12 |UhgywppwijhG hmypnhjug. | 25.05+5,07 | 15+25.06
13 |Upulymy 5+10.06 25+30.06
14 {Qwlpywpun, pupdmd| 10+:20.06 | 1+10.07
15 {{wlp. wupwwn. thajuwngp. 10+20.06 1+10.07
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16 |Uhgywpp Ynyn. uGmgnuim] | 10+20.06 1+10.07
17 |[Upulynid 20+25.06 | 10+15.07
18 |Uhpwppwijh6 ympnpwg. | 25.06+5.07 | 15+25.07
19 Kwilip. wywpuwin. pwpénud| 152507 | 5:15.08
20 j<wifip. wpupwpun, thaprunp. | 15+25.07 5+15.08
21 |Uhgawpp.4mypm. uimgminy | 15+25.07 5+15.08
22 |Upulymd 25+30.07 |25.08+15.10
23 |Rhppwhunjup 10.08+20.10{25.08+15.10 400g/hw
24 |REpph wbqugimjunud 10.08+20.10|25.08+15.10
aLna-J4urudy
UbLAUL QUUUL .

1 {lunqubh bptiujwp 1+15.09 | 15+30.09
2 |Opq. yuptm. pwpdod | 1+15.09 1+15.10
3 10Opq. yywpww. hnjuwgp.| 1+15.09 1+15.10
4 [Opquil. wwpww. gposd | 1+15.09 1+15.10

5 {Fonpp wp 1+15.09 1+15.10
6 |xhwn quwpGui. gupwlnus 10+20.03 | 20+30.03
7 [Lbujmngwbp.ynynhdwghw | 20.03+1.04 | 5+15.04
8 |Dwyumh wmhwfinud 1+10.04 15+25.04
9 18wip 10+20.04 |25.04+10.05
10 [Ruwfip.wywpwn. pupémd| 1+10.06 10+20.06
11 [{wlp. wwpunn. thnjuwgp. 1+10.06 10+20.06
12 [wilip.yjupwtn. gpmd 1+10.06 10+20.06
13 [Dwoumh gupwlnnd 1+10.06 10+20.06
14 |Upnup pippwhwywp 15+25.08 1+10.09 300+400g/hw
15 |ftpph whpuhnfund 15+25.08 1+10.09
16 |Uhmnup vinthwfimd 15+25.08 1+10.09
17 [Upjnuht haph swoymd 20+30.08 5+15.09
UhLAUDb AhMSUSANGY

1 |lonquih tiptiujwp . 1+10.08 1+10.09

2 |Opg. wyjwpwpw. pupdmd;  1+10.08 1+10.09

3 |Opg.wwpwpw.thojuugp.| 1:10.08 1+10.09
4 {Opqu. upupupw. gpowd|  1+10.08 1+10.09

S [{wip.upupwpn. pwpdnnd 1+10.08 1+10.09
6 |{wip. wwpwpn. infuwmp. 1-10.08 1+10.09

7 [fwfip. ywpwpwn. gpmy 1+10.08 1+10.09

8 [lunpp Jup 1:10.08 [ 1+10.09
9 |Jdwn qupGwG. guwpwlinu 15+25.03 | 25.03+5.04
10 [bwhwgwp. ynipnhdwghw | 25.03+5.04 | 20+30.04
11 {Utpd. b uyywpwpn. pwpd. 15+25.04 1+10.05
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12 [Utpt. L ywpww, hnfuwgp. | 15+25.04 1+10.05
13 [Gghwuwgnpkip gulp 15+25.04 1+10.05
14 |{bpphghnny ¥ wljmd 25+30.04 | 15+30.05
15 [{wip.ywpwpn. pupdnd 1+5.05 1+5.06
16 |Qwlp. wwpwipu. thnjuwny, 1+5.05 1+5.06
17 {Upgpwpp.ymjun. uGmgnuiny 1+5.05 1+5.06
18 {Uhgpwpp.inyun. unigninyg | 10+15.05 10+15.06
19 {Uhgywpp. hny. ulngminy | 20+25.05 | 20+25.06
20 |Uho winp.Ynipin. ubmgnuim| 1+5.07 1+5.07
21 |uwmbiwg quibqy. pippwhwy. | 10+20.07 1+10.08 250+600 g/hw
22 Gwlwy quiiqy. wmbnunhnfu. | 10+20.07 1+10.08
23 [bwiws quiqy. uimhwing | 10+20,07 1+-10.08
24 {fopwiiwwnh dwdlnud honny | 15+25.07 5+15.08
CULULh UG LAGA,
1 |Opq. yjwpupa. pupdnid - 1+15.09 15+30.10
2 |Opq. wjwpwpw. pnjuwnp. 1+15.09 15+30.10
3 |Opquifi. wywpwpu. gpmu - 1+15.09 15+30.10
4 {<Qwlp.ywpwmn. pwpdnd - 1+15.09 15+30.10
5 Kwlp. ywpwpw. thnjuwnn. - 1+15.09 15+30.10
6 |<wp.wywpwpw. gpowi - 1+15.09 15+30.10
7 |lunpp qup - 1+15.09 15+30.10
8 |dwn qupGwi. gupwlms - 10+20.03 10+20.03
9 |vwluwgulp.ynpwiwghu - 20.03+1.04 | 20.03+1.04
10 [Pwpumh wmpwfind - 1+10.04 1+10.04
11 |Bwbp - 10+20.04 | 10+20.04
12 |[{bpphghyny dywlnnd - 20+25.04 | 20+25.04
13 (Lnupwgmd 1 - 25+30.04 | 25:30.04
14 [Loupwgnd 2 - 30.04+5.05 | 30.04+5.05
15 |Uhgwppwjh6 gnuympjwg. - 5+15.05 5+15.05
16 |{wfip.wpwpwpu. pupdnd - 1+10.06 1+10.06
17 [{wip. ypwpwpw. thatuwnp. - 1+10.06 1+10.06
18 |Uhgwpp Ynyw. ubmgnuinyg - 1+10.06 1+10.06
19 |[Upuljmd - 10+15.06 | 10+15.06
20 [UheywppwhG niymhyjug. - 25.06+5.07 { 1+10.07
21 |Pmyghg - 15+25.07 | 20+30.07
22 [Opkph hwjwpnud - 10+20.09 | 20+30.09
23 |Dpbiph thnjuwnpnui - 10+20.09 | 20+30.09
24 [ MunuipGhph pppwhwywp - 20+30.09 1+15.10
25 |Mwywpbtiph thnfowgpoud - 20+30.09 1+15.10
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OhilbNs
1 |Opg. wwpwpw. pupdmu 10+20.09 5+15.10
2 |Onq. wwpwpn, tinjuwing. 10+20.09 5+15.10
3 |Opquif. wwpwpwm. gpmu 10+20.09 5+15.10
4 [{wGp.wurpupn. pupsnnd 10+20.09 5+15.10
5 |Rwbp. wwpwpn, thajuwgp. 10+20.09 5+15.10
6 |{wlip.yywpwupwm. gpmy 10+20.09 5+15.10
| 7 |lunpp Jup 10-20.09 5+15.10
8 |dwn quplwG. gwpwlnud 20+30.03 10+20.04
9 [Lwiwgulp.ynympyuighwu 1+10.04 | 20.04+1.05
10 [“Fwywmp wnthwGnud 10+15.04 | 15+20.04
11 [Uwapylibph \hnfuwgpoud 15+20.04 1+5.05
12 {Uwmdhylibph wmbinud 15+20.04 | 10+20.05
13 | {bpphghnmy Wywlmi 20:25.04 | 10+20.05
14 |Uhgpwppwijh hmywmjijug. 25.04+5.05 | 25.05+5.06
15 |Qwiip.yjwpwpwn, pupdms 5+15.05 5+15.06
16 [{wfip. wwpwpw. tinfuungp. 5+15.05 5+15.06
17 |Uhgwipp.Ynyn, ubnignoiny 5+15.05 5+15.06
18 |Upuljmud 15+25.05 | 15+20.06
19 |Uhgwppwjh6 Ympnhiwg. 25.05+5.06 | 20+30.06
20 |Uhgpwppwishl Ynyunjijug.. 5+15.06 1+10.07
21 |Pippwhwijup 1 15+25.06 | 10+20.07
Phppwhunjuip 2 1+10.07 |25.07+5.08
Llippwhwdup 3 15+25.07 | 10+15.08 20+30 g/hw
Phppwhunjwp 4 1+10.08 | 25.08+5.09
Bhppwhwihup 5 15+25.08 | 10+20.09
Rhppwhunjup 6 1+10.08 |25.09:5.10
Ptpph winuihinfunui
22 |(pppwhunjwuph
duiljwGlipp)
23 | BoqmbGLph Yupmd 10+20.09 5+15.10
HNeLYUL
1 |Opgq. wwpwpwm. pupdnud 1+10.08 1+10.09
2 |Ong. wywpwpn. thnjulenp. 1+10.08 1+10.09
3 |Opqui. wwpwpw. gpoid 1+10.08 1+10.09
4 lunpp Jup 1+10.08 1+10.09
5 [dwn quplwd. guwpwlnug 10+20.03 | 20+30.03
6 vuwluwgwbp ympnhyughw 25+30.03 1+10.04
7_|SohuGnni gupwlinuing 30.03+5.04 | 10+15.04
8 |Unplquih guip 5+10.04 15+25.04
9 Kwlip.wwpwpm. pwpdnod 1+10.06 10+20.06

164

| 10 |&w6p. wwpwpwm. thnjuwnp. - 1+10.06 10+20.06
11 [Qubp.yjwpupn. gpod - 1+10.06 10+20.06
12 |%wymhp gwpwimd - 1+10.06 10+20.06
| 13 |[<mGd tumnh hudwp - 25.06+10.07] 10+25.07 30+40 g/hw
14 [lunw rngjum - 10+20.07 [25.07+5.08
15 [<wipuynpmd ~ 20+30.07 5+15.08
16 |[{wiltiph pupdmd - 20+30.07 5+15.08
17 |[{ulgtiph thnfuwungpoud - 20+30.07 5+15.08
18 |Hhqunjnpmd - 20+30.07 5+15.08
UndnNer3Ss
1 [funqubh Gptiujwn 10.10 20.09 1.09
2 10ng. wumupw. pupénd] — 20.10 1.10 15.09 15 w/hwm
3 |Opq. wywpwpw. thnpawnn. 20.10 1.10 15.09
4 |Opquifi. wwpwpn. gpawd 20.10 1.10 15.09
5 [lunpp Jwp 20.10 1.10 15.09
6 |<wn quplwi. gupwnid 20.02 20.03 20.04
7 [Lwjawugwlp. tpyuhgughw 1.03 1.04 1.05
8 |tw)w wnhwlinwd 15.04 15.04 5.05
9 Unimjinh gumlip 20.04 1.05 10.05
10 [{wip.yjwpwpwn. pupdnd 25.04 10.05 20.05 0.5 w/hw
11 {wp. wwpupwm, thnfuwnp. 25.04 10.05 20.05
12 [{wfip. ywpwpw. gpoui 25.04 10.05 20.05
13 [“twoywmh gupmlimd 25.04 17.05 20.05
14 |Upujmd hpjwlg. glad 1 1.05 20.05 1.06
Upulymd hjwlin. ghd 2 1.07 1.07 1.07
Upulnud hpwdn. gl 3 1.08 - - 60+180 g/hw
15 |Rhippwhwywp hmGé 1| 18.05 4.06 20.06
2 20.06 20.07 30.08
3 22.07 15.09 -
4 25.08 - -
5 29.09 - -
| 16 |®ngum, juuunjapmy 1 23.05 10.06 26.06
2 25.06 25.07 6.08
3 27.07 20.09 -
4 30.08 - -
5 5.10 - -
17 |Qwlunnpnud L hnjuwngp 1 28.05 15.06 1.07
2 30.06 30.07 12,08
I 3] 3.08 25.09 -
4 5.09 - -
5 10.10 - -
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18 |Fhquijnpmid 1 28.05 15.06 1.07
2 30.06 30.07 12.08
3 3.08 25.09 -
4 5.09 - -
5 10.10 - -
| SASTIRIN
1 [U)qlipwg 15.03+25.04| 25.03<5.04 -
2 |Uyqm tn 25.03+5.04 | 5+15.04 -
3 |Ewnwd dwnbph binmg. | 25.03+5.04 | 5+15.04 -
4 |[UhywppujpG Jup 5+15.04 15+25.04 -
5 {Uhgowpp. ymunpjuighw | 15+25.04 [ 25.04+5.05 -
6 |Upuljnud dhypynih gbd 25+30.04 5+10.05 -
7 [{wlp.uywpwpm, pupdmd 1+10.05 10+15.05 -
8 [<wlp. wuipwn. hnjuwnp. 1+10.05 10+15.05 -
9 |Uhgzwpp.4nyun. ulimgnuiny | 1+10.05 10+15.05 -
10 [Onnunnud Ohyynudp gid | 10+15.05 | 15+20.05 -
11 [Upulyms npynyquiytph gd | 15+20.05 | 20+25.05 -
12 {Upulynud dhyynth gbd 25+30.05 | 25+30.05 -
13 {®npnunmd Ofuynuih pld | 5+10.06 1+5.06 -
14 |Upulynul nnynyquibph gbs | 15+20.06 5+10.06 -
15 |Upulnut dpyynih ghad 25+30.06 | 10:15.06 -
16 |©nynununnt Opynuih glad | 5+10.07 15+20.06 -
17 |Upuymd agyinyquitph gbd | 15+20.07 | 20+25.06 -
18 |Upulnui dfnih ghd 5+10.08 5+15.07 -
19 {®nynunmd Ohnynuih ghd | 5+10.08 5+15.07 -
20 |Upulymd mpynyquihbipl e | 15+20.08 5+10.08 -
21 [Upulnud dhpyaih glad 20+25.08 | 10+15.08 -
22 |Cwpphphg plipph hwlmd 1.09+5.10 | 25.08+1.10 - 50+60 g/hw
23 |Rtpph thojuwnpmd 1.09+5.10 |25.08+1.10 -
24 {Ujqbpwun 5<15.10 1+10.10 -
uvane, suv
1 {Ownbph tm 10+20.03 | 20+30.03 5+15.04
2 |Ewmwd §ymnbph htnwg. | 10+20.03 | 20+30.03 5+15.04
3 [Upulnud 20+25.03 |30.03+5.04 | 15+20.04
4 |[Uhe wppuiyht Jup 1:10.04 | 5:15.04 | 20-30.04 ]
5 |{wlp.yjwpupn. pupdnos 5+15.05 1+10.05 10+20.05
6 |dwlp. yywpwpn, thafjuwnp. | 5+15.05 1+10.05 10+20.05
7 Rwlp.upupwpun. gpo 5+15.05 1+10.05 10+20.05
8 |Uhgwpp.Ynyn., ingfumas 5+15.05 1+10.05 10+20.05
9 [Upuymd 15+20.05 | 15+20.05 | 20+25.05
10 |Upgwpp. Ympunpdwghw| 1+10.06 1+10.06 1+10.06
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11 |@pynnnui 10+15.06 | 15+20.06 | 15+20.06
12 [Uhppupp. jmypmpdwgpw| 15+25.06 | 20+30.06 | 20+30.06
13 [Upuljnud 25+30.06 1+5.07 1+5.07
14 |Qwp.ywpwpn. pupdmsd 5+15.07 5+15.07 15+25.07
15 |{wlp. wywpwp, thnjuwngp. 5+15.07 5+15.07 15+25.07
16 |[{wbp. wwpwpm. gpmd 5+15.07 5+15.07 15+25.07
17 |Uhgpwpp. Ynywm. guwpwlmd. | 5+15.07 5+15.07 15+25.07
18 [Upuljmd 10+15.07 | 15+20.07 1+5.08
19 |Rtippwhwywp 25.07+5.10 { 1.08+30.09 | 1.09+:20.09 | 7080 g/hwx
20 |Rkpph thnfugpnud 25.07+5.10 | 1.08+30.09 | 1.09+20.09
21 [Upulmu 5+10.10 1+5.10 20+25.09
22 |Uhgowppwjhl dwp 10+20.10 5+15.10 | 25.09+5.10

Ohuv
1 |Guntph tin 15+25.03 |25.03+5.04 -
2 |Ewwo Gymnbipp blinwg. | 15+25.03 | 25.03+5.04
3 (Upuymd 25+30.03 5+10.04 -
4 {Uhgwppwjhf Jwn 1+10.04 10+20.04 -
5 | dwlp.upupwpm. pupdnad 1+5.05 1+5.05 -
6 |[<wlp. ywpwpun. ginfowngn. 1+5.05 1+5.05 -
7 [Lwilip.ypupwpu. gpmd 1+5.05 1:5.05 -
8 |Uhpowpp. yopnpjughw| 1+5.05 1+5.05 -
9 |Upujmu 5+10.05 5+10.05 -
10 |{Uhowpp. ympuuhjwghw| 10+15.05 | 10+15.05 -
11 |®nymnnid 15+20.05 | 15+20.05 -
12 [Uhezwnp. Ynyupjwgu| 20+25.05 | 20+25.05 -
13 {Upuljmd 25.05+1.06 [ 25.05+1.06 -
14 {{wlp.wpupwpwm. pwpédnd 1+5.06 1+5.06 -
15 [{wlp. wpwpwmn. thnjuwigp. 1+5.06 1+5.06 - _
16 |dwlp.wwpwpn, gpow 1+5.06 1+5.06 -
17 |Uhgowpp. joyqupjuighw| 1+5.06 1+5.06 -
18 |Upuljmd 5+10.06 10+15.06 -
19 {Rippwhuwjwup 20.06+20.07| 1+20.07 -
20 |Rtpph thojuwmnpnid 20.06+20.07] 1+20.07 -
21 |Upuljmd 20+25.07 | 20+25.07 -
22 {UhgwppwjhG Jwp 1+10.08 1+10.08 -
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. Unwuwpuwo U.2., Pujwjwb NU. - UepnnwlwG gnigntd-

0tp USTMC wnwpljwih qény: tpluwG,1986:

Gphgnpywt C.U. L nph2bEp - Ynuquunbnbunipywh
dGhluwbhquuinph wbntywaghpp: Gplwb(,1986.

Mwuywd U, Unwuwmuwb WS, Qwqumub qQ.n,,
Uwpqupuwt UU, Unwowlwh 4.9, - UbLpnnuwlwd
gnignuittip «9yninunbntunie)wl wpnwnpnipjwl dbpb-
Gwjwgnud» wnwplwih gény unnignnuiu b wfuwnwbp
Yuwwnbint yepwpbpywy: Gplw6,1996:

. Awqunuwb 9. 1., Unuwuwpuw6 U. 9, Ywpuwbnywi .U,

Muuywa U. fu., Uupquppuié U U, UnwowGwb G. G,
Utpnnwlwl gnignudbp USTMEC wnwpyuwih goénd nhwy-
tndwjhG Gwhuwqobph Juwwwpdwh hwiwp: 5plaw(,1996:
by6ros B.3., KyseMuH M.B. - DKcuayaTanusa MalidH-
HO-TpaKTOpHOro mapxa. M., Koaoc, 1980. ‘
5.Hopmuos C.A., Apmko TI.IL OxcuayaTanus
MalIMHHO-TpaKTopHOro mapka. M., Koaoc, 1984,

. Kocenos B.K. - C6opaux 3apad 10 MeXaHM3amuu obpa-

6oTku mouBm. M., 1976.

Muasmmkop AM. - TlpakTukyM 1o 3KCODAyaTanuu
MalIMHHO-TPaKTOpHOro napka. M., Koaoc, 1978.
CeAbCKOXO3aMICTBEHHAs TeXHnKa, Kataaor, M., 1982,

10.0epe H.3, byonos.B.3, ErenreB A.B,, ITuasimukos A.M.
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